XGZ 4] =2 ' r

XG SeriesiMechanical €ontrolValve i




Lid = m ; )
(Of U] g H_Fim 2
XINGUANG PNEUMATIC »

) MR~ Overall Dimension
XG3101-06B )] re [ XG3200-06B__ )J \ o




I KOPG =3 3H

XGRIBER mum

XG Series Spacer Sleeve Solenoid Valves

() iTHE8 Ordering Code

XG4 101 - 08 - B - AC220V - L
MBI BEEOR BRRER FRAERE
XG4Z5| Port Size B:Spacer Sleeve Standard Voltage
Specification 06:1/8" DC12v
Code 08:1/4" DC24V
XG4 Series LB RAH AC24V
101: B KW & AC110V
200: kWAL E AC220v N

303C: 3 AR E

303E: ittt =0 P R 8 3—:‘El:$n=/§iﬁa%it
: i G514 L% E
303P: i [ 7 A L R .
Coil and Places W'FE‘ an"\: %[
101: Single Coil (5/2) B|I”I:<93torlz; ’
200: Double Coil (5/2) Can . tan ar
303C: Center Closed Type Solenoid Valve (5/3) G?:“ez 3:/.
303E: Center Exhaust Type Solenoid Valve (5/3) - Lead Vvire
Type Coil

303P: Center Pressure Type Solenoid Valve (5/3) L: With Lighting

Connector Coil

() #;MH& Specification

# 2= Model XG4101- | XG4200- | XG4303C- | XGA4303E- | XG4303P- | XG4101- | XG4200- | XG4303C- | XG4303E- | XG4303P-
== 06B 06B 06B 06B 06B 08B 08B 08B 08B 08B
(IiBE bt 2 B =R ZfHE =LA

Position and Way NO. Two-position Five-way Three-position Five-way Two-position Five-way Three-position Five-way
HHAER 14mm?(CV=0.78) 12mm?(CV=0.67) 16mm?(CV=0.89) 12mm?(CV=0.67)

Effective Sectional Area
BEEOE HS=HS=HS=G1/8" BHS=tH5=G1/4" HS=G1/8" Air Inlet=Air Outlet=G1/4"
Port Size Air Inlet=Air Outlet=Exhaust=G1/8" Exhaust=G1/8"

I\ N . . .
VJV—TJEn}gl[\Edium 240K THERIZ S 40 Micron Filtered Air

HIEAR RERESR  Inner Guide Type

Motion Pattern

1EME 7 0.15~0.9MPa

Working-pressure

BARMEN

Myz;x. Pressure Resistance 1.2MPa
Tiemm -
Operatlij::lg?emperature 5~50°C
BESEE +10%

Voltage Range

FHE AC: 45VA  DC:3W

Power Consumption

PR B ER FZ. IP65 / F Class. IP65

Insulation & Protection Class

LA GHiL / Gorl

Wiring Form

A HERE F#YFAR 5 Cycle / Sec

Highest Action Frequency

B2 75 [ 4 B 8] 0.05%) Second

Shortest Excitation Time




‘J xgl c XINGUANG PNEUMA'I'IC

) 9MEZR=T Overall Dimension

XG4101-06B )]

XG4101-08B )Y JNA

XG4200-08B )]

RPS

3-G1/4

BURR SARSR

2—03.3Hole
mm |
o 9
— _“__F————A—“ﬂm
4 %5
LZO—‘I 2-94.3Hole
| 182.4

-%—5%—hk$w—%—— i

XG4303-088 ) e 2
3-G1/4

ST

2-93.3Hole




I KIPC

XGRIRER mum

== S 1l

XINGUANG PNEUMATIC

XG Series Spacer Sleeve Solenoid Valves

() iTHE Ordering Code

XG5 101 - 10 - B - AC220v - L

MBI BEEORE BRER HRERE

XG5%7%! Port Size B:Spacer Sleeve  Standard Voltage

Specification Code 08: 1/4" DC12v

XG5 Series X . 10: 3/8" DC24V
KB RAIE AC24V
101: ML B AC110V
200: WKL E AC220V o
303C: 37 BB 417
303E: At =t L B 1 EEARER TR
303P: i E 3k L ) GiSI%ALKE
Coil and Places L kT4
101: Single Coil (5/2) Wiring Form
200: Double Coil (5/2) Blank: Standard
303C: Center Closed Type Solenoid Valve (5/3) Connector
303E: Center Exhaust Type Solenoid Valve (5/3) G: Lead Wire
303P: Center Pressure Type Solenoid Valve (5/3) Type Coil

L: With Lighting
Connector Coil

() #ME Specification

BEESY

Position and Way NO.
BYHER
Effective Sectional Area
BREOR

Port Size

TIENR

Working Medium

HMERR

Motion Pattern

fEREN

Working-pressure
RAMEN

Max. Pressure Resistance
TiERE

Operating Temperature
REER

Voltage Range

FERE

Power Consumption
@R BIPER
Insulation & Protection Class
Fi:3531750

Wiring Form

= AMERE

Highest Action Frequency

T A2 B 4 e [

Shortest Excitation Time

XG5303C-
10B

XG5303C-

XG5995P- | xe5101-108 | X@5200-108
e
Two-position Five-way

XG5303E- | XG5303P-
08B 10B 10B
=IRE
Three-position Five-way
30mm?*(CV=1.68) 18mm?(CV=1.00)

#HS=H5=G3/8" HS=G1/4" Air Inlet=Air Outlet=G3/8"
Exhaust=G1/4"

XG5303E-
08B

ZAEE

ht v B
Two-position Five-way Three-position Five-way

25mm?(CV=1.40) 18mm*(CV=1.00)

BS=HS=HS=G1/4"
Air Inlet=Air Outlet=Exhaust=G1/4"

ZA0MKTIERI =S 40 Micron Filtered Air
REBESR
0.15~0.9MPa

Inner Guide Type

1.2MPa
5~50TC
+10%
AC:45VA DC:3W
FZ%. IP65 / F Class. IP65
GEL / GorlL
H#FHR 5Cycle/Sec

0.05%F Second




© PC =551l |
‘J xg c s j:?-‘ g
XINGUANG PNEUMATIC =

() 9pMZR~F Overall Dimension
XG5101-08B ) NENN ECHNECED) ..
AN A=

XG5303-08B__ VNN wop o

XG5303-10B__ VNN wop 208
=] 77 e /7L "

EENPSA= TR ANAVAPd=

RPS RPS

/—5461 /4
L I i
é\_ =
2—-94.3Hole
i 2 o] a
g 3
- -
2-94.3Hole 2-94.3Hole
243 | 243

11 2-G1/4
TEREnCI T GoRms i
9, 45 I




== S 1l

XINGUANG PNEUMATIC

I KIPC

XGRIRER mum

XG Series Spacer Sleeve Solenoid Valves

() iTMIE8 Ordering Code

XG6 101 - 15 - B - AC220vV - L
MBI EEORZ BRER HRERE
XG6#75! Port Size B:Spacer Sleeve Standard Voltage
Specification Code 15:1/2" DC12Vv
XG6 Series DC24V
AC24V
AC110V
BRI AC220V
101: B8 KL E
200: XKML E

() #4& Specification

303C: it A H i

303E: Attt Fa fik 8

303P:H &3 LR 7

Coil and Places

101: Single Coil (5/2)

200: Double Coil (5/2)

303C: Center Closed Type Solenoid Valve (5/3)
303E: Center Exhaust Type Solenoid Valve (5/3)
303P: Center Pressure Type Solenoid Valve (5/3)

3531750

= AR TR
G5l EkE
LR AT
Wiring Form
Blank: standard
Connector

G: Lead Wire
Type Coil

L: With Lighting
Connector Coil

XG6101-15B XG6200-15B XG6303C-15B XG6303E-15B XG6303P-15B

A
Two-position Five-way

50mm?(CV=2.79)

L@

Position and Way NO.
BHEER
Effective Sectional Area
REOR

Port Size

TIENR

Working Medium

HMERR

Motion Pattern

fEREN

Working-pressure
RAMEN

Max. Pressure Resistance
TERE

Operating Temperature
REER

Voltage Range

FRE

Power Consumption
@R BIPER
Insulation & Protection Class
F£:353170

Wiring Form

= AEE

Highest Action Frequency

T A2 B 4 e [

Shortest Excitation Time

ZNAEB

Three-position Five-way
30mm*(CV=1.68)

HS=HS=HS=G1/2" Air Inlet=Air Outlet=Exhaust=G1/2"

ZA0MKTIEMZ=S 40 Micron Filtered Air

AEBEFH
0.15~0.9MPa

Inner Guide Type

1.2MPa

5~50C

+10%
AC:45VA DC:3W

FZ%. IP65 / F Class. IP65

GeL / Gorl
BUWER
0.05%) Second

5 Cycle / Sec




LI KOPC =12k

() 9pMZR~F Overall Dimension
[ XG6101-15B )]

wpﬁm

XG6200-158 )]

XG6303-15B )]
30C 2 30E

0P
= 177 =NV 177 =) [k




I KIPC

== S 1l

XINGUANG PNEUMATIC

XGZRIIREN mui

XG Series Spacer Sleeve Solenoid Valves

() 1T858 Ordering Code

XG1 - 120 - 06 - B - ACH1MOV - L

A5 BRES AR

XG1#5] e B:Spacer Sleeve  Standard Voltage

oo
120: 8 MALE  06: 1/8"
220: XKL E AC24v
330C: i = A B ) ACT10V LR
330E: dit = H 4 ) AC220V AR TR
330P: & =X, L B ) G:3l%RL&E
Coil and Places L: HieRAT%E
120: Single Coil (5/2) Wiring Form

Blank: Standard Connector
G: Lead Wire Type Coil
L: With Lighting Connector Coil

220: Double Coil (5/2)

330C: Center Closed Type Solenoid Valve (5/3)
330E: Center Exhaust Type Solenoid Valve (5/3)
330P: Center Pressure Type Solenoid Valve (5/3)

() #4& Specification

£l = Model

BEESY

Position and Way NO.
fEREN
Working-pressure
BHEER
Effective Sectional Area
B
Highest Action Frequency
TETER

Working Medium
TERE

Working Temperature
HEAR

Motion Pattern
FENIRIE

Manual Operate
@GR ER
Insulation & Protection Class
RESEE

Voltage Range
BERK

Wiring Form

FHEE

Power Consumption

B 42 I B )

Shortest Excitation Time

XG1220-06B

XG1120-06B XG1330-06B

ZfEB
Two-position Five-way

XN ]
Three-position Five-way

0.15~0.9MPa

2

12.6mm? 9mm

5c/sec 3c/sec

ZERIEEMMS Airand Non-active Gas

5~50C
REBES Inner Guide Type
2B FF X (B ) Keystroke Switch (Fixed) / BEHIFF X< (3%£#E) Knob Switch (Choice)
F& / F Class
FEMEME10%  Rated Voltage +10%
GeL / GorlL

AC: 3.5VA DC:3W

0.05%> Second




= Tt 1Ll

XINGUANG PNEUMATIC

EIKOPC

() MR~ Overall Dimension

XG1120-06B )]

10.8. 35.0

EEE

19.8 (17.0

2-93.5Hole
(Manifold Hole)

2.5

2-G1/8 (2.4 - Port)
107.5 . Max10.0

555

<
o
«

2-23.5 Hole / 102.0

26.0
21.5
:
=]
|
I
P @

148 270 | \3:-G1/8(1.3.5-Port)

XG1220-06B )]

Max10.0 159.0 Max10.0

55.5

XG1330-06B__) M. o -

165.0 (3 - Poaition)

y
:

|

|

!

:P o[

|

|

i

T

!

I

|

|
T
34.0

158.5 (3 - Position)




I KOPG =3 3H

XGRIRER mum

XG Series Spacer Sleeve Solenoid Valves

() iTMIE8 Ordering Code
XG3 130 08 B AC110V L

RYREG BRI BEOE B:RER RERE
XG2A&7! 130: 8 ML B Port Size B:Spacer Sleeve  Standard Voltage
XG3#&%I 230: LML E 06:1/8" DC12v
Series Code  330C:H 3= A E 08:1/4" DC24V
XG2 Series 330E: Attt =X AL 8 AC24V
XG3 Series 330P: & 3 AL R AC110V EEER
Coil and Places AC220V =R FRAER TR
130: Single Coil (3/2) (5/2) G5l &E
230: Double Coil (3/2) (5/2) L iE AT 4 B
330C: Center Closed Type Solenoid Valve (5/3) Wiring Form
330E: Center Exhaust Type Solenoid Valve (5/3) Blank: Standard
330P: Center Pressure Type Solenoid Valve (5/3) Connector
G: Lead Wire
Type Coil

L: With Lighting
Connector Coil

() ;& Specification

#l 5 Model XG2130-08B XG2230-08B XG3130-08B XG3230-08B XG3330-08B

BEESY =& “AHE ZHEB
Position and Way NO. Two-position Three-way Two-position Five-way Three-position Five-way
fERER 0.15~0.9MPa

Working-pressure

HHEER 19mm? 11.5mm?

Effective Sectional Area

B =
R & AR 5c/sec 3c/sec
Highest Action Frequency

i TERIEFEMMS  Air and Non-active Gas
Working Medium
TiemE -
Workin“ng;qperature 5~50C

HIER RERESR Inner Guide Type

Motion Pattern

FARIE 2B I % (EE) Keystroke Switch (Fixed) / HESAFF = (3%£#%) Knob Switch (Choice)

Manual Operate
@I RBHIFER F4 | F Class

Insulation & Protection Class

B FEEER10%  Rated Voltage +10%
oltage Range
iz GH#L / Gorl
Wiring Form

FEHE AC: 45VA DC:3W

Power Consumption

B %2 i HE (8] 0.05%) Second

Shortest Excitation Time




£ XOPC =45l - -
XINGUANG PNEUMATIC _

() MR~ Overall Dimension

XG2130-08B )N XG3130-08B M \ o
PR RPS
2-84.3 Hole -—26.0 _10. 2-94.2 Hole
: ST
e e R C i B oo {5
@ e T Kw |
19.0 3-PT1/4 1951 230 | \3-PTI/4
114.6 . Max5.0 125.6 M
2-04.3 Hole j j s0._ D I
. & @ ’ 4495 lﬂ}[
19 HH[ PR
20.8 20.5 2—94.2 Hole
0. 300 836
72,6 1223
1113
2-PT1/8
D T I —
(UYARN I J
4 7§ L | ) ||
16.5 18.0 J&QI 18.0 18.0 I

XG3230-08B ) \ o XG3330-08B )
30C 30P 30E

Mox 189.2 Mox5.0 Mox5.0 2092




I KIPC

XGRIRER mum

== S 1l

XINGUANG PNEUMATIC

XG Series Spacer Sleeve Solenoid Valves

() iTHE Ordering Code

XG5 120 10 B AC110V L

() ##& Specification

Position and Way NO.
fEREN
Working-pressure
BHEER

Effective Sectional Area
B AESE
Highest Action Frequency

THENR

Working Medium
TERE
Working Temperature

HEAHN

Motion Pattern

FEIRIE

Manual Operate
BB R RGP SR
Insulation & Protection Class
RESE

Voltage Range

EERER

Wiring Form

FERE

Power Consumption

i K5 R B 1)

Shortest Excitation Time

RYIREG BFRER FRERE
XG5&% B:Spacer Sleeve Standard Voltage
Series Code o DC12v
- BEEOR
XG5 Series BER Port Size 28;:://
=B8] 08: 1/4"
120: 8 IR . AC110V MR
220: kML E 10: 3/8 ot b op i
_ : N AC220V T AHARER TR
330C: = A H i GalEt L E
330E: 3t =X LA ) L *;i i
330P: /£ 3% B 74 IR
. Wiring Form
Coil and Places Blank: Standard
120: Single Coil (5/2) Ca" . ta" ar
220: Double Coil (5/2) Gf”:”ez ‘\’,\r,
330C: Center Closed Type Solenoid Valve (5/3) by e‘z i e
330E: Center Exhaust Type Solenoid Valve (5/3) L_V’\;\‘j,th"l_', i
330P: Center Pressure Type Solenoid Valve (5/3) : With Hg |n.g
Connector Coil
XG5120-10B XG5220-10B XG5330-10B
ZiEEB XN
Two-position Five-way Three-position Five-way
0.15~0.9MPa
36mm? 30mm?
5c/sec 3c/sec

=R RIEEMMS  Airand Non-active Gas

G=E0T
RERESR Inner Guide Type
IRBET X (E ) Keystroke Switch (Fixed) / BEHFF X (i£#) Knob Switch (Choice)
F& / F Class
FE BT B9£10%
GeL / GorlL

Rated Voltage +10%

AC: 45VA DC:3W

0.05%F Second




LA = El] - J
EIKOPG =30 2 -
XINGUANG PNEUMATIC

() MR~ Overall Dimension

XG5120-10B ) NN XG5220-10B )

EAIPrS y
RP
7. 440 2-94.6 Hole Hexs.0 4.0 Mox5.0
T 3-94.6 Hole
e s o mji
o 1w/ B T N
d @& r X ] —‘*‘f‘ Kl .
8.0 5-G3/8 : |
161 Max5.0
’L @ | o —
" |20 | d
1
e | o — XG5330-10B )]
LZZ.Q_.I 4 30C 30P 30E
AB A B A B
157.9
RPS RPS ers‘l'L“U'Ll‘ans
d e o 5]
a D) i
U U “;J Max10.0 225.0(3 - Position) Max10.0
Z ; —
D =
© @
219.0 (3 - Position)
T ————————




I KOPG =3 3H

XGRIREN su

XG Series Spacer Sleeve Solenoid Valves

() iT#IE8 Ordering Code
XG6 120 15 B AC110V L

Ry EEOE BRRER FRERE
XG6#F! Port Size B:Spacer Sleeve Standard Voltage
Series Code 15: 172" DC12v
XG6 Series HE R DC24V
120: 8 I WAL & AC24V
220: kWL E AC110V EERR
330C: Tt AL ) AC220V ZEEARAER TR
330E: ittt =0 A Rk R G:5l%&R&E
330P: R FLHE R LR AT
Coil and Places Wiring Form
120: Single Coil (5/2) Blank: Standard
220: Double Coil (5/2) Connector
330C: Center Closed Type Solenoid Valve (5/3) G: Lead Wire
330E: Center Exhaust Type Solenoid Valve (5/3) Type Coil
330P: Center Pressure Type Solenoid Valve (5/3) L: With Lighting
Connector Coil
() ##& Specification
A 5 Model XG6120-15B XG6220-15B XG6330-15B
(iR E ZHB ZHE
Position and Way NO. Two-position Five-way Three-position Five-way
fERER 0.15~0.9MPa
lorking-pressure
HHBER . 2
Effective Sectional Area 65mm 50mm
(S TES
Higgsl Action Frequency 2c/sec 1c/sec
TR SSRIEFMMS Airand Non-active Gas
THERE ~50
Workin“ng;?nperature 5~50C
MR : : i
Motion Pater AERES S Inner Guide Type
pel HRHF 3 () 7E) Keystroke Switch (Fixed) / HE4FF % (i#:#%) Knob Switch (Choice)
B RGP ER 4
Insulation & Protection Class F”& | F Class
A E
T ZNE B ERIE10% Rated Voltage £10%
237 .
Wiring F;rm G:Y'L / Gorl
REE AC: 45VA DC:3W
ower Consumption
A5 T 8 e 18] s
Sﬁonesi Excitation Time 0'05*¢ Second




(©f U1y H_Fimit

XINGUANG PNEUMATIC

) 9MEZR=T Overall Dimension

XG6120-15B )]

¥ [ XG6220-15B___ )} i
w\\[// ]
W RP
Max10.0 235.0 Max10.0
36.0 41.0 2- Q4.5 Hole

w0l o _{ K N =oe 0
& & 7 4 § ©
1 @} @& - — - — - —— - —— ] - -
39. 34.0 2-G1/2(2.4 - Port) ° ® ®
o
(Lever Locking) I| 228.0
o
3-24.5 Hole Manual Button ﬁ <
O %
——————————
Si ‘C_’- < I _2 - - - ©) XG6330-15B ) 30C 30P 30E
| o g < l:r AB AB AB
€3 e}_ RPS RPS RPS
415 | 300 | 9
171.0 Max10.0 257.5(3 - Position)
vl of
d 2 [
o N J &
26.5 60.0 3-G1/2(1.3.5 - Port) i i S
© <

250.5(3 - Position)




| I 2 9d1amoer
VAOS AOzzoV

| odilin

/
Il 3D s9d1amsoor
' VA0S AozzoV

i

|
Solen

i

SE

X6

XEA
S




2% =Sl -
LI KOP i’ x5
XINGUANG PNEUMATIC “a .

XGZ& Y =zim

XG Series Mechanical Manual Valve

() iTME8 Ordering Code

XG - 522N - HV - 6
E-Siaat] 322N: = =i HV:F 3R BEEOR
XGPC 332N: == HV: Manual Valve Port Size

522N: Z L FHiE 6:1/8"
532N: I R iE 8:1/4"

322N: Two-position Three-way (3/2)

e - 332N: Two-position Three-way( 3/2)
‘ 522N: Two-position Five-way (5/2)
‘ - 532N: Two-position Five-way (5/2)

() #*& Specification

El S Model XG322N-HV6 XG332N-HV8 XG522N-HV6 XG532N-HV8

\ifﬁnﬁgdium E45=S | Compresses Air

!ﬁiiﬁnd Way NO. Z{iI=j& Two-position Three-way Z{iAi# Two-position Five-way
i%l:l‘mé G1/8" G1/4" G1/8" G1/4"
ort Size

i 0~1.0MPa

Working-pressure Range

fERIRESERE -5~60C

Operating Temperature Range




(o) U1y H _Fumit

) 9MEZR=T Overall Dimension

< @ » (.
P < &
<
8l a
| wa/
5 ol |” VoSN
S Mm
%
> I = N
2
g S g J
T T G40 T
Z = zZ |
® w SR &
324 Y]
o O]
< X
1
AT
T
“H—+01+14
Mﬂ& TI Wan
< i [os) )
559 < g
So | 0 | o
3 o L
~ — AN
T <SS MAS
D
¢
AN G9el 2 A~
3l
© pd 5#2 ©
p — —| 6= S > -—=
T =14 T
pd . zZ
= ) Z
AN N I
™ (o]
o O]
< X

)



© [P Sl oxy
‘ J xg c XINGUANG PNEUMATIC _ -..m

XGZ& Y =zim

XG Series Mechanical Manual Valve

() iTME8 Ordering Code

XG - 533N - HD 6
ZRSH 533NC: A= FL A i HD:F iR BEEOEZ
XGPC 533NE: it 3, B 8 HD: Manual Valve Port Size

533NP: 1 /& 2 A Hik 8 6:1/8"

Coil and Places

533NC: Center Closed Type Solenoid Valve (5/3)
533NE: Center Exhaust Type Solenoid Valve (5/3)
533NP: Center Pressure Type Solenoid Valve (5/3)

() ##& Specification

TIENTR - _
Working Medium EHEES/ Compresses Air
i@ s o

Position and Way NO. ={IFHB/ Three-position Five-way
#OO®&E "

Portsize G1/8

fEME e o1 oMPa
Working-pressure Range :

R .
Operat’l?g}?emperalure Range -5~60°C

() 9MEER~T Overall Dimension
[ XG533N-HD M}

18

21.8
12.3]

o~

-1/4




(o) U1y H _Fumit

XG £ I=im

XG Series Mechanical Hand-draw Valve

() iTH% Ordering Code

EXST 322N: 2L =38 R:FHI 8 BEOR S:AFEN
XGPC 32N =il R: Hand-draw Valve Port Size S: Spring Return
522N: I HiE 6:1/8"

532N: ZfrHiB 8: 1/4"
322N: Two-position Three-way (3/2)

332N: Two-position Three-way( 3/2)

522N: Two-position Five-way (5/2)

532N: Two-position Five-way (5/2)

() ##& Specification

Zl S Model XG322N-R6 | XG332N-R8 | XG322N-R6S | XG332N-R8S | XG522N-R6 | XG532N-R8 | XG522N-R6S | XG532N-R8S

TENR
Working Medium % | Compresses Air

Eﬁﬁnd Way NO. Z{I=i® Two-position Three-way ‘ —fiF&E Two-position Five-way

#EONR .

Port Size

ERENER 0~1.0MPa

Working-pressure Range

fERIRETEE -5~60C

Operating Temperature Range




N
N

el

)
)

19.5
25

i;
111

i

XG332N-R8
XG532N-R8

B
A
R P
;\% E%i
? I1T
-4 ai@
@[
i
%5 |8| 19.5
0
A B
RPS
8] 2.5
40

RPS

(43 | <

S
28
Te
?
3
@ 4
I

3
7

5.7

)
o
)
4
5-G1/8

|
17

3-G1/8
2-93.3
N

E 1
°
j@%/
Te
A
il

XG322N-R6
XG522N-R6

Lpd = =
(S U] o HFidmidl
() 9pEER=F Overall Dimension
%ii
3 !
9
o
3



(o) U1y H _Fumit

XG &I =mim

XG Series Hand-pull Valve

() iTMIE8 Ordering Code

XG - 522N - H - 6 - S
ZhRH H:F 4R iR BEOR S:HEEM
XGPC = H: Hand-pull Valve Port Size S: Spring Return

522N: “fu il 6:1/8"
532N:“fuhil 8:1/4"

322N: Two-position Three-way (3/2)
332N: Two-position Three-way( 3/2)
522N: Two-position Five-way (5/2)
532N: Two-position Five-way (5/2)

() #4& Specification

2 = Model XG322N-H6 XG322N-H6S XG332N-H8 XG332N-H8S XG522N-H6 XG522N-H6S XG532N-H8 XG532N-H8S

TR B SIERIZSS /40 Micron Filtered Air

Working Medium
ORTE

Position and Way NO.

HIEAR B#X / Direct Drive Type

Operating Method

HHAER 18mm?(CV=1.00)

Effective Sectional Area

#oneE G1/8" G1/4" ‘ G1/8" G1/4"

Port Size

EREHER 0~1.0MPa
Working-pressure Range ’
ERREEE 0~60°C

Operating Temperature Range

ZfI=i® Two-position Three-way | Z{IHi® Two-position Five-way




LI KOPG =22 05

() 5P Rt Overall Dimension
[ XG322N-H6 )M

A 7
Y
(ﬁlv VA
T T -
R P ; =
- 1.5' " | ~y|_$ ©
| w
riws A
= | S
- %4 ]S
: »
XG332N-H8 )
110 ‘
| 3 4
i P gy —
T—\'f '/A %_%4\ :\//J/ é_/
NNV
T T ; " ‘
R P F% Q’ od— =
J b l3-61/4 L I =
B e .
| T & —
| !
’2'1‘5 %5 |8 | 195
il
XG522N-H6 ) -
A p N N
A B ,/4//3 = [y
- = o) T h
i e @] ot
T T §§ : = .
RPS , T o ‘ 393,

&
&
%

19
215

2.5
215

36
W.
18
7
30
oo et
4

23 5.1 17

XG532N-H8 )}

[ A BW 7] ,’;/ji’,,\» an
LOllz ]

kY

7




(o) U1y H _Fumit

XGZ i

XG Series Mechanical Valve

() T8 Ordering Code

XG - 322N - MV - A
S bl 322N: ==& MV #1473 A:ABY Type
XGPC 522N: Z L HiE MV: Mechanical Valve

322N: Two-position Three-way (3/2)
522N: Two-position Five-way (5/2)

() ##& Specification

XG322N-MVA XG522N-MVA

THENR e )
Workin}g Medium JE#4E=5 /| Compressed Air

fRrE % =g - y— -
Position and Way NO. Z{I=j&/ Two-position Three-way | Z{IHiE / Two-position Five-way
EOne G

Port Size

ERENEE 0~1.0 MPa
Working-pressure Range :
ERIRESER 0~60°C

Operating Temperature Range

() 9ME R~ Overall Dimension
XG322N-MVA )] XG522N-MVA )]

5G1/8

18.8




EINOPC =X AT "1

XGZ | nmim

XG Series Mechanical Valve

() iTHIES Ordering Code

XG - 322N - MV - B
ERSH 322N:ZfI =i MV:#LH 8 B:BE!/ Type
XGPC 322N: Two-position MV: Mechanical Valve

Three-way (3/2)

() ##& Specification

£ S Model XG322N-MVB

TIENR o .
Working Medium JE#EZ=S /| Compressed Air
friBL s y

Position and Way NO. Z{I=i&/ Two-position Three-way
ZEOOR

Port Size - a4

fEFE 3L 0-1.0 WP
Working-pressure Range E

ERREERE ~60°
Operatlﬂlgimperature Range 0~60C

) 9pMZR~F Overall Dimension
[ XG322N-MVB_ )}

A

SHIFAR l rmERl




(o) U1y H _Fumit

XGZ i

XG Series Machanical Valve

() 1T858 Ordering Code

XG - 322N - MV - C
ZASH 322N: ==& MV 4L i3 C:C2Y/ Type
XGPC 322N: Two-position MV: Mechanical Valve
. Three-way (3/2)
s % '
it @
5..

() ##& Specification

7 S Model XG322N-MVC

TENIR Ny )
Working Medium JE#EZ S / Compressed Air
LB E e ”

Position and Way NO. Z{iL=i& / Two-position Three-way
#EOORZ

Port Size - 4

ERAEDER py—
Working-pressure Range :

ERREEE ~60°
Operatlling%emperature Range 0~60°C

) MR~ Overall Dimension
| XG322N-MVC M

11




EINOPC =X AT "1

XGZ Fwmim

XG Series Mechanical Valve

() 1T Ordering Code
e XG - 322N - MV - D

ERSH 322N:ZfI =@ MV:#LH 8 D:D#!/ Type

: L
XGPC 322N: Two-position MV: Mechanical Valve
f Three-way (3/2)
4 _

() ;ML Specification

TN e :
Working M:dium EBE=S Compressed Air
gsﬁﬁnd Way NO. —{iL=i& / Two-position Three-way
BHEER 2~/

Effective Sectional Area 16mm (CV—0-89)
#OOR "

PortSize G1/4

fEREH5EH 0-1.0 UPa
Working-pressure Range °

fEAR T 060

Operating Temperature Range

) MR~ Overall Dimension
| XG322N-MVD )}

Snipa% | Aﬁ;. _

R P

64

34.5
50
21

13

i RS R 2-G1/4 |




(o) U1y H _Fumit

XG &I wimim

XG Series Control Valve

() iTME8 Ordering Code

XG - 02
RIS BEEORZ
Series Code Port Size
XG#7 01: G1/8" 02: G1/4"
XG Series 03: G3/8" 04: G1/2"
5 . A
O BRHFS Graphic Symbol Bl

() #ME Specification

=

£l S Model

EEOR G1/8" G1/4" G3/8" G1/2"
Port Size

TIENR = ;
Working Medium JE45Z= S /Compressed A

BREER 0.03MPa

Effective Sectional Area

ERAEDER 0.05~1.2MPa

Working-pressure Range

fERIRETEE -5~99°C

Operating Temperature Range

r

() 9MEZR-~T Overall Dimension

T- 1

XG-01 31 25 18 22 48 51 16 10 G1/8 @4 M10X1
XG-02 45 35 245 30 53.5 56.5 20 1 G1/4 6.4 M14x1
XG-03 50 35 26 30 57.5 62.5 25 12 G3/8 6.4 M16x1
XG-04 60 44 35 40 66 71 30 20 G1/2 6.4 M20x1




- P
_'h._

‘J xgl c XINGUANG PNEUMAT!C

XG& =5

XG Series Mechanical Hand-draw Valve

() 1T858 Ordering Code

XG - 522N - HDV - 8
FS ] 522N: Z L FiB HDV:F$L 18 BEEOR
XGPC 522N: Two-position Five-way (5/2) HDV: Hand-draw Valve Port Size

6:1/8"
8:1/4"

() ##& Specification

XG522N-HDV6 XG522N-HDV8

vﬁfﬂgﬁmm E4Ez=%5 | Compresses Air

LB — e L
Position and Way NO. Z{IHE Two-position Five-way

®OO® " "
ERRE G118 | G1/4

EREDER 0~1.0MPa

Working-pressure Range

ERIRETEE -5~60°C

Operating Temperature Range

() 9ME R~ Overall Dimension
| XG522N-HDV8 )}

3.G1/4) N R .
N @ i
Sigmecil W M E
~ Sk = S = G\&
o\ L= ~
’é%* &/ O3 |zeu
o 2
B, egE!
o ¢ | 8 o
N | b @
| a
| %x}
|
20 4l
22 = 20




(o) U1y H _Fumit
F i

Hand-switching Valve

() iTMyEg Ordering Code
4HV 200 - 08 - T

B BEEOR RERR
Number of Places Joint Pipe Code Install Type
08: PT1/4 =H: BiERE
MR 10: PT3/8 T: EREHR
Specification Code : 15: PT1/2 Blank: Body of Valve Install
4HV: F5EiR 200: Three-position Four-way T: Panel Install

4HV: Hand-switching Valve 300: Three-position Four-way
400: Three-position Four-way

() BERHFS Graphic Symbol ST

() #ME Specification

# S Model 4HV200- 08 4HV300- 10 4HV400- 15

THENR

Working Medium =5/ Arr
Lljrifl Of Places Z{iMi&E / Three-position Four-way
EEORE
PortSize G1/4 G3/8 G112
BHEEmR 2CV= e Aavie
Effective Sectional Area 16mm(CV=0.89) 33mm*(CV=1.83) 88mm*(CV=4.89)
EREN 1OMPa
Working-pressure
PRIEME 1
Ensured Pressure Resistance 1.2MPa
ERRELE s
Operatllr?;T:nperature Range -5~+60C
TERE %
Operating Angle
4 . .
() $MER~F Overall Dimension
200 %31/ Series )} 300 %31/ Series )} 400 %31/ Series )}




© [P Sl g
‘ J xg c XINGUANG PNEUMAT!C _ ".._

S EAER

High pressure regulator

() iTHIES Ordering Code

MBI BEOE
QTYHEEIFE Port Size
Specification Code 08: G1/4
QTYH High pressure regulator 10: G3/8
15: G1/2
20: G3/4
25: G1
= |
1 ; <
LE <9
X s
Ll -

) #4#8 Specification

# 5 Model QTYH-08 QTYH-10 QTYH-15 QTYH-20 QTYH-25

THENR v ) A
Working Medium =S/ Arr

2 ot 1 4
EEOR G1/4 ‘ G3/8 ‘ G112 ‘ G3/4 | G1
Port Size
ISR 201
Filter
1§Fﬁ’£jj 0.05~ 3.0 MPa
Working-pressure
PRIEME 4 MPa
Ensured Pressure Resistance
AR s-s0c
Operating Temperature Range

() 9pMEZR~T Overall Dimension
[ QTYH Z371/Series )}

90
D59
L_j 08:G1/4 ' |
g 10 : CQEERER IS4
8~ F ' 61| ! 3
Gua— T |~ | . !
o Y n
o S5 | |- -Hs Z\ggx
= N ol
) l ! | T 0|
30 60
D45
55x55 30
D55
08 75x75 20
QTYH- 10 QTYH-
15 25




‘J xgl c XINGUANG PNEUMAT!C _ :-

XG % Flmuiim

XG Series Solenoid Valve

() iTg88 Ordering Code
XG3 101 - 06

AC220V - L

MRS BEEOR HRERE
XG3#FI Port Size Standard Voltage
Specification M5: M5x0.8 DC12v
Code 06: 1/8" DC24V
XG83 Series AC24V
AC110V
SERAH AG220V
101 KL &
200: WKL E
303C: A= LR i
303E: Huitth =X A ik 8 B
303P: e E X LI it
Coil and Places ERARERT R
) . G:3l&R & E
101: Single Coil (5/2) Lt AT
200: Double Coil (5/2) Wiring Form
303C: Center Closed Type Solenoid Valve (5/3) Blank: Standard
303E: Center Exhaust Type Solenoid Valve (5/3) Connector
303P: Center Pressure Type Solenoid Valve (5/3) G: Lead Wire
Type Coil

L: With Lighting
Connector Coil

() #4& Specification

XG3101-M5 XG3101-06 XG3200-06 XG3303C-06 XG3303E-06 XG3303P-06

Eﬁf&nd Way NO. ZfiF@ Two-position Five-way ={iHB Three-position Five-way

HHEER 10mm?(CV=0.56) 12mm?(CV=0.67) 9mm2(CV=0.5)

Effective Sectional Area

EEOR #HS=HS=H<=M5%0.8" MhA e e vA A _ _ "
Fol e Air InleteAir Outlet=Exhaust=M5x0.8" HS=HS=HS=G1/8" Air Inlet=Air Outlet=Exhaust=G1/8

THENE ZA0KITIEEIZS 40 Micron Filtered Air

Working Medium

HEAR RERES T Inner Guide Type

Motion Pattern

EMES 0.15~0.9MPa

Working-pressure

RAMEN

Myéx, Pressure Resistance 1.2MPa
TIERE L
Operatlling?emperature 5~50C
RESE +10%

Voltage Range

FEHEE AC:2.5VA  DC:2.5W

Power Consumption

Iéﬁéév_ti&ﬁfi#ﬁ%ﬁ F4. IP65 / F Class. IP65
nsulation & Protection Class
EE353170 5

Wiring Form GeliL

= ESRER S# AKX 5Cycle/ Sec

Highest Action Frequency

B 52 I HE (8] 0.05%) Second

Shortest Excitation Time




EIXOPG =338

XINGUANG PNEUMATIC

() MR~ Overall Dimension

XG3101-06 )] is XG3200-06 ) Ao
70.5 I
0 ) e [o 9= é
7.5 ! 16 2-93.3
1O O
) Lo} o %
| 78.5 [ 14 _[N\2Z83
"m0 !
5-61/8
dilE S=SEIIT Eae
71.5 ! 28 !

5-G1/8
SEis EmSE T mme




‘J xgl c XINGUANG PNEUMAT!C

XG %l muiim

XG Series Solenoid Valve

() T Ordering Code

XG4 101 - 08 - AC220v - L
MBI EEORZ HRERE
XG4 Z5| Port Size Standard Voltage
Specification Code 06:1/8" DC12v
XG4 Series 08:1/4" DC24v
AC24V
AC110V
S RALE AC220V
101: LML &
200: WKL E
303C:H = LR iR
303E: Attt =X AR ff i
303P: 1 E 3 A H 8 3531750
Coil and Places z= AR FR
101: Single Coil (5/2) G5l EkE
200: Double Coil (5/2) LR AT 4
303C: Center Closed Type Solenoid Valve (5/3) Wiring Form
303E: Center Exhaust Type Solenoid Valve (5/3) Blank: Standard
303P: Center Pressure Type Solenoid Valve (5/3) Connector
G: Lead Wire
Type Coil

L: With Lighting
Connector Coil

() #4#& Specification

Position and Way NO.
BHEER
Effective Sectional Area
R

Port Size

THENER

Working Medium

F;EFAR

Motion Pattern

fEREN

Working-pressure
BRAMEH

Max. Pressure Resistance
TERE

Operating Temperature
REER

Voltage Range

FERE

Power Consumption

B RRIFER

Insulation & Protection Class

&N

Wiring Form
REAERE
Highest Action Frequency

i K5 B )

Shortest Excitation Time

XG4101-06 | XG4200-06 | XG4303C-06 | XG4303E-06 | XG4303P-06 | XG4101-08 | XG4200-08

XG4303C-08 | XG4303E-08 [ XG4303P-08

EHE
Three-position Five-way
16mm?*(CV=0.89) 12mm?*(CV=0.67)

HS=H5=G1/4" H==G1/8" Air Inlet=Air Outlet=G1/4"
Exhaust=G1/8"

=ENAEB ZNEE

Two-position Five-way

ZfHE
Two-position Five-way Three-position Five-way

14mm?(CV=0.78) 12mm?(CV=0.67)

#R=HS=HS=G1/8"
Air Inlet=Air Outlet=Exhaust=G1/8"

ZA401KT

MEBESH  Inner Guide Type

FiEHIZ=S 40 Micron Filtered Air

0.15~0.9MPa
1.2MPa
5=50iC

+10%
AC:45VA  DC: 3W

FZ. IP65 / F Class. IP65

Gl / Gorl
[=ZUE DN
0.05% Second

5 Cycle / Sec




71:

EIXOPG =338

() 9pM2R~F Overall Dimension
XG4101-06 Y S XG4101-08 )Y 2N

RPS RPS
! I B s c1/8
t
1
[ 22218 | 2-63.3Hole
1= h | ;
| o q
J X ORI P PN |— "
S %
L2220 TN\, 4 e L2121 20 TN\, i e
122.4 122.4
2-61/8
S5 o8l 1 -4
oo 0o
1 [ s Eiiégjiﬂ
e ! 130 |

XG4200-06 )N XG4200-08 NN
=N/ e=\N[//

RPS RPS

3-G1/4

EETT T

O] mi:

FretaTs

et |18 2-03.3Hole

¥
L&

XG4303-06 Y- o soe XG4303-08 ) J- o s0e

=N 177k =Y/ 7 = =N 177 Y77

RP

3-G1/4

e S TPETS R

[ mi:

&
jj;:
—g@
DY

o g
—— "‘“'——I""'______’
g
2—-94.3Hole
01.4
99.3
5-G1/8
_+ 1 _Teley S AL I8l T
[l PO ]
1.3 ‘ 36




EIKIPC

XG %l muiim

=3¢ 1Ll

XINGUANG PNEUMATIC

XG Series Solenoid Valve

() T Ordering Code

XG5 101 - 10 AC220V - L

MBS BEEOR RO E

XG5&%! Port Size Standard Voltage

Specification 08:1/4" DC12v

)(ig(;eSeries SERAIH 10958 285:\\; 3§@£ﬁé_ﬁ »
101 B S E ACI10V §El:$71=;ﬁw?iﬁ
200: LML E AC220V G:?Iia‘%ztia‘%@
303C: = A H i Liia R AT
303E: Attt =X, e # %) Wiring Form
303P: i [E = B 8 Blank: Standard
Coil and Places Connector
101: Single Coil (5/2) G: Lead Wire
200: Double Coil (5/2) Type Coil

L: With Lighting
Connector Coil

303C: Center Closed Type Solenoid Valve (5/3)
303E: Center Exhaust Type Solenoid Valve (5/3)
303P: Center Pressure Type Solenoid Valve (5/3)

() ##& Specification

XG5101-08 | XG5200-08 |XG5303C-08 | XG5303E-08 | XG5303P-08

a1

Position and Way NO.
EHEER
Effective Sectional Area
®REOR”

Port Size

THENR

Working Medium

HEAR

Motion Pattern

fEREN

Working-pressure
RAMEN

Max. Pressure Resistance
TERE

Operating Temperature
RESEE

Voltage Range

FEHEE

Power Consumption
GBS RGP ER
Insulation & Protection Class
ZERK

Wiring Form

o AESE
Highest Action Frequency
B 42 I B )

Shortest Excitation Time

XG5101-10 | XG5200-10 |XG5303C-10 | XG5303E-10|XG5303P-10

ZfuEB =]
Two-position Five-way Three-position Five-way
30mm?(CV=1.68) 18mm?*(CV=1.00)

#HS=HS5=G3/8" HS=G1/4" Air Inlet=Air Outlet=G3/8"
Exhaust=G1/4"

v 7B SR

Two-position Five-way Three-position Five-way
25mm?*(CV=1.40) 18mm?*(CV=1.00)

#S=HS=HS=G1/4"
Air Inlet=Air Outlet=Exhaust=G1/4"

240K TIERIZ S 40 Micron Filtered Air
MEBESHK  Inner Guide Type
0.15~0.9MPa
1.2MPa
5~50C
+10%
AC:45VA DC: 3W
F4. IP65 / F Class. IP65
G=(L / GorlL
S#FX 5 Cycle/ Sec

0.05%» Second




EIXYPC =105
XINGUANG PNEUMATIC t“‘t |

() 9pM2R~F Overall Dimension
XG5101-08 YR ECHNEND) ..
AN A=

I
101 2-94.3Hole 2-04.3Hole
] ] ] ]
I o g — o i a
—_—_——e——— - —— —_——— — = — — __________+.__________.___
Ll | e led] | L Ll e led] | [
2-4.3Hole 92 | 2-94.3Hole
43 243
11 112 2-G1/4
i o gl t__
||\|’w== DO )l S| “KM‘W
o 4 89 P




‘ J xgl c XINGUANG PNEUMATIC _ :-

XG %l muiim

XG Series Solenoid Valve

() T Ordering Code
XG6 101 - 15 - AC220v - L

MR BEOR FRAERE

XG6ZFI Port Size Standard Voltage

Specification - 15:1/2" DC12v

cﬂde REROE DC24V

. 101 ST E AC24V

XGE Series 00k & ACIHOV
303C: A= LR iR AC220V
303E: ittt =X A fk %) 4175
303P: & HLRL %) EEARER TR
Coil and Places G:5l%&AL%E
101: Single Coil (5/2) LSt R AT 4 B
200: Double Coil (5/2) Wiring Form
303C: Center Closed Type Solenoid Valve (5/3) Blank: Standard
303E: Center Exhaust Type Solenoid Valve (5/3) Connector
303P: Center Pressure Type Solenoid Valve (5/3) G: Lead Wire

Type Coil
L: With Lighting
Connector Coil

() ##& Specification

B = Model XG6101-15 XG6200-15 XG6303C-15 XG6303E-15 XG6303P-15

(OB ZfAEB =X AR
Position and Way NO. Two-position Five-way Three-position Five-way
HHEEN 50mm2(CV=2.79) 30mm2(CV=1.68)

Effective Sectional Area

gﬁg & HS=HES=HS=G1/2" Air Inlet=Air Outlet=Exhaust=G1/2"

THE R ZA0MKTIEAIZS 40 Micron Filtered Air

Working Medium

HHEHH HERES R Inner Guide Type

Motion Pattern

ERED 0.15~0.9MPa

Working-pressure

BRAMEH

Myéx. Pressure Resistance 1.2MPa
TiERAE o
Operatlil::;?emperature 5~50C
RERE +10%

Voltage Range

FRE _ AC:4.5VA  DC: 3W

Power Consumption

@R BIPER FZ. IP65 /| F Class. IP65

Insulation & Protection Class

230 GHL / Gorl

Wiring Form

S B EsRE B/ AR 5Cycle/Sec

Highest Action Frequency

B 2 N B 18] 0.05%> Second

Shortest Excitation Time




EIXOPG =338

XINGUANG PNEUMATIC

() $ME R~ Overall Dimension

XG6101-15 YIS

D@ e

50
|

XG6200-15 )




‘J xgl c XINGUANG PNEUMAT!C _ a-

XG %l muiim

XG Series Solenoid Valve

() T Ordering Code

XG3 601 - 06 NO - AC220v - L
BRI BEEORZ FRERE
XG3 A7 Port Size Standard Voltage
XG4 7% M5: M5x0.8 DC12v
XG5 A&7 06: 1/8" DC24V
XG6 &% 08: 1/4" AC24V
Specification Code 10: 3/8" AC110V
XG3 Series 15:1/2" AC220V
XG4 Series &
XG5 Series L= 3 R )
XG6 Series Position And Way NO.
Two-position Three-way (3/2) %%%ﬁiﬁ&%}]tﬁﬁk?& .
E' B AT
== B AR G3I%REE
NO-—M—I%%*& L RAT &
Joint Pipe Form and Initial State Wiring Form
Blank: Pipe Connection Type Blank: Standard
NC: Two-position Three-way Normal Connector
Close Type G: Lead Wire
NO: Two-position Three-way Normal Type Coil
Open Type L: With Lighting

Connector Coil

() #;M#E Specification

XG3601-M5 XG3601-06 XG4601-06 XG4601-08 XG5601-08 XG5601-10 XG6601-15

(iR EL
Position and Way NO Z{I =& Two-position Three-way
gﬁi@c tfinm o 10mm?*(CV=0.56) 12mm2(CV=O.67)’ 14mm?(CV=0.78) | 16mm?*(CV=0.89) | 25mm?(CV=1.40) | 30mm?*(CV=1.68) | 50mm?*(CV=2.79)
B 1= HS=HS=G14"| HS=HS=HS [#S=HS=Go/8"| #S=HS=HS
— HS=M5%0.8 A L A " H5=G1/8" =G1/4" HE5=G1/4" =G1/2"
BRne Air Inlet=Air | . m&;&;%ﬁgﬁ;&g&im | Al Inlet=Air Air Inlet=Air Air Inlet=Air Air Inlet=Air
Outlet=Exhaust Outlet=G1/4" Outlet=Exhaust Outlet=G3/8" Outlet=Exhaust
=M5x%0.8 Exhaust=G1/8" =G1/4" Exhaust=G1/4" =G1/2"
V:&J!Enjngﬁﬁe\dium 240K TS 40 Micron Filtered Air
Mnjjog:i?gaim RERFESH  Inner Guide Type
E}ﬂ"ij} 0.15~0.9MPa
lorking-pressure
BAMESD
MS;X, Pressure Resistance 1.2MPa
TERE o
Operatllingfl?emperature 5~50C
I ESEE
Voltage Range +10%
?aé . AC:45VA  DC:2.5W AC:45VA  DC:3W
ower Consumption
G RFIPER "
Insulation & Protection Class FZ%. IP65 / F Class. IP65
23531 -
Wiring F:xm G=L / GorlL
= AERE o
H\xggsl Action Frequency HUHEKX 5 Cycle / Sec
% 45 [l i ) N
ggortest Excitation Time 0.05%) Second




@ PC =5t &
XINGUANG PNEUMATIC

() 9pM2R~F Overall Dimension
XG3601-06 YIS o XG4601-06 YN .

1 —%Hf“ﬁ@ﬁr

H i
|




tJ xgl c XINGUANG PNEUMAT!C _ :-

XG &Ym=t

XG Series Namur Valve

() 1T858 Ordering Code

Mg BEOE FRERE
XG4 &% Port Size Standard Voltage
XG5 #7) . 08: 1/4" DC12v
XG6 &7 iRt 10: 3/8" DC24V LT
L Namur j2353i5
Specification AC24V o ae e
. oy =Ry T
Code BRI AC110V RN,
) ° G:5l%&AL&E
XG4 Series 101: 845 AC220V g — N
. LR ATk
XG5 Series 200: 335 -
XG6 Series Coil and PI Wiring Form
orand Flaces Blank: Standard
101: Single Operated Connector
200: Double Operated G: Lead Wire
Type Coil
L: With Lighting
Connector Coil

) EHFFS Graphic Symbol
() #4& Specification

#J S Model XG4101M-06 | XG4200M-06 | XG4101M-08 | XG4200M-08 | XG5101M-08 | XG5200M-08 | XG5101M-10 | XG5200M-10

THENE ZA0MKITIEEIZ S 40 Micron Filtered Air

Working Medium

IMEAR AERES R Inner Guide Type

Motion Pattern

AEH T I
Posm; and Way NO. Z{iFAi# Two-position Five-way

BREER 2/0\/= 20~/ 2y SV

e ey (N 14mm°(CV=0.78) 16mm°(CV=0.89) 25mm*(CV=1.39) 30mm*(CV=1.67)
EEOE HSAIr Inlet=HES BESAIr Inlet=G1/4 HSAIr Inlet=HS S AIr Inlet=G3/8
Port Size Exhaust=G1/8 HFS Exhaust=G1/8 Exhaust=G1/4 HFS Exhaust=G1/4
b TEZ Not Necessary

Lubricate

EREAD 0.15~0.9MPa

Working-pressure

RAMET

Max. Pressure Resistance 1.2MPa
TIERE o
Operalllfg]?emperalure -5~60C
Gt -15% ~ +10%

Voltage Range
FRE ) AC380V: 2.5VA, AC220V: 2.0VA, AC110V: 2.5VA, AC24V: 3.5VA DC24V: 3.0W, DC12V: 2.5W

Power Consumption

IR IR ER FZ%. IP65 / F Class. IP65

Insulation & Protection Class

i GsiL / Gorl

Wiring Form

RIS S AER 5 Cycle / Sec

Highest Action Frequency

B K2 B 18] 0.05%) Second

Shortest Excitation Time




EIXOPG =338

() 9pM2R~F Overall Dimension
[ XG4101M-08 )]

IIEL

2-G1/8
G1/4

W —itde ol

e

XG4200M-08 )}

i -—{-Teie ool 1B

XG5101M-10 )]

XG5200M-10 )]

L0 < L]
R . \if\ L
FL__ NS ZEN
[ |




(©f Ul H bumiie

# & MEMO







=YLl

XINGUANG PNEUMATIC

EIKIPC

4V100 % 5 e it

4\V/100 Series Solenoid Valve

() iTHIES Ordering Code

4V 1

10 06 AC220V W

|
AP
100% 7%
Series Code
100 Series

Specification Code
4V: Two (Three)-position
Five-way Solenoid Valve
3V: Two-position Three-
way Solenoid Valve

) #M4#B Specification

e
Model
ALEH
Position and Way No.
BHEER

Effective Section Area
A S/Model

TLEH

Position and Way No.
BHEER

Effective Section Area (mm)
®EQR”

Port Size

TAEfT IR

Working Medium

H;EAR

Motion Pattern

EREN

Working-pressure
BAWEN

Max. Pressure Resistance
TERE

Voltage range

BETE

Power Consumption

FRE

Power Consumption
BN RRIFER
Insulation & Protection Class
LR

Wiring Form

o AESE
Highest Action Frequency
B A2 il e )

Shortest Excitation Time

4V110-M5 4V120-M5

ZhEB
Two-position Five-way

10mm?(CV=0.56)

3V110-M5 3V120-M5

10mm?(CV=0.56)
HE=HR=HS=M5x0.8

4V130C-M5 4V130E-M5
4V130P-M5
=RB
Three-position Five-way
7mm?(CV=0.40)

Z{iL =&/ Two-position Three-way

Air Inlet=Air Outlet=Exhaust=M5x0.8
240K T iERIZ S/ 40 Micron Filtered Air

BEEOR FRERE BER
Port size Standard Voltage T AR TR
2B R ATEL M5: M5 x 0.8 DC12v LD: Z i Tin 73t
10: LWL E 06: 1/8" DC24v LD:: A& ATmFR
20: WKW E AC24V W5 |
30C: Wk =frEH AR AC110V Wiring Form
AC220V Blank: Standard Connector

30P: Wk = EENE LD: Brown with Lighting

Coil and Places Connector
10: Single-head Double-position LD+: White with Lighting
20: Double-head Double-position Connector

30C: Double-head Three-position Close Type
30E: Double-head Three-position Exhaust Type
30P: Double-head Three-position Pressure Type

W: Lead Wire Type

4V130C-06 4V130E-06
4V130P-06
=R
Three-position Five-way
9mm?(CV=0.5)

4V110-06 4V120-06
ZfEE
Two-position Five-way
12mm?(CV=0.67)

3V110-06 3V120-06

Z{iL =&/ Two-position Three-way
12mm?(CV=0.67)

#S=HS=H5=G1/8
Air Inlet=Air Outlet=Exhaust=G1/8

MERFEZ R/ Inner Guide Type
0.15~0.8MPa
1.2MPa
5~50C
+10%

AC:2.5VA DC:2.5W

F&%. 1P65 F Class. IP65

H £ sk 7/ Lead Wire or Connector type

7 F %/ 5 Cycle / Sec

0.05%5/ 0.05 Second




Bl -

XINGUANG PNEUMATIC

EIKIPC

() $ME R~ Overall Dimension
[4V110-M5 )

4V110-06 )

A B A B
535 535
28 225
m cmlm l
|
I
Lﬁﬁ,ﬁ T )
—— T
5-M5 X0.8 12_5 433 : 5-G1/8" —Lz_s i 2- 433
-t - LV ©
‘_Zg ? 3 o M 3
[o | 2033 & | < j? ] 2033
~ o 2 I [ 53 ©
& © I .39/ . e UL I - 8 | ®
@ N g = [ #
Dol & s [ =8 _ - S l{=
0 -l N I} - e
s e i3 ’ T
13 S . e na .
ie z 12 2z
o 18
4V120-M5 )3 4V120-06 )
A B A B
535 535
325 225
/) 0 D)
| & i Q
I I
— i i m n R
‘ |
i 5-M5 X0.8 4 P i 5-G1/8" 1 25 2-433
\ fl2s B S s BRVas
__w 2 . T - | 2033 4
. ° of 6]3 77| _2-03.3 ) of ? {7] 2-933 i "
o ¥ e S | He T o ) —
:¥ =8 i 9 -JF H
R . e
o g g i 1 e g ’AL o s
o k== B 8 i 3 ©
|
| | 3
‘ @snsn] [c:t1:0 R
13 27 [REN 27
e L |

4V 130-06 )3

AB A B A B AB A B A B
L=ARYNF A= =ARAVAPS A==\ RIF7i=1 =AY FFA= L= ANVAVAPFA= =AY IFFi=
a3 P RP RPS [ RPS
53.5 53.5
325 325
(e:0:0] (e:0:0] /M
‘ i
i @ | l
‘ i
— o BN b
‘ \
_] _}
| o ] | Jes
| 5-M5 x0.8 2433 T 5.G1/s"
‘ 2- 433 = i . 2- 433
7 5 5 2-03.3
e © [ i & Y ks
3| el C © ‘ o fo 0]
5 lEp 8 :[ g Blel o e
, e o ¢ 2|
'1’ & 1@ ¢ :’F H
@) 2 )|
2 s iy mm e Sl Ty e :
8 1 ° 3 @ 3| b= g B
|
|
[ o 1 [
puse - (@:61:0)
REN| 27 15 27
18 18




=Sl

XINGUANG PNEUMATIC

EIKIPC

() MR~ Overall Dimension

3V110-M5 )

NC

NO

FRWACIC AR
PR PR

PR 3
535 535
325 325
i | ﬁ rm,
] 3-Ms | s-Gis"
/ f : @ 2-433 :f ©
. 2511, i 3 | 2501, 2
og Lo | e <§ i
e & i ] & @D e
H O, Lo | @ Lo -
b €_"’ < I , b = ® | S « =
T = T = 5 — P
7 13 Al 1] -
2-033 27 " 2-03.3 7 1:
18 .|

3V110-06 )

3V120-M5 )3 A

3V120-06 )3 A

PR PR
535 535
325 325
[T fingn| [T
é é @
S — |
3:M5 il 3-G1/8" b g 33
o 28]l i 2ol -
lo ] i B Lo i
e o ® ° © "
NN 2083 | 8 - - 20337 | 8 N
| 79 I I E o
. i Nz o
@ i @ %i © © T « ©
2 § 8 3 = 8 g 3 i ;
] ‘ Ad | K S
i i i &
27 2 2 Kl
13 13
18 18




WS
EIKOPC =xi.2
XINGUANG PNEUMATIC

4V200% 5l easiim

4\/200 Series Solenoid Valve

() T8 Ordering Code

4V 2 10 - 06 AC220v - W
I | I

EX e ] BEOR R R e 415
200%7%! Port size Standard Voltage =T, R FR
Series Code £ R i 06: 1/8" DC12V LD:F & KT im T
200 Series 10; B E 08: 1/4" DC24v LD:: &5 ATis F 3
20: MKW E AC24V Wi &R
- 30C: Mk =HFE AR AC110V Wiring Form
O . 30E: Wk =frBEHSE AC220V Blank: Standard Connector
4V: Z(S) R R sl =g - U
3V — (= B 30?. W= EENE LD: Brown with Lighting
Specification Code Cil ;.md Places . Connect.or R
AV T " 10: Single-head Double-position LD+: White with Lighting
: Two (Three)-position o
Five-way Solenoid Valve 20: Double-head Double-position Connector
Y 30C: Double-head Three-position Close Type W: Lead Wire Type

3V: Two-position Three-

way Solenoid Valve 30E: Double-head Three-position Exhaust Type

30P: Double-head Three-position Pressure Type

() #4& Specification

B S 4V230C-06 4V230E-06 4V230C-08 4V230E-08
Model 4V210-06 4V220-06 4V230P-06 4V210-08 4V220-08 4V230P-08

f s ZAHE =AEE A& ZEB
Position and Way No. Two-position Five-way Three-position Five-way Two-position Five-way Three-position Five-way

HHEEN 14mm?(CV=0.78) 12mm?(CV=0.67) 16mmZ(CV=0.89) 12mm?(CV=0.67)

Effective Section Area

Zl S/Model 3V210-06 3V220-06 3V210-08 3Vv220-08

Eazﬁfind Way NO. ZfI=3& / Two-position Three-way =& / Two-position Three-way

AMEER 20\ 2o\
Effective Section Area (mm) 14mm*(CV=0.78) 16mm<(CV=0.89)
EEORZ HE=HS[=HS=G1/8 HE=HS=0G1/4" H=S=G1/8"

Port Size Air Inlet=Air Outlet=Exhaust=G1/8” Air Inlet=Air Outlet=G1/4" Exhaust=G1/8"

V:\II%JjEn{gTMﬁﬁe\dium 240K ZiE Rz = / 40 Micron Filtered Air

HEANX RER%ESR / Inner Guide Type

Motion Pattern

EMES 0.15~0.8MPa

Working Pressure

RAMEN

Max. Pressure Resistance 1.2MPa
TIERE o
Voltag;nnR::ge E=E0T
RESEE £10%
Power Consumption -

FHEE AC: 45VA  DC:3W

Power Consumption

i R BHIPER F4. IP65/F Class. IP65

Insulation & Protection Class

EE5 31750 o i
Wiring form H £ iR T3 / Lead Wire or Connector type

B IESE H# AR /5 Cycle / Sec

Highest Action Frequency

B K2 i B 18] 0.05%b / 0.05 Second

Shortest Excitation Time




(o) Uy H _Fidmid

() MR~ Overall Dimension
4v210-06 )

A B

N/

RPS

4V220-06 )3




=SNS5l 7

XINGUANG PNEUMATIC

EIKIPC

() 9pM2R~F Overall Dimension
[ 3V210-06 - NC NO

3v210-08 )] NC No

A A A
ERTASITARYS LALRE L=
665 66.5
40 40
T fuwnim :
! |
|
@
H * || 4
B i
3-G1/8" ﬁﬁ% f 2032 3-G1/4” ﬁﬂg—f‘ ) | 2z
- ? §+i 2 | g‘; Do e {
: & s — - € } T
° 2 15—(? 8 A 8 é? 8
15 r B
s L9 o A i amr S o ¥ — &
vss/ [ . L%. - S 2-433 o 35 12;
3V220-06 )3 . 3v220-08 ) .
66.5 66.5
40 40
o s s
!
! ®
| 1 | B
} 3-G1/8" Eﬁﬁ%iﬁ $ 2- 432 _‘ 3-G1/4" ﬁﬁ%gﬁ
('B-Jg o BES ;n; 1.4
I e ol {‘4 ‘ it
N ,é 2-93.3/ ° 1_5_ii - 7 2-93.3/ o
R ] 119
i Ha o IR B
S ; ik = A ;
| e
- ‘ e
3 17
22




EINOPC =X AN

4V300% Fll esiim

4\V/300 Series Solenoid Valve

() T Ordering Code

4v 3 10 - 10 AC220v - W
I I I

RIIRES BEOR RERE j323i5

300%5! Port size Standard Voltage SRR TR

Series Code BRI 08: 1/4" DC12V LD:F&H AT FR

300 Series 10: BT E 10: 3/8" DC24V LD:ABFTiHFR
20: WL E AC24v W:B 4R

=AIEHAE AC110V Wiring Form
BEHSE AC220V Blank: Standard Connector

HAERE
4V: Z(Z )R i

. 3=/ - ) . N . .
3V: =4 = B E R g(;li.jﬁj:ﬁ;_:iEﬁﬁ; EDA Brown with Lighting
Specification Code ° " onnectpr o
L 10: Single-head Double-position LD+: White with Lighting
4V: Two (Three)-position "
Five-way Solenoid Valve 20: Double-head Double-position Connector
Y 30C: Double-head Three-position Close Type W: Lead Wire Type

Control Valve
3V: Two-position Three-
way Solenoid Valve

30E: Double-head Three-position Exhaust Type
30P: Double-head Three-position Pressure Type

() ##& Specification

4V330C-08 4V330E-08
4\V330P-08 4V310-10 4V320-10

=HE ZfhiE
Three-position Five-way Two-position Five-way

18mm?(CV=1.00) 30mm?(CV=1.68)

4V330C-10 4V330E-10
4V330P-10

=HE
Three-position Five-way
18mm?(CV=1.00)

e
Model 4V310-08 4V320-08

OB Zfihi@
Position and Way No. Two-position Five-way

BAYBER 25mm?*(CV=1.40)

Effective section area

3V310-10 3Vv320-10

#l S/Model 3V310-08 3V320-08

lﬁ;ﬁ)ﬁnd Way NO. Z{I=i@ Two-position Three-way Z{I=i@ Two-position Three-way

AREER 25mm?(CV=1.40) 30mm?(CV=1.68)

Effective Section Area (mm)
EEOE HS=HS=H5=CG1/4" HE=HS=G3/8" HS=G1/4"
Port Size Air Inlet=Air Outlet=Exhaust=G1/4” Air Inlet=Air Outlet=G3/8" Exhaust=G1/4"

I . ' ) )
vﬁfnﬁfm 401K TR =S / 40 Micron Filtered Air

MIEAR MERES R / Inner Guide Type

Motion Pattern

EREAD 0.15~0.8MPa

Working Pressure

BRAWEN 1 2MPa
Max. pressure Resistance ’
TIERE L
Voltage Range 5~50C
RESEE +10%

Power Consumption

FERE AC: 45VA  DC:3W

Power Consumption
BB R BHIFER F4%. IP65/F Class. IP65

Insulation & Protection Class

it H £ R 5iH F3X / Lead Wire or Connector type

Wiring Form

I ERE H# TR /5 Cycle / Sec

Highest Action Frequency

B 25 il 14 B (8] 0.05%) / 0.05 Second

Shortest Excitation Time




(o) U1y H _Fumit

) 2R~ Overall Dimension
ST < o

ERUA IV ARY=
PR PR
69
40 R
3-G1/4" hﬁi‘f ; ALE% 2-94.3
ad o
N . P
o~ f) . \ ©
E ° 2 713 s .
2-@4.3/.‘0—5—1 o 2
27
3V320-08 ) .
HAlLP
69
40
é
-
|
3.G1/a" mJﬂ-l—* 2-04.3
Tard i .
b o 5| A
8 A 2-04.3 "’ |8
o & 12}
105
u, il o [F]
e . e
Q °
. _— o
40 20

3V310-10 ) e No

3V320-10 )3 \




‘J xgl c XINGUANG PNEUMATIC

4V400% Fll esiim

4\V/400 Series Solenoid Valve

() iTMIE8 Ordering Code

4V 4 10 - 15 AC220V - W
I I I

Ry BEEOR TR R BEER
400%7% Port size Standard Voltage ERARERFR
Series Code LB RALE 15: 1/2" DC12V LD:ZF a5 kTim 3%
400 Series 10: B E DC24v LD:A&F T FR
20: WKL E AC24V W:5 |2
- 30C: Mk = FEE A AC110V Wiring Form
WV (S EE : ; AC220V Blank: Standard Connector
30P: WMk ={rEEHE

LD: Brown with Lighting
Coil and Places Connector
10: Single-head Double-position LD+: White with Lighting

3V: Z{I= i@ AR
Specification Code
4V: Two (Three)-position
Five-way Solenoid Valve
3V: Two-position Three-
way Solenoid Valve

20: Double-head Double-position Connector
30C: Double-head Three-position Close Type

30E: Double-head Three-position Exhaust Type
30P: Double-head Three-position Pressure Type

W: Lead Wire Type

) ##8 Specification

LI

Model

LB

Position and Way No.
BHEER
Effective Section Area
s

Model

{LEE

Position and Way No.
BHEER
Effective Section Area (mm)
®EQRZ

Port Size

THENR

Working Medium

H;EAR

Motion Pattern

EREN

Working-pressure
BAWEN

Max. Pressure Resistance
TERE

Voltage Range

BETE

Power Consumption

FRE

Power Consumption
@S RIHIFER
Insulation & Protection Class

EERR
Wiring form

B EEE
Highest action frequency

i K5 B 5 B ]

Shortest excitation time

4V430C-15

4V410-15  4V420-15

4V430E-15 4V430P-15

ZfLEE
Two-position Five-way

50mmZ(CV=2.79)

ht b B
Two-position Five-way

30mm*(CV=1.68)

3V410-15  3V420-15

Z{I=i® Two-position Three-way
50mm?*(CV=2.79)
HE=HS=H#S=G1/2" Air Inlet=Air Outlet=Exhaust=G1/2"
ZA0TK IR =

MEBESK  Inner Guide Type

40 Micron Filtered Air

0.15~0.8MPa

1.2MPa

BE50)C

+10%

AC:45VA DC:3W
F&&. P65 F Class. IP65
H#&xeim T Lead Wire or Connector type

#S#AR  5Cycle/Sec

0.05%% 0.05 Second




Ljld ==
£J XOPC B35
XINGUANG PNEUMATIC

() 9p2R~F Overall Dimension
ava10-15 ) R . (/71

A B
RPS 4V430'1 5 ) 30C 30P 30E
AB A B A B
RPS RPS RPS
74
ammn
® £1
I 5-G1/2" 4.3
ez /M v 2.05.5 j}‘ .
2 o
- o LD N
.=
AN o 8 .4 i
A J
N 9 Y 4
7 P |# ek ol |
N 34 ] 50

3V410-15 ) N o




tJ xgl c XINGUANG PNEUMAT!C —

AM % Fllir=tim

4M Series Namur Valve

() iTHIE8 Ordering Code
aM 210 - 08 - AC220V L

MBI BEOE FRERE

AM IR R Port Size Standard Voltage

Specification Code 08: 1/4" DC12v

4M Namur Series 10: 3/8" DC24V
B RATEL AC24V i%i%ﬁéiﬁl
210: 8245 AC110V = AR TR
220: 4% AC220V G5 &NL&E
310:884% LsiE AT B
320: 345 Wiring Form
Coil and Places Blank: Standard
210: Single Operated Connector.
220: Double Operated G: Lead Wire

Type Coil

310: Single Operated

320: Double Operated L: With Lighting

Connector Coil

) EHFFS Graphic Symbol
() #4& Specification

4M210-08 4M220-08 4M310-10 4M320-10

TENR = i i i
Workin’g Medium ZA0MKTIEM S 40 Micron Filtered Air
Mnjjog;'znjgaitem AERFESK  Inner Guide Type
e ZfIFHiE Two-position Five-way

Position and Way NO.

BREER 14mm?(CV=0.78) 16mm?*(CV=0.89)

Effective Section Area

BEEQOR MR A T - FHSAIr Inlet=G1/4
oo #HSAIr Inlet=HFSExhaust=G1/8 HES Exhaust=G1/8
S5
Llflblr'iacate REZE Not Necessary
%ﬁf_llijj 0.15~0.9MPa
orking-pressure
RAME S
Max. Pressure Resistance 1.2MPa
TR o
Operalingirzemperalure -5~60°C
o -15% ~ +10%
Voltage Range
E%EE'% ) AC380V: 2.5VA, AC220V: 2.0VA, AC110V: 2.5VA, AC24V: 3.5VA DC24V: 3.0W, DC12V: 2.5W
ower Consumption
R BIPER
Insulation & Protection Class F%. IP65 / F Class. IP65
ZEREX -+
Wiring Fo::m G=L / Gorl
AR -
Higgsl Action Frequency HUHEKX 5 Cycle / Sec
SRR 9 0.05%) Second

Shortest Excitation Time




L] = E]]
LIKOPC =0
XINGUANG PNEUMATIC

() $ME R~ Overall Dimension

4M210-08 )] I 4M220-08 ) Ao
W\ /- N/

RPS

[ [

G1/4"

116.5
i

G1/4"

- Vand
—{g:@' 2-0183%1.4 b N//—

0\
] 2-04.3 : > = | 2-94.3

169.8

N

aF
r@\@
|
o QqQ

[
l

@
le22_,| 29 o s
35 8
|
CEIIED [8:0:8)
2 35

4M310-10 ) I 4M320-10 ) i s

RPS s
69 69
40 40
[e:a:0] [@:0:0] [@:0:0]
|
» il = I i |
! _l.Zi ﬁ 2-G1/4" | ,_Lii {111 2-G1/4
i ;] — Ve [ o
| ¢ - D | e3e | D | cue
W Pk i L 2-020%1.4 7 e
\ o Ej " \ o TIO T L/
| | || | B o [[O
}{ WM A s }{ \\J:\z-ebss A
| i of | P j | ‘
I i z | E 3
2 - e ey NERE
40 S e
¢
27 P e




‘ J xgl c XINGUANG PNEUMATIC —

4A100% T sizim

4A100 Series Pneumatic Control Valve

() iTHIES Ordering Code

4A 1 10 - 06
' I

|
RIS EEOR

100%&%1 Port size
Series Code B R A M5: M5 A0.8
100 Series 10; B E 06: 1/8"

20: WKL E
MARKED
AN (L HBSER
=S
Specification Code
Five-way Solenoid Valve
4A: Two (Three)-position
Five-way Pneumatic Con-
trol Valve
3A: Two-position Three-
way Pneumatic Control
Valve

30P: MK =(IEE HE

Coil and Places

10: Single-head Double-position

20: Double-head Double-position

30C: Double-head Three-position Close Type
30E: Double-head Three-position Exhaust Type
30P: Double-head Three-position Pressure Type

() ;ML Specification

4A130C-M5 4A130E-M5
4A130P-M5

=SuREB ZEE
Three-position Five-way Two-position Five-way
7mm?(CV=0.40) 12mm?(CV=0.67)

4A130C-06 4A130E-06
4A130P-06

=HE
Three-position Five-way
9mm*(CV=0.5)

A S/Model 4A110-M5 4A120-M5 4A110-06 4A120-06

B k(75 3]

Position and Way No. Two-position Five-way

AHBER 10mm?(CV=0.56)

Effective Section Area

A S/Model 3A110-M5 3A120-M5 3A110-06 3A120-06

BLBE — =3 iti
Position end Wy No. Z{iL =@/ Two-position Three-way

ﬁﬁ&ﬁ ,D\ 2 = 2 —
Effective Section Area (mm) 10mm (CV_0-56) 12mm (CV—0.67)
BEEOR HR=HS=HS=M5%0.8 HE=HS=H5=G1/8
Port Size Air Inlet=Air Outlet=Exhaust=M5x0.8 Air Inlet=Air Outlet=Exhaust=G1/8

TR ZA0R KT IR A ZE S/ 40 Micron Filtered Air

Working Medium

HEAR REBFES T/ Inner Guide Type

Motion Pattern

ERER 0.15~0.8MPa

Working-pressure

RAMEN

Max. Pressure Resistance 1.2MPa
TIERE -
Voltage range

RESER +10%

Power Consumption

FEHEE AC:2.5VA  DC: 2.5W

Power Consumption
BB RBPER F&. IP65  F Class. IP65

Insulation & Protection Class

LR, H £ X8k T34/ Lead Wire or Connector type

Wiring Form

= I EE S#F R/ 5 Cycle / Sec

Highest Action Frequency

B 15 il 14 B (8] 0.05%b/ 0.05 Second

Shortest Excitation Time

Z{sL =i/ Two-position Three-way




Lhg =
£I XOPC B35l
XINGUANG PNEUMATIC

() $ME R~ Overall Dimension

4A110-M5 ) 4A110-06 ) .
G1/8"
u - :
T 5-M5 X0.8 = T 2033
2-43.3
» T @
5 ?_ 3 R @ .
; —’@ez{ T =] &
3 = [

4A120-M5 ) 4A120-06 )
2-G1/8"

5-M5 x0.8 2. 033

4A130-M5 ) 4A130-06 )

2 o y
N 17 Y- - -

5
i

B

2-G1/8"

| 5-M5 %0.8 033




EINOPC =X AN

() MR~ Overall Dimension

3A110-M5 ) NG NO 3A110-06 ) JE o

G1/8"

G
T i il il i i
“ ams S T 20as el eV S S 2-0as
é{}'i*’ - 0d &— ~| © Bo G—
g 2-03.3 - 8 2-43.3
e s r g) ° e s S @ =
D 8 a 8
or 51 NIAY o P
< © © « 0 T ©
- - o - RS e
= At == E=1 had et o
77 15 2. red e
27 13 27
. 13
18

3A120-M5 )3 \ 3A120-06 ) \
P R PR
G1/8" G1/8"
T g il i
U ams et U oess T 3-G1/8" - T 2- 033
ed o & e Ho q4—
© 2l & 2-933 } ® © 2 s 2-93.3 | 63 °
fan D
DA b ® \Nige i ®
o
o 3 o 3
< 3 © © & 0
o | S AT arn || prn [ Y oI |l
il i il il il iR
7.7 13 20, 77 L
27 18 27 13
18




(o) U1y H _Fumit

4A200 5 sz

4A200 Pneumatic Control Valve

() T8 Ordering Code

4A 2 10 - 06
|

RIS BEEOR
200%%! Port size
Series Code 2B R 06: 1/8"
200 Series 10: BIWE 08: 1/4"
20: WKL E
30C: W3

AR

AN (I HBSER
3A ZRI=BSIEE
Specification Code

4A: Two (Three)-position
Five-way Pneumatic Con-
trol Valve

3A: Two-position Three-
way Pneumatic Control
Valve

30P: WK=MEEHE
Coil and Places

10: Single-head Double-position

20: Double-head Double-position

30C: Double-head Three-position Close Type
30E: Double-head Three-position Exhaust Type
30P: Double-head Three-position Pressure Type

() #;ME Specification

B8
Model
LB ZfIhig

Position and Way No. Two-position Five-way
BYEER 14mm?(CV=0.78)

Effective Section Area

4A230C-08 4A230E-08
4A230P-08

XN ]
Three-position Five-way
12mm?(CV=0.67)

4A230C-06 4A230E-06
4A230P-06

=A@
Three-position Five-way
12mm?(CV=0.67)

4A210-06 4A220-06 4A210-08 4A220-08

ZfEB
Two-position Five-way

16mm?(CV=0.89)

# S/Model 3A210-08 3A220-08

3A210-06 3A220-06

ORTE — = it — =i _positi .
Position and Way NO. ZfI=3& / Two-position Three-way Z{II=i# / Two-position Three-way

EHHER — o
Effective Section Area (mm) 14mm (CV_O'78) 16mm (CV—089)
EEORE #E=HS=HS=G1/8 HE=H5=G1/4" H5=G1/8"

Port Size Air Inlet=Air Outlet=Exhaust=G1/8" Air Inlet=Air Outlet=G1/4" Exhaust=G1/8"

V:\Il—;f:frﬁgdium 2407 KT AIZ S / 40 Micron Filtered Air

HIEAR RER%ES R / Inner Guide Type

Motion Pattern

ERER 0.15~0.8MPa

Working Pressure

BAMEH

Max. Pressure Resistance 1.2MPa
TR -
Voltaggnéaxnge 5~50C
B £10%
Power Consumption x

FERE AC:45VA  DC: 3W

Power Consumption
@R BHIP SR FZ. IP65/F Class. IP65

Insulation & Protection Class

BEEFR srman )
e H £ 5% F = / Lead Wire or Connector type

= ERE F#F % /5 Cycle / Sec

Highest Action Frequency

B K2 L e iE) 0.05%} / 0.05 Second

Shortest Excitation Time




(o) Uy H _Fidmid

() $ME R~ Overall Dimension

4A

6 )

4A220-06 ) 4A220-08 )

4A230-06 )
0C 30P 30E

3
- T - - -




(o) U1y H _Fumit

() 9pM2R~F Overall Dimension
anz1000 SN

CRVASTARY
PR PR
G1/8"
i i i
g 3-G1/8" T 4
2- 432
/ 2-43.3
o Bor G—
i e ’
8 8 N g
| [15]
2
IR . Kl .
= : <
8
M -

3A220-06 )3 .

3A210-08 )3

3A220-08 )3




‘ J xgl c XINGUANG PNEUMATIC —

4A300 %5 s

4A300 Series Pneumatic Control Valve

() T Ordering Code

4A 3 10 - 10
I

RIIKRES EEOT
300%%! Port size
Series Code 2% B B ATE 08: 1/4"
300 Series 10: B E 10: 3/8"
20: WKL E
. 30C: MK =ML E AR

AU A 30E: WSk = B2

AA (SN EBSIER 30P: WAL= BE AR

3A: M= BN o

Coil and Places

10: Single-head Double-position

20: Double-head Double-position

30C: Double-head Three-position Close Type
30E: Double-head Three-position Exhaust Type
30P: Double-head Three-position Pressure Type

Specification Code

4A: Two (Three)-position
Five-way Pneumatic
Control Valve

3A: Two-position Three-
way Pneumatic

Control Valve

() ;ML Specification

Eilie=s 4A330C-08 4A330E-08 4A330C-10 4A330E-10
Model 4A310-08 4A320-08 4A330P-08 4A310-10 4A320-10 4A330P-10

A% v ¥ =A@ v ¥ =A@
Position and Way No. Two-position Five-way Three-position Five-way Two-position Five-way Three-position Five-way

HHEER 25mm?(CV=1.40) 18mm?(CV=1.00) 30mmZ(CV=1.68) 18mm?(CV=1.00)

Effective section area

#l S/Model 3A310-08 3A320-08 3A310-10 3A320-10

B H
Position and Way NO. ZfI=i& Two-position Three-way —fI=i& Two-position Three-way

HHEER 25mm?(CV=1.40) 30mm2(CV=1.68)

Effective Section Area (mm)
BEOR S =S =H5=G1/4" HS=HS=G38" HS=G1/4"
Port Size Air Inlet=Air Outlet=Exhaust=G1/4” Air Inlet=Air Outlet=G3/8" Exhaust=G1/4"

I . ' ) )
vﬁfﬂf_;mﬁfwum ZA0%3K T RYZ S / 40 Micron Filtered Air

FEARX RERSESR / Inner Guide Type

Motion Pattern

ERED 0.15~0.8MPa

Working Pressure

RAWEN 1 2MPa
Max. pressure Resistance .
IiERE L
Voltag;mR::ge 5~50C
RESEE +10%

Power Consumption

HEE AC:45VA  DC: 3W

Power Consumption

iR BHIPER FZ. IP65/F Class. IP65

Insulation & Protection Class
AR

Wiring Form

& ESIER H# TR /5 Cycle / Sec

Highest Action Frequency

AR E 0.05%) / 0.05 Second

Shortest Excitation Time

H £ 5k F3X / Lead Wire or Connector type




(o) U1y H _Fumit

() $ME R~ Overall Dimension

3A310-08 ) 3A310-10 )
NC NO NC NO
. PR PR PR
G1/8" G1/8"
i R T T 7
| G e ross S s 3-G3/8" e ross S I
o B P a4 oo of P G
2 ' 8
B 8 | 8 3 8 g
B e .
& g i 2 S = i °
105
e 22\; L 40 Zg
3A320-08 ) 3A320-10 )
A A
2-G1/8" 2-G1/8"
T T T ] = Ty —
it . ilh il it : il i
S 2-04.3 2143 3-Go/8 ) 2-04.3 : 2-04.3
o ] o a4 vy P —
3 8 8 3 B gl g M| g
i ® = I
o 2 3
# L 1l s 8 8 o
el
lgi 20 10.5|
40 o7 . 40 23




EINOPC =X AN

4A400 %5 sz

4A400 Series Pneumatic Control Valve

() iTMIE8 Ordering Code

4A 4 10 - 15
I

RIRAEG EEORZ
400&%! Port size
Series Code BRI 15: 1/2"
400 Series 10: BIMALE

20: MKMLE
30C: MK = EEHFHEL

MRS :

4A: Z(ERBSIZR 30P: ML= EENE

3A: I =@SIFR Coil and Places

Specification Code 10: Single-head Double-position

4A: Two (Three)-position 20: Double-head Double-position

Five-way Pneumatic Con- 30C: Double-head Three-position Close Type
trol Valve 30E: Double-head Three-position Exhaust Type
3A: Two-position Three- 30P: Double-head Three-position Pressure Type
way Pneumatic Control

Valve

() ;ML Specification

F 2
ﬁo?el 4A410-15 4A420-15 4A430C-15 4A430E-15 4A430P-15

LLBEL ZIHE
Position and Way No. Two-position Five-way
BUBEIR 50mm?(CV=2.79)

Effective Section Area

ZNEEB
Two-position Five-way
30mm?*(CV=1.68)

B g

Model 3A410-15 3A420-15

LB e T .
Position and Way No. Z{I=i& Two-position Three-way

BYBEER 50mm?*(CV=2.79)

Effective Section Area (mm)

i%ﬁiﬁ HE=HS=H5=G1/2" Air Inlet=Air Outlet=Exhaust=G1/2”

vﬁfﬁﬁﬁdm ZA0KTIERIZ=S 40 Micron Filtered Air

HEARX HE SR Inner Guide Type

Motion Pattern

EREND 0.15~0.8MPa

Working-pressure

RAMEN

Max. Pressure Resistance 1.2MPa
TIERE L
Voltag;mé:;ge 5~50C
BESE +10%

Power Consumption

FEHE AC:45VA  DC:3W

Power Consumption

i R BRIPER FZ%. IP65  F Class. IP65

Insulation & Protection Class

R HegRainFxX  Lead Wire or Connector type

Wiring form

= EE S#FAR  5Cycle/Sec

Highest action frequency

B 52 T FE AT (8] 0.05%  0.05 Second

Shortest excitation time




Ljld ==
£J XOPC B35
XINGUANG PNEUMATIC

() $ME R~ Overall Dimension

4A410-15 )3 A s 4A420-15 ) e
4A430-15 ) 30C 0P

0|

30E
AB A B A B
N 177 NIV N {77
_}\""‘_ T 2-G1/8"
_)_ 5-G1/2" : 2043 _T-I‘_ ‘.‘J" Y
b | ztes ||| sou 2-443
H J
3| [|-CD) e 8
§ e 8| || D o ® 8
At de ISR
)| 5 HIOrl +» L.
i i i
.LJ 50
3A410-15 )3 NG NO 3A420-15 ) .
A A . .
2-G1/8"
“ G1/8" I J T ” T
i i yoas 3-G1/4" 2-04.3 2-94.3
3-G1/4 2-04.3 J/ I\e @
—o g @




‘J xgl c XINGUANG PNEUMATiC

4V100-400 % 5l e

4V100-400 Series Baseplate

() EEEITHEY Baseplate Ordering Code

100M - LIF
| |

RIS EEHE

100M: 100 & %!l F iR B Joint Base Number
200M: 200 51 FA K EE 100M: 1~20F
300M: 300% %! F JEE 2 200M: 1~20F
400M: 400 %1 F B 300M: 1~20F
Series Code 400M: 1~20F

100M: Baseplate for 100 Series Use
200M: Baseplate for 200 Series Use
300M: Baseplate for 300 Series Use
400M: Baseplate for 400 Series Use

() BH#RiTIE Blind Plate Ordering Code

200M - B
| |
A7I{XFD/ Series Code BHRKS
100M: 100% 5! f1/For 100 Series Use B: REEFI B
200M: 200 %1 f/For 200 Series Use C: &3t R
300M: 300 %I Fl/For 300 Series Use D: E#IRET

400M: 400%%1f/For 400 Series Use

() MR~ Overall Dimension

<

Blind Plate Code
B: Blanding plate
C: Sealing gasket
D: Screw

(2}

I3

=

RIS

ar
010

I

h@)m
s
:E‘

PRI S

Inside Diameter/Symbol

100M-oF 58 43 20 42 | 183 19 5 140 |(N-1)*19+38| 155 | G1/4 | 40 30 25 27
200M-0F 59 50 21 43 | 224 | 23 6 170 |(N-1)*23+46| 189 | G1/4 | 43 32 26 35
300M-0F 75 64 26 45 | 273 | 27 6 189 |(N-1)*28+54| 208 | G3/8 | 53 48 30 40
400M-0F 98 94 32 55 | 343 | 315 7 222 |(N-1)*35+63| 243 | G1/2 | 68 67 38 50




(o) U1y H _Fumit

BM %l muim

BM Series Solenoid Valve

() 1T858 Ordering Code
BM 520 - D

e RIS B AL
Type Series No. TH: BIWLE

D: WEWILE

T: Wh=E

Loop and Places

Blank: Single-head Double-position
D: Double-head Double-position

T: Double-head Three-position

() #4& Specification

£ =S Model BM520 BM520D BM520T

EH ZRIAE =A@
The position counting Two-position Five-way Three-position Five-way
BREER 16mm?(CV=0.89) 12mm?(CV=0.67)

Effective Sectional Area

THENR Z4015K 53 A= 5 / 40 Micron Filtered Air

Working Medium

HIEHFR AER%ES R / Inner Guide Type

Motion Pattern

ERESN 0.15~0.9MPa

Working-pressure

RAMEN

Max. Pressure Resistance 1.2MPa
TIERE B
Operatlling?emperature 5~50
RESE

Voltage Range +10%
RRE AC: 55VA  DC: 4.8W

Power Consumption

@RISR FZ. IP65/F Class. IP65

Insulation & Protection Class

i H £ 8iRm 730/ Lead Wire or Connector type

Wiring Form
B -
Higgst Action Frequency HWHEKX /5 Cycle / Sec

B G h AR 8] 0.05%) Second

Shortest Excitation Time

() MR~ Overall Dimension
[BM520 . [ BM520D . [ BM520T .

13.5  36.0 | _36_0_1 36;.0
Nl B g NN 8 B % ,,,,, %_, % BM?{»_«H?_ME
P RE | PR E A
Lsis ] \a-6 1_54_19:2& 3—6\—12;_%9_ 34:\21:/3{?9;2&
i
h o E| rho_ ch g .—o—.‘:f : h o
i - e HE B e e —:
215]20.q| 242 [0 | \e-oas [L20 [\2-0a3
130 ’ 19 | 216
L He-a -+ o0 1 EDe i@ 4o
12 38.0 2-93.2 £ 2-9¢3.2




tJ xgl c XINGUANG PNEUMAT!C

3V1 &5 st

3V1 Series Solenoid Valve

() #4& Specification

[3V1-06

L40KRIR ML IER =

£ = Model

THENR

Working Medium

HERR
Motion Pattern
®EOR

Port Size
BERE
Ambient Temperature
SRR
Gas Temperature
HRAER

Air Outlet Diameter
pibic

Lubrication

fEREN

Working-pressure

RAMEN

Max. Pressure Resistance

FEHE

Power Consumption

RIPER

Protect Class

RN

Power Connection Form

AR R

Material of Body

B EESER
Highest Action Frequency
it

Insulation

RESER

Voltage Range

T A2 YRR ()

Shortest Excitation Time

() T Ordering Code

3V1 -

06 P - AC220v - L

BRI

VA Bt vaS - :R 274
i3]

Specification
Code

3V1: Two-position
Three-way Sole-
noid Valve

E#130/Direct Drive Type

-10~+60C
5~60C
1.0mm
REZ/ Not Necessary
0~0.8 MPa
1.2 MPa
AC:4.5VA DC:3.0W
IP65
GeiL / GorlL
$84& £/ Aluminum alloy
£#b+%/ 10 Cycle / Sec
F&/ F Class
+10%

0.05%) Second

“5/40 Micron Filtered Air P i
JUBNRIY
1/8” ® o
2433 P <
e PCAE]
15 155 sce/|, 22 |
4-953 30

BEEOR EEAR FRERE
Port Size TR EER Standard Voltage
M5: M5x0.8 P:iRiER DC12v
06: 1/8" Connecting Type DC24V
Blank: Pipe Con- AC24V T
nection Type AC110V E&ﬁiﬁ i
P: Plate Connec- AC220V EGL s‘lgﬁéﬁg %
fion Type LR
Wiring Form
Blank: Standard
Connector
G: Lead Wire
Type Coil

L: With Lighting
Connector Coil

() 9MEZR-T Overall Dimension

[T

50

r—* 4-43.5




\Valve

4]
¢

NCeAzEE
XE Series Sellene

B VA T
WA ALY

A




EIKOPG x5kl

XG %l muiim

XG Series Solenoid Valve

() T Ordering Code

XG1 120 06 AC110V L

RYREG FRERE

XGj:?z’ill BEOE Standard Voltage

)S(gr;e; Code KRR Port Size ngx

eres 1208 KR H 06: 1/8" oty

220: W KM AL
porie : ;ﬁéim AcCtOV B
330E: ittt BB HE R AC220v FE: FERTR
330P: F R T AL H i GE%?&E
Coil and Places L:_Fﬁ?‘émﬂ%@
120: Single Coil (5/2) Wiring Form

Blank: Standard Connector
G: Lead Wire Type Coil
L: With Lighting Connector Coil

220: Double Coil (5/2)

330C: Center Closed Type Solenoid Valve (5/3)
330E: Center Exhaust Type Solenoid Valve (5/3)
330P: Center Pressure Type Solenoid Valve (5/3)

() #ME Specification

Position and Way NO.

EREH

Working-pressure
EHEER
Effective Sectional Area
B HESER

Highest Action Frequency

THENR

Working Medium

TIERE

Working Temperature

HEAR

Motion Pattern
F R
Manual Operate

B R RIFER
Insulation & Protection Class
RESER

Voltage Range

EERR

Wiring Form

FHE

Power Consumption

= A2 AR ()

Shortest Excitation Time

XG1120-06 XG1220-06 XG1330-06

ZhEEB =R
Two-position Five-way Three-position Five-way

0.15~0.9MPa
12.6mm’ 9mm?
5c/sec 3c/sec
ZERIEEMMS  Air and Non-active Gas
5=50/C
AERES S Inner Guide Type
¥R IT X (E ) Keystroke Switch (Fixed) / HEFAFF % (3%£#%) Knob Switch (Choice)
F4 | F Class
FEMEME10%  Rated Voltage +10%
GeL / GorlL
AC: 3.5VA DC:3W

0.05%) Second




== i 1Ll

XINGUANG PNEUMATIC

LI K9P

() $MEE R~ Overall Dimension

XG1120-06 ) i XG1220-06 ) .
A
Max10.0 159.0 Max10.0
0.8 350 2 -9 3.5 Hol
(Manifold Hole) D -
T [t}
ol of g r3 3 ©
3| 5 e i ® B I T
19.8 |17.0 \ 2-G1/8 (2.4 - Port)
107.5 Max10.0 147.5
10.8 35.0 D =
mfl—: XG1330-06 )
4# 0[ @ 5| 30C 30P 30E
1 S v - —_—— AB AB A B
Qg e T/ s e NIV s e[/ /]
o RP RP RP
2-83.5Hole/ 102.0
{ o] — 1
. 165.0 (3 - Poaition)
148 \3-G1/8 (1.3.5 - Port)
! T o = f
‘:‘! P . o
] R Y o IS —— [N S S (R %
i i
158.5 (3 - Position)




EIKOPG x5kl

XG %l muiim

XG Series Solenoid Valve

() iTMIE8 Ordering Code
XG3 130 08 AC110V L

RIIRED BEEOR PR

XG2&5%| Port Size Standard Voltage

XG3#%! BB T A<y H 06: 1/8" DC12v

Series Code i§§§1ﬁ§ 08: 1/4" DC24v

XG2 Ser!es 230: WL E AC24V

XG3 Series 330C: 3t B AC110V EERR
330E: it 3t AR HE AC220v EEBERTFR
330P: I fE = A4 GBI E&E
Coil and Places L: HRTATLE
130: Single Coil (3/2) (5/2) Wiring Form
230: Double Coil (3/2) (5/2) Blank: Standard
330C: Center Closed Type Solenoid Valve (5/3) Connector
330E: Center Exhaust Type Solenoid Valve (5/3) G: Lead Wire
330P: Center Pressure Type Solenoid Valve (5/3) Type Coil

L: With Lighting
Connector Coil

) #M#B Specification

XG2130-08 XG2230-08 XG3130-08 XG3230-08 XG3330-08

[aGiEY =B i@ XN ]
Position and Way NO. Two-position Three-way Two-position Five-way Three-position Five-way
fERED 0.15~0.9MPa

Working-pressure

HYEER 19mm? 11.5mm?

Effective Sectional Area

= 2
= IS 5clsec 3c/sec
ighest Action Frequency

S . ) ) )
ﬂﬁn’;fﬂium =R RIEFEMMS  Airand Non-active Gas
TERE —

Working Temperature

;EAR RER%ES R Inner Guide Type

Motion Pattern

FABRAE 1 T 3 (EI%E) Keystroke Switch (Fixed) / #e5H7F 2 (2 £%) Knob Switch (Choice)

Manual Operate

BEGMERFINER FZ% | F Class

Insulation & Protection Class

R SEE
Voltage Range FEREME10%  Rated Voltage £10%

LA GHL / Gorl

Wiring Form

FERE AC: 45VA DC:3W

Power Consumption

B 52 T HE Y (8) 0.05% Second

Shortest Excitation Time




(o) (U H FumiB

() $ME R~ Overall Dimension

XG2130-08 ) XG3130-08 )

o
by
H
@
z
g
s

- |
_%m_l 3-PT1/4

114.6

XG3230-08 )3

A B

=L




EIKOPG x5kl

XG %l muiim

XG Series Solenoid Valve

() T Ordering Code
XG5 120 10 AC110V L

RIS BEOE PR

XG5%5% Port Size Standard Voltage

Series Code B T i 08: 1/4" DC12V

XG5 Series ﬁgiﬂﬁﬁ 10: 3/8" DC24V
220 WKL E AC24v
330C: I AL ) ACT10V EEHR
330E: it A B i) AC220v TERAERTFR
330P: 3 A T G5l
Coil and Places L: HiETAT%E
120: Single Coil (5/2) Wiring Form
220: Double Coil (5/2) Blank: Standard
330C: Center Closed Type Solenoid Valve (5/3) Connector
330E: Center Exhaust Type Solenoid Valve (5/3) G: Lead Wire
330P: Center Pressure Type Solenoid Valve (5/3) Type Coil

L: With Lighting
Connector Coil

() #ME Specification

#l 5 Model XG5220-10 XG5330-10

{TiBE ZIAB =B
Position and Way NO. Two-position Five-way Three-position Five-way
EREA 0.15~0.9MPa

Working-pressure

HHEER 36mm? 30mm?

Effective Sectional Area

= pm e
Al RS 5clsec 3c/sec
Highest Action Frequency

v\%ﬂ;ﬁg&um =R RIEEMMS  Air and Non-active Gas

TIERE 5~50C

Working Temperature

HEHH HERES R Inner Guide Type

Motion Pattern

FahiRfE $5:452 77 % (B %) Keystroke Switch (Fixed) / Fe§AFF % (%4%) Knob Switch (Choice)

Manual Operate

@R BRIPER FZ /| F Class

Insulation & Protection Class

RESER HiEHEME10%  Rated Voltage £10%

Voltage Range
&R GgiL / GorlL

Wiring Form

HHEE AC: 45VA DC:3W

Power Consumption

B K2 N B 18] 0.05% Second

Shortest Excitation Time




(o) (U H FumiB

() $ME R~ Overall Dimension

XG5120-10 ) e XG5220-10 ) 2

D — D —
7. 440 2-94.6 Hole
== -ﬂzh_[ i

SSRRRRIES |

XG5330-10 ) soc wop s0e

Max10.0 225.0(3 - Position) Max10.0
[

=

219.0 (3 - Position)




EIKOPG x5kl

XG %l muiim

XG Series Solenoid Valve

() T Ordering Code
XG6 120 15 AC110V L

Ex e BEEQR FRERE

XG6&7F! Port Size Standard Voltage

Series Code T (37 15: 1/2" DC12Vv

XG6 Series ﬁii‘tﬁﬁﬁ DC24v
220:W KWL E AC24v
330C: I ALA ) ACt10V EE2 7 7
330E: st =t L i AC220V EEOEHTR
330P: i [E 3 HLF G315 E&E
Coil and Places LR AT B
120: Single Coil (5/2) Wiring Form
220: Double Coil (5/2) Blank: Standard
330C: Center Closed Type Solenoid Valve (5/3) Connector
330E: Center Exhaust Type Solenoid Valve (5/3) G: Lead Wire
330P: Center Pressure Type Solenoid Valve (5/3) Type Coil

L: With Lighting
Connector Coil

() ##& Specification

Zl S Model XG6120-15 XG6220-15 XG6330-15

BEESY ZfhiE ZHEB
Position and Way NO. Two-position Five-way Three-position Five-way
ERER 0.15~0.9MPa

Working-pressure
BHAER . .
Effective Sectional Area 65mm 50mm

B =
ST S ES 2c/sec 1c/sec
Highest Action Frequency

LR =ERIEEMLAS  Air and Non-active Gas

Working Medium

TiERE —

Working Temperature

HMIEHR RERESR Inner Guide Type

Motion Pattern

FARAE 2B FF X (B ) Keystroke Switch (Fixed) / FEHIFF X< (3%£#E) Knob Switch (Choice)

Manual Operate
@I RBHIFER F4 | F Class

Insulation & Protection Class

\%E;z%ge FEMEME10%  Rated Voltage +10%

LA GHL / Gorl

Wiring Form

FEEE AC: 45VA DC:3W

Power Consumption

B %2 i HE (8] 0.05%) Second

Shortest Excitation Time




EIKOPC =0k

() 9pM2R~F Overall Dimension
[ XG6120-15 ) NN

36.0 41.0 2-84.5 Hole

‘—‘] (Manifold Hole)
=3}
ol of of 2 /§ >
R ]
395 T 34.0 2-G1/2(2.4 - Port) .
E
Lever Lockin +
8
-24.5 Hole Manual Button ﬁ <
T %
9
9| of o = 1)
ase 1T T - 5
< ©—]
415 300 |
171.0

) il
\_3-G1/2(1.3.5 - Port.

_.-

XG6220-15 )3 A8

Max10.0

235.0

Max10.0

XG6330-15 )3 a0

Max10.0

0E
B
i

NV 177k =18

o :
17k =]

[/ff=

257.5(3 - Position)

Ps

Max10.0

250.5(3 - Position)




EIKOPG x5kl

XG %5 ere

XG Series Baseplate

() KEEITISEE Baseplate Ordering Code

XG3000M - oF

E3 ] EEHE
XG3000M:XG3&%IA XG3000M:{E & &
XG5000M:XG5 %51 XG5000M:1E & iE
Series Code Joint Base Number

XG3000M: For XG3 Series Use XG3000M: Wantonly Joint

i’ 9 @ XG5000M: For XG5 Series Use XG5000M: Wantonly Joint

() 9MEZR=T Overall Dimension

XG3000M ) s hi0

2n-M4-7H X8 3n-¢7 Port 4-»5.5Hole il 7l
S T H
N @ O \O/ b O—H
oY ol o oo o2
Y oo - & o S N L\l 7 S PSS I
. O Og T g TP L
e o B Bl
12 ] o k] 1M LE] o]

XG5000M ) 20-M4-7H 78

3n-¢12.5 Port 4- 6.5 Hole il 7L

6-G3/8" Port
R12 FsRE







LI KOPG =22 05

XG220% 5 g

XG220 Series Solenoid Valve

() T Ordering Code

XG 220 - 4 - E2

C - AC1M0V -

L -

BSP

RS 4:477 18] PRERE
Model 4: Four Way Standard
- Voltage
EXS Er:pam Dwi/
Body Width E2: X ACH10V
E1: Single Coil AC220V
E2: Double Coil

C: (B3 F 5K )
P:HEIERS

R EALEHS

C: The Middle Position Close
P: The Middle Position Ventilate
R: The Middle Position Exhaust

() ##& Specification

#l S Model

XG-220-3E1, E2

XG-220-4E1, E2

BEEORKS 8A

Port Size Code
LB ol (vE T pl (v T
Two-position Five-way Two-position Five-way

Position and Way NO.

BREOR

Port Size PT-1/4
fEMRk e
Operating Fluid s /- Air

ERENEE

Working-pressure Range

i 71

Pressure Resistance

BHEER

Effective Section Area

H}

0.2~0.7MPa ‘
1.0MPa
18mm?*(CV=1.00) ‘
Rz &R i) 30ms

Answer Time

TIERE
Operating Temperature
TR/ LR
Standard Voltage

FRE

Power Consumption

RESERE

Voltage Range

BN

Insulation Class

EE
s 203g ‘ 222g 313g

5~50C
AC: 110V, 220V (50/60)Hz  DC: 24V
AC: 6/49VA  DC:2.5W
+10%

F% | F Class

232415

=\ ARk TR
G:5l&R%E
LR AT
E:BIRE (K1)
Wiring Form

EEORT
F:PTH
BSP:BSPZF
NPT:NPTZF

Joint Pipe

Thread

Blank: PT Thread
BSP: BSP Thread
NPT: NPT Thread

Blank: Standard Connector

G: Lead Wire Type Coil

L: With Lighting Connector Coil
E: Blast-proof Type (sheet1)

XG-220-4E12C.PR

ZNAEB

Three-position Five-way

0.3~0.7MPa

16mm?(CV=0.89)

() BHREIIIE Blast-proof Type Specification

BitRELR

EExm I T4

Blast-proof Class

PR R
Standard Voltage

FRE

Power Consumption

RSB

Voltage Range

YRR

Insulation Class

AC: 110V, 220V (50/60)Hz  DC: 24V

AC:4.4VA DC:5W
+10%

FZ /| F Class




(o) U1y H _Fumit

() $ME R~ Overall Dimension

[XG-220-4E1 NN [XG-220-4E2 ) ;
MM LA AR

RiPR:

@&
5@
)

n-q@

DI oo & b RO
,—Ju \2-03.2 MM

130

@ <
N2

223

223

21 3-PT1/4 3-PT1/4
) HH
2-PT1/8| 2-PT1/8, N2-64.2
36
1155 167
@) Flow Chart
XG-220-4E2CPR )}
PN BNV BRLITEE 7 N
RiP R, R PR: RiP R e \ 4‘?
XG-220-4E2C XG-220-4E2P XG-220-4E2R s 6 %
2 5 \7 K Kgf/cm’
= 5
i 4 \\
=
X3 \
2

1 )\
(o
0
500 1000 1500 2000 2500 3000
5 #E  NL/min

&

2-PT1/8,

XG-220-3E1-NO)] m XG-220-1E1-NC)} /\m

3-G1/4 2-04.2 ? g 9 3-G1/4 2-94.2 g
E% zea2 L ! K %/7 L
GF
Re) K R, i Ha §
| e 8
—Has :—i;. s 3;2- “.%1_7..
223 223




EIKIPC

=YLl

XINGUANG PNEUMATIC

XG260% 5 saagiim

XG260 Series Solenoid Valve

() T Ordering Code

XG 260 - 4 -

E2 C - AC1M0V

L - BSP

() ##& Specification

#l S Model

BEEORKS
Port Size Code
LB

Position and Way NO.
BREOR

Port Size

R
Operating Fluid
ERENEE
Working-pressure Range
i 71

Pressure Resistance
BHEER
Effective Section Area
IR

Answer Time
TIERE
Operating Temperature
TR/ LR
Standard Voltage
FRE

Power Consumption
RESERE

Voltage Range
R
Insulation Class

£

Weight

XG-260-4E1

ZfHE
Two-position Five-way

0.2~0.7MPa

18mm?*(CV=1.00)

AC: 110V, 220V (50/60)Hz

2289 ‘

BS 4:477 18] TR B E
Model 4: Four Way Standard
- Voltage
TR ET: Ll DCatV
Body Width E2: X ACI10V
E1: Single Coil AC220V
E2: Double Coil

C: A B i & 3K A
PRENERBS
RiAFEMEHS

C: The Middle Posi-
tion Close

P: The Middle Posi-
tion Ventilate

R: The Middle Posi-
tion Exhaust

XG-260-4E2

8A
ZfHB
Two-position Five-way
PT-1/4

H}

=S/ Air

1.0MPa

40ms

5~50C

DC: 24V

AC: 6/49VA DC: 2.5W
+10%

F4 /| F Class

314g

BEEOEF
JoPTH
BSP: BSPZF
NPT: NPTZF
Joint Pipe
Thread
EaRR Blanf(: PT Thread
e e g BSP: BSP Thread
ZRAERTR | or BT Thread
G:5l%&RL&E '
LR RAT S
E:FpIREL(R)
Wiring Form

Blank: Standard Connector

G: Lead Wire Type Coil

L: With Lighting Connector Coil
E: Blast-proof Type (sheet1)

XG-260-4E12C.PR

=HE
Three-position Five-way

0.3~0.7MPa

16mm?(CV=0.89)

444g

() BHREIIIE Blast-proof Type Specification

BitRELR

Blast-proof Class

PR R
Standard Voltage

FRE

Power Consumption

RSB

Voltage Range

YRR

Insulation Class

EExm I T4
AC: 110V, 220V (50/60)Hz  DC: 24V
AC:44VA DC: 5W
+10%
F4 | F Class




(o) U1y H _Fumit

() $ME R~ Overall Dimension

XG-260-4E1 ) XG-260-4E2 )

01 02 01 02
E:PE: E<P;;|:‘I|ZN
5 2
p4 ml (a %%% @D p N c»—{ € ;i\% €D
47 0! @ i\ B
23 \2-94.5 ‘ 23 \2-94.5
130 . 196 i
L] ]
3-PT1/4 3-PT1/4
%o 71 = 5 = T %o 1§ = s
| N~ F { w I~ b-:F: 7777 {74‘
i B ° “ o P e LY
H [ EIREH ii% H
2-PT1/8 N\3-04.5 2-PT1/8/ ,A,I Na-04.5
37
1155 167
O Flow Chart
XG-260-4E2C.P.R )}
102 01 02 01 02
PN NS EALITE 7
PE: PE: PE .
E-PE E/PE. E.P "g 5 \ ,.?%
XG-260-4E2C XG-260-4E2P XG-260-4E2R g \ T .
2 5 7 Kgf/cm
i g 4 \5\
- K z & \
i ] ——‘@‘FF@% —le < i . N\
23 Nz-eas ‘ 2 AN
240 | 1 \ \
(
. L]

500 1000 1500 2000 2500 3000
SPT1I4 #E  NL/min

35
jnane]
|
|
|
I
|
27
|

i i B
2-PT1/8 ,A_J N3-045




LI KOPG =22 05

XG300% 5 g

XG300 Series Solenoid Valve

() T Ordering Code

XG 300 -4 - E2

C - AC1M0V - L -

BSP

e 3:35 M FRE R
Model 4:47518) Standard EELST
3:Three Way e Voltage SR
4:Four Way ETRLE DC24V Jt: PTH
E2: W2 B BSP:BSPZF
E1: Single Coil ACT1OV NPT:NPTZF
AR E2: Double Coil AC220V Joint Pioe
Body Width P!
Thread
Q*@@E%W A Blank: PT Thread
PHENERS SRR TR BSP: BSP Thread

() ##& Specification

#l S Model

BEEORKS
Port Size Code
LB

Position and Way NO.
REOR

Port Size

R
Operating Fluid
ERENEE
Working-pressure Range
i 71

Pressure Resistance
BHEER
Effective Section Area
IR

Answer Time
TIERE
Operating Temperature
TR/ LR
Standard Voltage
FRE

Power Consumption
RESERE

Voltage Range
R
Insulation Class

£

Weight

XG-300-3E1

VA
Two-position Three-way

0.2~0.7MPa

35mm?(CV=1.96)

AC: 110V, 220V (50/60)Hz

AC: 6/4.9VA

RIFEMEHS
C: The Middle Posi-
tion Close

P: The Middle Posi-
tion Ventilate

R: The Middle Posi-
tion Exhaust

XG-300-4E1,4E2

10A
ZfHB
Two-position Five-way
PT-3/8

H}

=S/ Air

1.0MPa

50ms
5~50C
DC: 24V
DC: 2.5W
+10%

F4% /| F Class

3509 ‘ 337¢g 422g

GEIEREE NPT: NPT Thread
L: HIRTATLE

E: BHIREL(FRN)

Wiring Form

Blank: Standard Connector

G: Lead Wire Type Coil

L: With Lighting Connector Coil

E: Blast-proof Type (sheet1)

XG-300-4E12C.PR

=HE
Three-position Five-way

0.3~0.7MPa

25mm?*(CV=1.40)

680g

() BHREIIIE Blast-proof Type Specification

BitRELR

Blast-proof Class EExm [ T4
FRfERE . .
s(alndard Voltage AC: 110V, 220V (50/60)Hz  DC: 24V
Pﬁﬂi ; AC:44VA DC: 5W
ower Consumption
BIESEE
Voltage Range +10%
A F% /| F Class

Insulation Class




(o) U1y H _Fumit

() YMER~F Overall Dimension

XG-300-4E1 )] 002 XG-300-4E2 ) 002

od 4 8 i B
30
©
o © Q
< < 2
o 8T o ® g
+ i 3 & kel
% 5-PT3/8/ %
5-PT3/8

XG-300-4E2C.P.R )} XG-300-3E1-NC/NO )}

Jj 03 01 02 01 02 A A
XG-300-4E2C  XG-300-4E2P XG-300-4E2R NG NO
15 41

30
23

oo {F G 1T+ f+rg 4 H= - -4«
-l_j;l 2045 a ] Nawas

22

72

72

5 s E _______ __
4

5-PT3/8/ %

46.4

3-PT3/8

123




LI KOPG =22 05

# & MEMO




Pl 1

Machanical Valve




© [P Sl ' R (»
‘ J xg c XINGUANG PNEUMAT!C _

FHA

Hand-switching Valve

() iTH388 Ordering Code
K - 34 Rs - 8 - D

RIIREG RS
Series Code Type Code
i@ ReFwM
o Rs: Hand-switching
Position and Way EORES
Numb Valve 2 EORR
umber Joint Pipe Code T
24: {3 M@/ Two- 6: G1/8” i?'m Pipe Type
position Four-way 8 G1/4” E-—:El:f'ﬂ'J??iﬁ
34: =i Mj@/Three- D: iR
position Four-way Blank: Flank Joint Pipe Type
D: Bottom Joint Pipe Type
=1 T2 = : w
) BRFFS Graphic Symbol  {f{[ [XH
PR

() #M#& Specification

K34R6_8 K34R6_8D

vﬂfﬁﬂmm 240t K 35 AYZ = / 40 Micron Filtered Air

Eﬁfj%pe 33X, / Flank Joint Pipe Type | JE##3X / Bottom Joint Pipe Type
V:\Iliffn};t_:p?gssure Range 0.9MPa

it 550

ﬁ;ﬁvﬁg Ecta\nal Area 10mm?

. 0N

i 215077% /21500 Thousand time

) 9pMZR~F Overall Dimension
[K34R:-8 ] [K34R.-8D M

61
61

101 101

4-9065 4965 JE AL

LI

= —

55
44
©

MTAN VA




(o) Uy H Fumit | -
XINGUANG PNEUMATIC

FHA

Hand-switching Valve

() 1THaE3 Ordering Code

HV - 02
AR BEEOR
FHiE Port Size
Specification Code 02: G1/4"
Hand-switching Valve 03: G3/8"

04: G1/2"

() #ME Specification

El S Model HV-03 HV-04

THENTR e ,
Workin}g Modium TEESE=E S / Filter Compress Air

EEOE G1/4 ‘ G3/8 | G2
ort Size

[ h 0~1.0MPa

Working-pressure Range

fERR A oms0c

Operating Temperature

) MR~ Overall Dimension

408 F12 45585
<O
~|©
i 02:G1/4" 60
03'G3/8" 74

04:G1/2"




© [P Sl ' R (»
‘ J xg c XINGUANG PNEUMAT!C _

FHI 1%

Hand-draw Valve

) iT14%8 Ordering Code

MIERED
Specification Code
4R: Z{L FiEFHIE RIS BEEOR B:[RER
3R SR EFHIA Series Code Port Size B:Spacer Sleeve
4R: Two-position Five-way Hand-Pull Valve 110 &5/ Series 06: G1/8"
3R: Two-position Three-way Hand-Pull Valve 210351/ Series 08: G1/4"
310&5!/Series 10: G3/8"
410%%l/Series 15: G1/2"

() ##& Specification

4R110-06B 4R210-08B 4R310-10B 4R410-15B 3R110-06B 3R210-08B 3R310-10B 3R410-15B
TN R EHES

Working Medium

2! & Model

/ Compresses Air

{LiEE — i P "
Position and Way NO. Z L F & / Two-position Five-way Z{i =& / Two-position Three-way

EOnE G1/8" | G1/4" ‘ G3/8" ‘ G1/2" G1/8" ‘ G1/4" ‘ G3/8" ‘ G1/2"

Port Size

ERENER 0~1.0MPa
Working-pressure Range .
RSB .
Operat’ﬁ;imperamre Range -5~60C

HEAR Hz#hX Direct Action Type

Operating Method
3L .
hEbiE) AEZE Not Required

Lubrication




Ire
=2
By
=
=
L\
s

[
@]
)
C
(O]
£
(|
©
(O]
>
@)
1+
®
>3
-
=

)

4R210-08

)

4R410-15

A

4R110-06

)

4R310-10

9%



© [P Sl ' R (»
‘ J xg c XINGUANG PNEUMAT!C _

FiRiE

Hand-pull Valve

() iTH3E8 Ordering Code
TSV86 52 2 - M TSVe8 32 2 - M

HARIED
FiRiE
Specification Code BEOZ e MIBICFD BEEOR ERKS
Hand-pull Valve Port Size ML SER FiRiA Port Size MAL S E R
1: G1/8" SHESHR Specification Code 1: G1/8" SHESMNR
2: G1/4" Type Code Hand-pull Valve 2: G1/4" Type Code
M: Machinery M: Machinery
B Locking Type Locking Type
v %1 S: Spring Return IEH S: Spring
Position and Way NO.  Type =@ Reset Type
Two-position Five-way Position and Way NO.

Two-position Three-way

() #ME Specification

THNR s i . .
Wofﬁnﬁmidium 240K T iE A== / 40 Micron Filtered Air
&l o o .

Opiiﬁi,&emod E#)3 / Direct Drive Type
EHEER 2avy

Effective Sectional Area 18mm (CV—1 00)

BOO& .

Port Size G1/4

EREnEE 0~1.0MPa

Working-pressure Range

R .

Operat’l'l::qimperature Range 0~60C

) 9ME R~ Overall Dimension
[ TSV86522 )M

’
Fﬂ
]\

)
2-G1/8 4 /'\Y/

T
\
l Do ol
| M%@Lt”
\

3-G1/4_~

87.5

M22x1.5

2-94.3

‘;%‘{ggé
T 3

N il T

R P 3-G1/4 f'\ <> “ ‘
o = (.
@ [ |

O et® | |

o |
e @ +

h |




EIKIPC

FiRi

Hand-pull Valve

== 3L 1Ll | &

XINGUANG PNEUMATIC

() iTMIE8 Ordering Code

4H 210 - 08 - S
MIERED
Specification Code
AHEB series FoIK S gOne
Series Code Port Size
210 (5/2) 06: G1/8"
310 (5/2) 08: G1/4"
410 (5/2) 10: G3/8"
230 (5/3) 15: G1/2" S:WESN
330 (5/3) S: Spring Return
430 (5/3)

() ##& Specification

£ 5 Model

4H410-15
4H410-158

4H430-15
4H430-158

4H210-06
4H210-06S

4H210-08
4H210-08S

4H230-08
4H230-08S

4H310-08

4H310-08S 4H310-10S 4H330-10S

THENR

Working Medium

H;EHR

Operating Method

BHEER

Effective Sectional Area

BEEAR
Port Size

ERENEE

Working-pressure Range

ERIREERE

Operating Temperature Range

2401 KTiERIZS /40 Micron Filtered Air
BH#R / Direct Drive Type

14mm?(CV=0.78)| 16mm?(CV=0.89) | 12mm*(CV=0.67)| 25mm*(CV=1.4) |30mm?(CV=1.68)|30mm?(CV=1.68) |50mm*(CV=2.79)|50mm*(CV=2.79)

h E= E= s £== f.== s == E= "
BOE | pemmsmgascue | EOZHSS) HSHIISCIE =t S =H=G1/2"
R Air Inlet=Air e ) RS Air Inlet=Air
Air Inlet=Air Outlet=Exhaust=G1/4 " Air Inlet=Air Air Inlet=Air Outlet=G3/8" Outlet=Exhaust=G1/2"
Outlet=Exhaust=G1/8" - - Outlet=Exhaust=G1/4" Exhaust=G1/4" - B
0~1.0MPa
0~60C




Ljd = Eﬂ
I KOPG =320
XINGUANG PMEUMATIC

() 9ME2R~F Overall Dimension

4HZ7%| Series )]

L Do Q
; = s
3-0
JahY =
o | '\ IR
Y
I Wan
< 2n| N A
Rl i
' N
=
e m e 4H230-06 4H230-08
s 1ranb1cv:I /::Mg_del 4H210-06|4H230-06 (BEERD 4H210-08|4H230-08L (B#ERD 4H310-08 4H310-10 4H410-15
Y (Automatic Reset) (Automatic Reset)
A 76 95 76 95 92 92 126
B 56.5 75.5 56.5 75.5 72.5 72.5 102
C 315 315 315 315 40 40 55.5
D 22 22 22 22 27 27 34
E 95 95 95 95 100 100 110
F 6.5 6.5 6.5 6.5 7.5 7.5 7.5
G 66.5 85.5 66.5 85.5 82.5 825 114
H 18 18 18 18 18 18 18
| 20 20 20 20 24 24 28
J 36 36 36 36 45 45 63
K 21 21 21 21 24 24 36
L 35 35 35 35 40 40 50
M 21 21 21 21 27 27 35
N G1/8 G1/8 G1/8 G1/8 G1/4 G1/4 G1/2
o G1/8 G1/8 G1/4 G1/4 G1/4 G3/8 G1/2
P 43 43 4.3 43 43 43 55
Q - - 1.5 1.5 - 2 -




EIKOPG = k]

REXFra

Spacer Sleeve Hand-pull Valve

() iTHE8 Ordering Code

4H 2 - 08 - B - S
MARRED RIS
Specification Code Button Type
4HZRF/ Series 210 (5/2) #EOOR BRER S:
310 (512) Port Size B: Spacer Sleeve  S: Spring Return
410(5/2) 06: G1/8"
230 (513) 08: G1/4”
330(513) 10: G3/8"
430 (5/3) 15: G1/2"

4H210-06B 4H210-08B 4H230-08B 4H310-08B 4H310-10B 4H330-10B 4H430-15B
4H210-06BS | 4H210-08BS | 4H230-08BS | 4H310-08BS | 4H310-10BS | 4H330-10BS | 4H410-15BS | 4H430-15BS
e ZAOMKTHEMZES /40 Micron Filtered Air
MEFR 5 i i
Ope:EtingIMetho d E#3 / Direct Drive Type
gﬁﬁﬁﬁﬂ 14mm?*(CV=0.78)|16mm?*(CV=0.89) | 12mm?*(CV=0.67) | 25mm*(CV=1.4) |30mm?(CV=1.68)|30mm?*(CV=1.68)|50mm*(CV=2.79)|50mm*(CV=2.79)
fective Sectional Area
N BAESS | #S-mesgs-cye |EI=BTS) #IHT-CI/ #= =S =G1/2"
#EOQO& Hs= Air Inlet=Air = He= Air Inlet=Air
Port Size Air Inlet=Air Outlet=Exhaust=G1/4 " Air Inlet=Air Air Inlet=Air Outlet=G3/8" Outlet=Exhaust=G1/2"
Outlet=Exhaust=G1/8" Outlet=Exhaust=G1/4" Exhaust=G1/4"
ERENER 0~1.0MPa
Working-pressure Range )
AR AESE R T

Operating Temperature Range

101



[©) Uy H Eiamit g~

() 9MEZR~F Overall Dimension

4HZ7| Series )

A B

/A

R P 8§

110 |
N - AN S

|
‘_? 3433
,G/—

14
2

13
23

7 23.5 17

%2 2 4H230-06BS 4H230-08BS
T SEE S | 4H210-06B | 4H230-06B (BEhEHRD 4H210-08B 4H230-08B (B=ERD 4H310-08B | 4H310-10B | 4H410-15B
Symbol / Model . .
(Automatic Reset) (Automatic Reset)
A 76 95 76 95 92 92 126

B 56.5 75.5 56.5 75.5 725 725 102
C 315 315 315 315 40 40 55.5
D 22 22 22 22 27 27 34
E 95 95 95 95 100 100 110
F 6.5 6.5 6.5 6.5 7.5 7.5 7.5
G 66.5 85.5 66.5 85.5 82.5 82.5 114
H 18 18 18 18 18 18 18

| 20 20 20 20 24 24 28
J 36 36 36 36 45 45 63
K 21 21 21 21 24 24 36
L 35 35 35 35 40 40 50
M 21 21 21 21 27 27 35
N G1/8 G1/8 G1/8 G1/8 G1/4 G1/4 G1/2
o G1/8 G1/8 G1/4 G1/4 G1/4 G3/8 G1/2
B 4.3 4.3 4.3 4.3 4.3 4.3 5.5
Q - - 1.5 1.5 - 2 -

102




EINOPC =x0H - AN

F )i

103

Manual Valve

() TI3E8 Ordering Code

SH 402 S
S BEOE =A: BER
Type Port Size S: BESHRA

Black: Immobility Type
S: Spring Reset Type

() #4& Specification

#l 5 Model SH-402 SH-402S SH-403 SH-403S

THAR P
WorkingMgdium =5 /| Air

TAEENER 0.15~0.9MPa
Working-pressure Range . :
TEREEE 707

Workin’:—ll;perature Range 0~70C

EEOR 1/4 PT | 3/8PT

Port Size

EH Z {1 & / Two-position Five-way

Position Number

*SH-402F1SH-403 SN R TR T BLE D25 314 1/4PT. 3/8PTLLSN, HAthAER—4E.
*SH-402AFNISH-403AHI X 5l lRSH-402F1SH-403#9 X A —# .

*SH-402 and SH-403’s overall dimension except join port is 1/4PT, 3/8PT, others are same.
*SH-402A and SH-403A are same situation as SH-402 and SH-403.

() 9pME2R~T Overall Dimension
[SH-402 . [SH-402S )

% \

89 4’7‘7

25 et 113\ 53/8{1/4)PT
126
101
101
13
3 |
q 5 5 g & —
= Ty 10
ey 0| ewc w J
()ZI AR VALVE R /: AR VALVE &
ql ‘q;\ 15 Q‘I Q Px —
250 N\ s o653 |25 306588




L]d = Eﬂ
EIKOPC =30
XINGUANG PMEUMATIC

e i

- AT - )

Foot Valve

() T8 Ordering Code
ST 402 S

4 o= . RS BEEOR =H: BER
; - P - Type Port Size S: BESHRN
! 5 Black: Immobility Type

S: Spring Reset Type

() #4& Specification

57402 sT4025 57403 sT4035

TIENR » .
Workin}g Mgdium Er'E" ! Air

TEEHER 0.15~0.9MPa
Working-pressure Range . :
TEREEE ~70°

Workin’;—lt;wperature Range 0~70°C

BEDE 114 PT | 3/8PT

Port Size

B

Position Number Z{I A / Two-position Five-way

*ST-402fN1ST-403M95P MR ~F R T ELE Q25 R4 1/4PT. 3/8PTLUSN, HAbEIER—HE.
*ST-402AFIST-403AHI X 5 IRST-402F1ST-403 8 X B —#¥ .

*ST-402 and ST-403’s overall dimension except join port is 1/4PT, 3/8PT, others are same.
*ST-402A and ST-403A are same situation as ST-402 and ST-403.

() 9pMEZR~T Overall Dimension

84
2 89 35 .
EEEIE ==K
! ' . 1 5-3/8PT
‘ 153 t5-1/4PT
F o— 7
. — m===]{MEE
3 Manwee 11T 9 RS b
: o [ & IS [2s.] 3 b6STERL
sl 30 6 SRR




EIKOPG = k]

i

Foot Valve

() iTHIE8 Ordering Code
4F 2 10 - 08 L

MBI
Specification Code
SE—MRBMER gy OOz
4F: Two-position Series No. Port Size o
Five-way Foot Valve . 200% 51 08: G1/4" ﬂitl’cwi
. N LEH ’ Z=H: fRER
2: 200 Series o
Number of Places L: BB
10: BAMEIE G: MR
10: Single-head LG: iR =R
Double-position Type Code
Blank: Standard type
L: With lock
G: With cover

LG: With lock and cover

4FM 2 10 - 08 L

' |
MAEREG

Specification Code RIS L EH gOneE BRRS
AFM: = {51 P AR B B 1 Series No. Number of Joint Pipe Type C._ot?e
3FM: = i = 8 s AR B 1 2: 200% %1 Places ) Bore =H: R
4FM: Two-position Four-way 2: 200 Series 10: %%XYEE M5: M5 L: BiE
Mini Foot Valve 10: S|ng|e—hgad 06: PT1/8 BIan{(: Standard type
3FM: Two-position Three- Double-position 08: PT1/4 L: With lock
way Mini Foot Valve
FVv. - 320
MBI LEH
Specification Code Position and Way Number
FV: BB 8 320: " =i&
FV: Foot Valve 420:ZfIMmi@

23: Two-position Three-way
25: Two-position Four-way

() #H#& Specification

A 5 Model 4F210-08 | 4F210-08L |4F210-08G |4F210-08LG FV420 FV320 4FM210-08 | 3FM210-08 | XG322N-FV

I N e e . . .
V:\I/—I)ﬁﬁnlgll\ﬁid\um Z 40K TR S / 40 Micron Filtered Air
, ZAImE =i i@ -
riBEL S el [ o o e =&
Position and Way NO. Z{iFi@ / Two-position Five-way Tv;zu;;?vsvg;)n T]v_vr?r e;)éj-:gc;n Tvlv:zu;;(_);:;)n Two-position Three-way
;MEAR - ) )
OperatingIMethod BE313 / Direct Drive Type
HE=HE=G14"HS =
#EOO#Z HR=HS=H5=G1/4" G1/8" HE=HS=H5=G1/4"
Port Size Air Inlet=Air Outlet=Exhaust=G1/4 " Air Inlet=Air Outlet=G1/4 Air Inlet=Air Outlet=Exhaust=G1/4 "
Exhaust=G1/8"
EREHEE 0.15~0.9MPa
Working-pressure Range : )
Limiﬁrﬁﬁ@ 0~60°C -5~60°C
perating Temperature Range

105



[©) Ul H Eramit a0l

() 9pF2R~F Overall Dimension

4F210-08 ) . 4F210-08L ) e
79 79
T . -25. 225,
@ § T T 7 L § T } —
Q — ) H |
© , 4:}:_ ‘ @ i TT T g ° T |g1 T
:SI \T&M\ 7@ g @%
g Eeaibi—s |3 1@ s @]
¥ 100 B B N : P
180 | | 99 ‘ | | ‘ 99 '
4F210-08G ) Al 4F210-08LG )N

125
125

\F
N
g

. . N 2 «
3 K LEDY- -
{6 - < L‘; W) :I
T e S———
120 {. G1/8" 120 P/

80




EINOPC =x0H - AN

() MRt Overall Dimension

[4FM210-08 )] e [ 4FM210-08L )} B
!
&X &>< PR ’
PR
129 71 , 129 71

H 06:3-PT1/8
08:3-PT1/4

H 06:3-PT1/8
08.:3-PT1/4

615
54.5

XG322N-FV )

26.6
29

]
]
30

52

107



EIKGPG =0kl

- b
-

Pl

Mechanical Valve

() 37388 Ordering Code
XG 52 2 - PB

BOOR %4173/ Button Type
Port Size %= 1:# A3 Blank: Basic Type
. . 2: G1/4” R: i®# 2!/ Roller Type
i
;M%{:kﬂ ﬁué;%& S, TB: 3% B hEH/ Selective Knob
HLARL 32: ZfI=i@ R
. . LB: B4/ Strengthened Knob
Specification Code 52: (I HE PB: % EIR4247/ Large Round Button
Mechanical Valve Position and Way NO. . < 9

PP: FRZ$%4/ Plat Round Button
PPL: (& Z!4%40/ Convex Round Button
EB: #1544/ With Lock Button

32: Two-position Three-way
52: Two-position Five-way

() #4& Specification

£ S Model XG322 XG522

THENR E#5z=%S | Compressed Air

Working Medium

B — = - — @ E -
Position and Way NO. ZfI=i@/ Two-position Three-way Z{IFhiE / Two-position Five-way

AHHER e
Effective Sectional Area 16mm (CV—O-BQ)
EOAOR "

PortSize G1/4

femEnEE 0~1.0 MPa
Working-pressure Range
EREREE 6-60C

Operating Temperature Range




‘ J xgl c xmsums FNEUH.&TI{: —

() 9MEER~T Overall Dimension

XG522 ) .
i
T i
2-G1/8" | : 9043 -
2043
e
) K 3
& - @ -
3-G1/8" ﬂ}@ 3 | ~ . -2
HG1/4" PN i H
S |
Q‘}—L‘ T le & !
4 19
35 26
XG322 )] B
—)
* 2
i <
N fl\
} T2 T e
3-G1/8" }' ~ R
: " TR
HG1/4 NV
= 2 1
i my
35

; s/ BS
gyll (Seres Symb0| Lk ﬂ---ﬂ“_
A

136.5 134 107.5

XG522
B 39.5 245 26.5 36.5 39.5 37.5 42.5
A 106 M 125 129.5 126 123 99.5

XG322
B 39.5 245 26.5 36.5 39.5 37.5 42.5

HE EW B RS S = [_R

- 0375

109



== L|J =
EI XOPC =a: 0kl a0l
XINGUANG PMEUMATIC

Pl

Mechanical Valve

() iTHIE8 Ordering Code

JM - 05
MARRAD %4172/ Button Type
EE A R 05: 112 B HEsH/ Selective Knob
Specification Code 06: E$iB3% 0/ With Lock Button
Stop- type Mechanical Valve 06A: FREA % H/ Plat Round Button

07: 3548/ Roller Type

() ##& Specification

2 5 Model JM-05 JM-06 JM-06A JM-07

TAEN R o st . . .
Workin)gl Medium Z 401K TR 2 =/ 40 Micron Filtered Air
friBE s -

Position and Way NO. Z{SL =i/ Two-position Three-way
#OOE .

Port Size - G1/4

£ 1S 6-1.0 MPa

Working-pressure Range )

ERREEE o

Operat’i‘v“ll;?emperature Range 0~60°C

() 9MEZR-=T Overall Dimension

B
Y JM-05 114 36.5
JM-06 111 39.5
| JM-06A 96 39.5
I < JM-07 84.5 42.5
!
@ © 2 .
K ) 8
& 9T,
N/ S [ |2
— ;
25




LI KOPG =22 0E | O
XINGUANG PNEUMATIC

Pl

Machanical Valve

() iTW3E8 Ordering Code
XG 32 1 - R

EOQE

Port Size

1: G1/8"
AR L@ &4/ Button Type
HLARL R 32 =@ Z=1: &A%Y/ Blank: Basic Type
Specification Code Position and Way NO. R: i®# 2/ Roller Type
Mechanical Valve 32: Two-position Three-way TB: i£#Z 2/ Selective Knob

LB: Mn4<EY 4/ Strengthened Knob
PB: X [FE%!$%41/ Large Round Button
PP: FRE% %4/ Plat Round Button
PPL: 4 [EE 4% 40/ Convex Round Button
EB: #4144/ With Lock Button

() #ME Specification

AGeE R’PP!PPLPBYEBYTB’LB

THNR s :
Workin}g Medium JE45% 5/ Compressed Air
friBE "

Position and Way NO. G1/8

BEOOE S "

Port Size - Z{L =&/ Two-position Three-way
Wil 1 0~1.0MPa
Working-pressure Range :

fERiR A o

Operat’il:::q ?emperature Range -5~60C

() 9pMEZR~T Overall Dimension
[ XG321R . [ XG321TB .

36

}
N
<
| .
k3
Yol
=2 h b
s R <
i 16 26
26 2-94.2
~ a5 2-04.2 2-1/8PT =

XG321EB ) XG321PPL )

$39.4

88

27.3

25.3

2-94.2




EI KOPG = 0]

a2 45 i) i

-
—

Flow Control Valve

() 3iTHIE8 Ordering Code

RE - 08
RIS BEEOR
Series Code Port Size
RE: iR 2 #2H 8 01: G1/8" 02: G1/4"
RE: Flow Control Valve 03: G3/8" 04: G1/2"

() BRFFS Graphic Symbol —9
7=

() ¥4, Specification

EEOE G1/8" G1/4" G3/8" G2
ort Size

R (3153 72 i

Workin)g Medium = E" Air

fEMENSEE 0~0.95MPa

Working-pressure Range :

PR S 0-60'C

Operating Temperature Range

() 9MEZR-=T Overall Dimension

RE-01 45 19 43 50 19 M14x1 G1/8
RE-02 45 19 43 50 ®19 M14x1 G1/4
RE-03 55 25 55 62 P25 M18x1 G3/8
RE-04 55 25 55 62 ®25 M18x1 G1/2

112




I KIPC

Ep 0] 3 7

Speed Control Valve

113

2= ¥t 16l

KINGUANG PNEUMATIC

() ##& Specification

() 3iTHIE8 Ordering Code

SV - 01
RIS BEEOR
Series Code Port Size
SV&7 01: G1/8" 02: G1/4"
SV Series 03: G3/8" 04: G1/2"

() BRFFS Graphic Symbol

5

E 5 Model
BROE G1/8" G1/4" G3/8" G1/2"
ort Size
TENR P ;
Workin)glMedium JE#5% 5 /Compressed Air
BHEER
Effective Sectional Area 0.03MPa
2man A 0.05~1.2MPa
Working-pressure Range : -
R REE o
Operat’iﬂlgimperalure Range -5~99°C
o , . .
() $MEER~T Overall Dimension
S
2-E Ll
Lo
& i 2R
]
O 4 +
o
A H
B

£l S Model
SV-01 20
SV-02 20
SV-03 38
SV-04 38

35
35
50
50

21 26 4.5 50 10
21 26 ®4.5 50 10
32 40 ®5.5 68 16
32 40 ®5.5 68 16

16
19
25
25

G1/8

G1/4
G3/8
G1/2

M12
M12
M16
M16




EI XOPC &30k a0l

REHS

Quick Exhaust Valve

() iTME8 Ordering Code

QE - 06
RYIKE EEORZ
Series Code Port Size
QE: fRIEHSIE 06: G1/8" 15: G1/2"
QE: Quick Exhaust Valve 08: G1/4" 20: G3/4"

10: G3/8” 25: G1"

() EHHS Graphic Symbol

i
0

() ##& Specification

£l 5 Model

EEOE G1/8" G4 G3/8" Gl G3/4" G1”

Port Size
FREN <0.038 <0.04S <0.058
IHENR 2= A

Work\n)g M:d\um =S/ Ar

LT 0.05.~1.2MPa
Working-pressure Range Vo~ .
fERREEE 0.05-60C

Operating Temperature Range

() 9MEER=T Overall Dimension

BS/FS
; . Model/Symbolt | A | B | € | D [ E | F | G | H
| —— QE-06 40 | 32 | 27 | 11 | 30 |®43|G1/8| 22
| N .
- Q} ,L i h QE-08 55 | 40 | 32 | 16 | 39 | ®55|G1/4| 26
= F===h )
o | i f ! QE-10 55 | 40 | 32 | 16 | 39 | ®55|G3/8| 26
] - T*’jﬂ' T‘f*’T
CT R (RS QE-15 99 | 60 | 50 | 20 | 60 |d8.5(G1/2| 40
,; A QE-20 99 | 60 | 50 | 20 | 60 |®8.5|G3/4| 40
QE-25 113 | 75 | 63 | 26 | 80 |[®85| G1 | 50




‘J xgl KIHGUAHG FNEUH.&'I'“IC

REHSIE

Quick Exhaust Valve

() #=&i%B Product Description

Z—RREESISHERZARESANERL, FRENHSTEREBERZEFEL, &3
SERRBREIEN. M FRSSAENRENERLABE.
P: i E R A: BRI R: #&iHER

The valve is generally installed on the pipeline between the cylinder and reversal valve and near the
cylinder, which directly discharge the air from cylinder without passing the reversal valve and thus
to achieve the goal of fast reversion of cylinder. The effect on improving cylinder speed is especially
obvious.

P: Connect reversal valve export

A: Connect cylinder  R: Connect muffler

() B#RHFS Graphic Symbol

Al

PO —R

[SU

() ##& Specification

EERY " " "
JoimEThreaded G1/4 G3/8 G1/2
B
Port Size 6mm 8mm 15mm
R 20.9m’/min 22.5mmin 24.5m%min
WA R
wear (‘E‘en Tho)usand Times) 2200
T &£ & HTEE Working Pres- 0.12 ~ 1.0MPa
sure Range . B
3 [5) B+ 8]
Exchange Times (S) <0.03 | <0.04 | <0.05
- A . . = . .
() 5pE2R~F Overall Dimension () R~t% Dimension Sheet
L £1-S Model
3-T
XQ-08 G1/4" 51 45
R,/ @
T XQ-10 G3/8" 68 62

' /—) XQ-15 G1/2" 7 86

118



EI XOPC &30k a0l

12

Shuttle Valve

() iTHIE8 Ordering Code

RIS & 012 / Port Size
ST: 1K@ 01: G1/8" 02: G1/4" 03: G3/8"
Series Code 04: G1/2" 06: G3/4" 08: G1"

ST: Shuttle Valve

() E#RHFS Graphic Symbol

() ##& Specification

EEOE 1" G1/4” G3/8" G/ G3/4" Gt
ort Size

TR 2= A
Working Medium l_"/ Air

HUBER 7.5mm? 21mm? 40mm? 60mm? 110mm? 190mm?

Effective Sectional Area

ERE DR 0.~1.0MPa

Working-pressure Range

Operating Temperature Range

() 9MEZR-=T Overall Dimension

BE/HS

2-0D ? Model/ SymbOI “n
N e ! ST-01 40 24 16 45 25 | 205 | G1/8”

N i
3-G f ST-02 50 35 22 55 35 25 | G1/4

i
L N ST-03 75 48 30 7 50 42 | G3/8”
_'_' ST-04 75 48 30 7 50 42 | G1/2”

i
; ST-06 110 72 40 7 70 58 | G3/4”

A c
o ST-08 110 72 40 7 70 58 G1”




EIKOPG = k]

LA

Check Valve

() iTHIE8 Ordering Code

KA - 08
RIS BEEOR
Series Code Port Size
KA: & [8]1 06: G1/8"
KA: Check Valve 08: G1/4"

10: G3/8"
15: G1/2"

() BRFFS Graphic Symbol

¢

() ##& Specification

A 5 Model KA-06
timE

Leak Quantity (cm*/min)
V:\E)jﬁnjj:_:ngssure (MPa) 0.05~0.8

=N
g:?i‘(w’ﬁ%mperalure( ) -10~+55
aﬁﬁgperature (c) 0~+55
Fuerilsgjllﬂmes (Sec) 0.03
Fw (AR

>
Natural Life (ten thousand) =150

50 120

() 9MER~t Overall Dimension

PNFRIBER
Bore
KA-06 6 G1/8(M10X1) D13 28 24 64 10 6 1.4 ?0‘1
KA-08 8 G1/4(M12X1.5) D16 D28 24 64 12 6 1.4 ?0_1
KA-10 10 G3/8(M16X1.5) D20 D40 36 86 14 10 1.8 ?041

KA-15 15 G1/2(M20X1.5) 26 40 36 86 14 10 1.8 ?0A1




L]d = Eﬂ
EIKOPC =30
XINGUANG PMEUMATIC

FigiE

Hand Sliding Valve

() #=&i%E Product Explain

ZEE—M_=BFhiRE EREEEPRESERAX, SSREXANERN, SBREPHSE
TRENHE=
This valve is a two-position three-way hand sliding valve, which is usually installed in the piping to turn
on/off airs. When it is turned off, the air pressure in the pneumatic system is exhausted simultaneously.

() iTHIE8 Ordering Code

- AT - )

HSV - 03
AR EONRS
Specification Code Joint Code

01: G1/8 02: G1/4 03: G3/8
04: G1/2 06: G3/4

() BRAHFS Graphic Symbol

X

() #4& Specification

2l S Model

®EQR
Port Size

. v 2
MEBE
Flow Bore

TR

Working Medium

TEENR

Working-pressure
TERE
Ambient Temperature
BIEN

Working Force

G1/8"

G1/4"

4 mm 7 mm

G3/8" G1/2" G3/4"
10 mm 12 mm 18 mm
ZIRKEMR=S / Filtered Air
0~ 1.0 MPa
5~60C
20N | 30N

() 9pMEE R~ Overall Dimension

\

\

I
3
b A

c

i7#D E
(stroke) ‘

S 2 000 e L] o]
HSV-01 20 13 14 3 20 | 32 G1/8
HSV-02 27 18 il 5 32 | 48 G1/4
HSV-03 30 | 21 22 5 32 | 48 G3/8

HSV-04 38 24 27 10 | 40 70 G1/2
HSV-06 45 32 34 10 | 45 75 G3/4




@‘%ﬁ =

Aﬂ[r blnautulen P

L q—.'i';,'



I XKIPC

XAC1000~5000 %31

&2 9t 1Ll

XINGUANG PNEUMATIC

XAC1000~5000 Series Air Filter Combination (F.R.L Combination)

() 3iTHIE8 Ordering Code

() BRHS Graphic Symbol

() ;& Specification

Al 5 Model

XA C 3000 - 03 D
#7/ Series  INEEIRS MIBKS BEOE Hk AR = FER
XAZRF Function Code Specification Code  Port Size =R EEHK N: ER#H
XA Series ZEH 1000 2000 M5: M5 x 0.8 D: BaiHk Blank: Standard
F.R.L Combination 2500 3000 01: G1/8" Drain Type N: Metal cup
4000 5000 02: G1/4" Blank: Differential Drain
03: G3/8" D: Automatic Drain
04: G1/2"
06: G3/4"
10: G1"

XAC1000-M5| XAC2000-01|XAC2000-02 | XAC2500-02 | XAC2500-03 | XAC3000-02 | XAC3000-03 | XAC4000-03 | XAC4000-04 | XAC4000-06 | XAC5000-06 | XAC5000-10

PERE

Rated Flow

®mEQR

Port Size

Filter Precision
ReEREN

Highest Working Pressure
RAETSE 71

Ensured Pressure Resistance

ERIREER

Operating Temperature Range
Range of Adjustable Pressure
iR

Recommended Oil Use
BEMH

Container Material

g Ak

Protective Cover

HUKERTHRE

Drain Function

[ﬁlg! Valve Type

Filter
MY | mme
Composing gﬁaq?r
El t:
ements T

Lubricator

90 500 500
M5 G1/8" G1/4"
0.05~0.7MPa

Jc / Not Available

#£[EMKk | Differential Drain

XAF1000-M5 | XAF2000-01 | XAF2000-02
XAR1000-M5 | XAR2000-01 | XAR2000-02

XAL1000-M5 | XAL2000-01 | XAL2000-02

1500 1500 2000 2000 4000 4000 4500 5000

G1/4" G3/8" G1/4" G3/8" G3/8" G1/2" G3/4" G3/4"
25y
1.0 MPa
1.5 MPa
5~60C
0.05~0.85 MPa
ISO VG 32
BB4sAE / Polycarbonate
$ / Iron
EEMIK. BNk / Differential Drain, Automatic Drain

H#igmAl / With Overflow

5000

G1"

XAF3000-02 | XAF3000-03 | XAF3000-02 | XAF3000-03 | XAF4000-03 | XAF4000-04 | XAF4000-06 | XAF5000-06 | XAF5000-10

XAR2500-02 | XAR2500-03 | XAR3000-02 | XAR3000-03 | XAR4000-03 | XAR4000-04 | XAR4000-06 | XAR5000-06 | XAR5000-10

XAL3000-02 | XAL3000-03 | XAL3000-02 | XAL3000-03 | XAL4000-03 | XAL4000-04 | XAL4000-06 | XAL5000-06 | XAL5000-10

FSISEAE (ZBRHF)

120




/ ] =
LI KOPC =Xl - ARy 3
KIHGUAHG FHEUH.&TIC

XAC1010~5010 R ==tzae (ZB:)

XAC1010~5010 Series Air Filter Combination (FR.L Combination)

() iTHIE8 Ordering Code

XA C 3010 - 03 D N
25/ Series  IIREK S MBS BEEOR Hk AR A R
XARF Function Code Specification Code  Port Size =H: EEHK N: £B#
XA Series k30 3 1010 M5: M5 x 0.8 D: BahHEk Blank: Standard
FR.L Combination 2010 01: G1/8" Drain Type N: Metal cup
3010 02: G1/4" Blank: Differential Drain
4010 03: G3/8" D: Automatic Drain
5010 04: G1/2"
06: G3/4"
10: G1"

() #4& Specification

A 5 Model XAC1010-M5|XAC2010-01|XAC2010-02 | XAC3010-02| XAC3010-03| XAC4010-03 | XAC4010-04 | XAC4010-06 | XAC5010-06 | XAC5010-10

e R 90 500 500 1700 1700 3000 3000 3000 4000 4000
ated Flow

adehas M5 G1/8" G1/4" G1/4" G3/8" G3/8" G1/2" Ga/4" Ga/4" G1"

Fih(lerLPrecﬁon 25“

EEERESD 1.0MPa

Highest Working Pressure

RAETSE 71 1.5MPa

Ensured Pressure Resistance

ERRESEE 5~60°C

Operating Temperature Range

AHE SR 0.05~0.7MPa 0.05~0.85MPa

Range of Adjustable Pressure
YA ISO VG 32

Recommended Oil Use

BEHH BRERRE / Polycarbonate

Container Material

Foir & % | NotAvailable % / Iron

Protective Cover

ﬁi*%ﬂlﬁ? Z[EHK / Differential Drain ZE[ERK. BEiAk [ Differential Drain, Automatic Drain

Drain Function

R Valve Type Al / With Overflow
T AR XAW1000-M5 | XAW2000-01 | XAW2000-02 | XAW3000-02 | XAW3000-03 | XAW4000-03 | XAW4000-04 | XAW4000-06 | XAW5000-06 | XAW5000-10

g Filter & Regulator
Composing

Elements e XAL1000-M5| XAL2000-01 | XAL2000-02 | XAL3000-02 | XAL3000-03 | XAL4000-03 | XAL4000-04 | XAL4000-06 | XAL5000-06 | XAL5000-10

Lubricator

121



&2 9t 1Ll

XINGUANG PNEUMATIC

I XKIPC

() 9MEER=T Overall Dimension

XAC1000 ) XAC5000 )
A
—‘ H .
| : [+
" L i e | -
3 il
0iE Bore 7 —7 “1;
' 1)

U

XAC1000 M5 91 33 255 84.5 26 25 25 20
XAC2000 G1/8"~ G1/4" 140 50 38 125 56.8 30 40 24
XAC2500 G1/4"~ G3/8" 181 64 38 156.5 60.8 41 53 35
XAC3000 G1/4"~ G3/8" 181 64 38 156.5 60.8 41 53 35
XAC4000 G3/8"~ G1/2" 238 64 41 191.5 65.5 50 70 40
XAC4000-06 G3/4" 253 89 41 193 69.5 50 70 40
XAC5000 G3/4"~ G1" 300 105 48 271.5 75.5 69.8 90 50
XAC1010 ) XAC5010 )
D E
o} G
i -
|
il |
@ @ d L | ‘
‘ T%EW o .
1 ! — I
< « [ out IT
Sl )
,‘é s I” T
LJ | 04E Bore
| |
| |
! N
# 2 Model [4%2 Bore A B C D E F G H
XAC1010 M5 109.5 50.5 29 58 26 25 25 20
XAC2010 G1/8"~ G1/4" 164.5 78 45 90 56.8 30 40 24
XAC3010 G1/4"~ G3/8" 211 92.5 58.5 117 60.8 41 53 35
XAC4010 G3/8"~ G1/2" 262 112 77 154 70.5 41 70 40
XAC4010-06 G3/4" 267 114 82 164 70.5 50 70 40
XAC5010 G3/4"~ G1" 338 116 97.5 195 75.5 69.8 90 50

122




123

‘J xgl c KIHGUAHG FNEUH.&TIC

XAF1000~5000 & Fl==:t

it
XAF1000~5000 Series Air Filter

() 3iTHIE8 Ordering Code

() EHFHFS Graphic Symbol

() ##& Specification

XAF1000-M5| XAF2000-01 | XAF2000-02

XAF3000-02

XAF3000-03 | XAF4000-03 | XAF4000-04 | XAF4000-06 | XAF5000-06

XA F 3000 - 03 D N
%7/ Series FERES MRS BEOR HEKAR ZA: R
XAZF Function Code Specification Code  Port Size =H: EEHK N: €B#
XA Series  diE#E 1000 M5: M5 x 0.8 D: B#iHk Blank: Standard
Filter 2000 01: G1/8" Drain Type N: Metal cup
2500 02: G1/4" Blank: Differential Drain
3000 03: G3/8" D: Automatic Drain
4000 04: G1/2"
5000 06: G3/4"
10: G1"

XAF5000-10

110

750 750 1500

Rated Flow
BEEOR
Port Size
Filter Precision
BSERE A
Highest Working Pressure
BRAEMSE 71
Ensured Pressure Resistance

fERRESEE

Operating Temperature Range

BEMH

Container Material

DiE7a S

Protective Cover

TRk R Ih&E

Drain Function

M5 G1/8" G1/4" G1/4"

Jc / Not Available

£EMk / Differential Drain

1500
G3/8"

25p

1.0MPa

1.5MPa

5~60C

4000

G3/8"

E2RE2RE / Polycarbonate

4000

G1/2"

6000

G3/4"

£ / lron

7000

G3/4"

7000

G1"

EEMK. BEhik / Differential Drain, Automatic Drain




EI KOPG =3tk

XAR1000~5000 % 3!l s =@

XAR1000~5000 Series Regulator

() 3iTHIE8 Ordering Code

XA R 3000 - 03
hEERS MRS EEORZ #7/ Series
Function Code Specification Code Port Size XAZR5I
L 8 1000 M5: M5 x 0.8 XA Series
Regulator 2000 01: G1/8"

2500 02: G1/4"
3000 03: G3/8"
4000 04: G1/2"
5000 06: G3/4"
10: G1"

() B#RHFS Graphic Symbol

i

N

N

() #4& Specification

£l 5 Model XAR1000-M5 [ XAR2000-01| XAR2000-02 | XAR2500-02 | XAR2500-03 | XAR3000-02 | XAR3000-03 | XAR4000-03 | XAR4000-04 | XAR4000-06 | XAR5000-06 | XAR5000-10
DRl 100 | 550 | 550 | 2000 | 2000 | 2500 | 2500 | 6000 | 6000 | 6000 | 8000 | 8000
EROE M5 | Gue | cuar | ciar | cue | cuar | ey | cue | ez | et | cawr | G
ih%liwﬁgl%gjgressure 1.0MPa

ﬁ:ﬂ?ﬁ»l_isjgure Resistance 1.5MPa

BB e 5-60'C

f?’%ﬂ,ﬁt@m s |UIEEE 0.05~0.85MPa

52%1 Type HSEE | With Overflow

124




/ ] =
LI KOPC =Xl - ARy 3
KIHGUAHG FHEUH.&TIC

XAF1000~5000% 5 ==:t:228/ XAR1000~5000 % 5%

XAF1000~5000 Series Air Filter / XAR1000~5000 Series Regulator

12§

() MR~ Overall Dimension

XAF Series )]

D D [
| l o el
. [ = _oml. danl
IN |—F—| ouT IN ’ | ‘ out | | Q_-
| ! !
; | | ;
o T T o’
M—IJ_ITHJ—IU‘ \ Bore @ ‘ Bore
<
| \
| | |
- L .
| |
c £l S Model 7% Bore A B © D
i XAF1000 M5 66 7 25 -
- - : ml XAF2000 G1/8"~ G1/4" 97.5 11 40 40
IN ouT ’ WAl
| XAF3000 G1/4"~ G3/8" 1325 14 53 53
! 18 Bore XAF4000 G3/8"~ G1/2" 168.5 18 70 70
l XAF4000-06 G3/4" 1725 20 70 70
<
! XAF5000 G3/4"~ G1" 247.5 24 90 90
|
|
I
L XAR1000
E c
| XAR2000 G1/8"~ G1/4" 95 17 40 40 34
! XAR2500 G1/4"~ G3/8" 102.5 25 48 53 34
|
i XAR3000 G1/4"~ G3/8" 127.5 35 53 53 40
! XAR4000 G3/8"~ G1/2" 149.5 375 70 70 54
i L « XAR4000-06 G3/4" 154 40.5 70 75 54
%J | L‘% XAR5000 G3/4"~ G1" 168 48 90 90 54
i
— - = —] —
IN ouT ‘I’
1]
Gauiilﬁgﬂace :




EI KOPG =3tk

XAW1000~5000 % 51l i3z

XAW1000~5000 Series Filter & Regulator

() iTHIE8 Ordering Code

XA W 3000 - 03 D N

A7/ Series  IREKS MK S ®EOR HokAR ZH: R

XAZRF Function Code Specification Code Port Size TR EEHIK N: &%
XA Series IR 18 1000 M5: M5 x 0.8 D: BaiHk Blank: Standard
Filter & Regulator 2000 01: G1/8" Drain Type N: Metal cup
2500 02: G1/4" Blank: Differential Drain
3000 03: G3/8" D: Automatic Drain
4000 04: G1/2"
5000 06: G3/4"
10: G1"

() BRAHFS Graphic Symbol

() ##& Specification

A 5 Model XAW1000-M5 | XAW2000-01 | XAW2000-02 [ XAW3000-02 | XAW3000-03 | XAW4000-03 | XAW4000-04 | XAW4000-06 | XAW5000-06 | XAW5000-10

gﬁi;ﬁ% 110 750 750 1500 1500 4000 4000 6000 7000 7000
ated Flow

BEOE M5 G1/8” G1/4" G14" Ga/8” Ga/8’ G1/2" G3/4" G3/4" G1"

SIS 280

Filter Precision
REEREN

Highest Working Pressure
PRIETSE 71

Ensured Pressure Resistance
ERIREER

Operating Temperature Range
AR

Container Material

g /At

Protective Cover

HUKERTHAE

Drain Function

J& / Not Available

Z[E#K / Differential Drain

1.0MPa
1.5MPa
5~60C
BWkBsBE / Polycarbonate
£ / Iron

EERMIK. Bahiok / Differential Drain, Automatic Drain

126




KIHGUAHG FNEUH.&TIC

XAL1000~5000 % %l);uz=ze

XAL1000~5000 Series Lubricator

() yTI388 Ordering Code

XA L 3000 - 03 N
#7l/Series e S MRS BEOR =H: RER
XAZRF Function Code Specification Code Port Size N: £B#

XA Series MER 1000 M5: M5 x 0.8 Blank: Standard
Lubricator 2000 01: G1/8" N: Metal cup
3000 02: G1/4"
4000 03: G3/8"
5000 04: G1/2"
06: G3/4"
10: G1"

() BRFFS Graphic Symbol

() ##& Specification

XAL1000-M5| XAL2000-01 | XAL2000-02 [ XAL3000-02 | XAL3000-03 | XAL4000-03 | XAL4000-04 | XAL4000-06 | XAL5000-06 | XAL5000-10

HERE 110 750 750 1500 1500 4000 4000 6000 7000 7000
ated Flow

EEOE M5 G1/8" G1/4” G1/4" G3/8" G3/8" G1/2" G3/4” G3/4" G1"

Port Size
SR 250
Filter Precision

SiERED 1.0 MPa

Highest Working Pressure

RIEME N 1.5 MPa

Ensured Pressure Resistance

fERRETEE 5~60C

Operating Temperature Range

wEME E2RRE2RE / Polycarbonate

Container Material

7k 72l % / Not Available % / Iron

Protective Cover

}'jﬁp}(%%lj;ﬁ% E[EH7k / Differential Drain EEHK. BRIk / Differential Drain, Automatic Drain

Drain Function

127



I XKIPC

&2 9t 1Ll

XINGUANG PNEUMATIC

XAW1000~5000 % 5tz =i/ XAL1000~5000 % 7w

XAW1000~5000 Series Filter & Regulator / XAL1000~5000 Series Lubricator

() 9pF2R~F Overall Dimension
[ XAW Series )

FixO
Gauge Interface,

R |
oUT «

w

|
Gauge Interface J = b
‘ \ B8 Bore
\
|

s
k3]
e :
Hun
Ry

I

XAW1000 M5 109.5 50.5 25 28 28
XAW2000 G1/8"~ G1/4" 164.5 78 40 40 34
XAW3000 G1/4"~ G3/8" 211 92.5 53 53 40
XAW4000 G3/8"~ G1/2" 262 112 70 70 54
XAW4000-06 G3/4" 267 114 70 70 54
XAW5000 G3/4"~ G1" 338 116 90 90 54
XAL Series )
: 1
b el -
|
| | ‘@ 3
N TJI 0T aal
[ 1] [ [ «
N |
i O%% Bore
! i
| !
XAL1000 M5 81.5 25.5 25 -
- XAL2000 G1/8"~ G1/4" 122 38 40 40
IN
XAL3000 G1/4"~ G3/8" 142 38 53 53
Q& Bore
< XAL4000 G3/8"~ G1/2" 177 41 70 70
XAL4000-06 G3/4" 177 39 70 70
XAL5000 G3/4"~ G1" 254 45 90 90

128




Sl

Pneumatic Cylinder




52 1L 1Ll

XINGUANG PNEUMATIC

I KIPC
PR

Inner Structure

SC SUZ7/ Series

Bl 2/ Front Cover

i 2= % B/ End ap Seal

H#$k/ Bearing
TR 4/ Piston Rod Seal

AntiArintion Ring
Ja 2/ Back Cover

A e
Al

-

SI&7%l/ Series

BT/ Front Cover

in 2= 2B/ End cap Seal

fik$%/ Bearing
FEZEZ £/ Piston Rod Seal

J5 2/ Back Cover

DNC % %I|/ Series

Bi=/ Front Cover &

i 2= %+ B/ Bnd cap Seal

Hi5$%/ Bearing

SR ZEF 4/ Piston Rod Seal

£/ Anti-frintion Ring

\

F5 2/ Back Cover

=

MIZ %)/ Series

i 2 % $1 B/ End cap Seal
7E R EFE 4/ Piston Rod Seal
i $k/ Bearing

HIZ/ Front Cover

TN

IW

/E%&/ Back Cover

MAL %)/ Series

i 2= 2 1 B/ End cap Seal

& 4/ Piston Rod Seal

B2/ Front Cover

e

H$%/ Bearing

J5 2/ Back Cover




131

‘J xgl c IIHGUAHG FNELIM.P«TIC

FrESEL

Standard Cylinder

() BERFFS Graphic Symbol

() yTI3E8 Ordering Code

o AT

SC D-580 x50 - 25 - S - LB - MT
BS ‘ ‘
SC: fiAFst ik 738 SCJR[iF{THE WaKS
SU: FATAGESE Cylinder Stroke SUJRTIA{THE S: MiEHE
Ty|;e Bore SCJ adjustable  Z=H: FHH
SC: Pull Rod Type stroke type M.agnet Code
SU: Hidden Pull Rod SUJkadJustabIe §| at:f\ch magnit
Type stroke type ank: not attac
magnet
ZH: WEEHE
D: XigzhE
J: WEHEIEER EE AR/ Fixed Type kR 852 A) Sensor
Blank: Standard Double Action ~ =H3: _#4ZY/ Blank: Basic Type XG-21%!
D: Double-shaft Double Action LB: AIREZZ \.’
J: Double-shaft and adjustable  -B: FrontAnd Back Fixed Type E?/
stroke type -
FA: BIZBEIER(RTE=) SCk&
FA: Front Cover Fixed Type (Front flange type) -
FB: RERBEEE(F%EZ) "'; ':.?
FB: Back Cover Fixed Type (Rear flange type)
q SUXA
o
& - ral

. REEEER($HIR)
CA Back Cover Fixed Type (Single Earring)

CB: FEEEL(WEHR)

TC: HhEEER

—F

CB: Back Cover Fixed Type (double Earring)
TC: Swinging Type

TC-M: BIEXHIBIEE

TC-M: Swinging Type Attaching Foot Seat

() #& Specification

2l S Model

;ER
Motion Pattern

TENR

Working Medium
*EERR

Fixed Type
fERENEE

Operating Voltage Range
FRIEME N

Ensured Pressure Resistance
iR ESEE

Operating Temperature Range
15 R B SE

Operating Speed Range
AR

Buffer Type

ZihiTiE

Buffer Stroke

®EQR

Port Size G1/8”

£ 518 / Double Action

=5 | Air

1.0~9.0 Kgflcm?
13.5 Kgflcm?
0~70°C
30~800 mm/s
A[iALE I / Adjustable Buffer
24 | 32
G1/4" | G1/2"

G3/8" | | G1/2"

“

H K HI/Basic type FAZ!type FBEl/type CAZl/type CBE!/type LBE! /type TCE! /type TC-ME!/type

| G3/4"

*SCD,SCJHIEEE K A: FAFB,LBTCHTC-ME,

*SCD,SCJ Fixed Type: FA,FB,LB,TC & TC-M type.



EI XOPG =335

() 718 Stroke

B 0':1 (ﬁcm) % # 1T 72 / Standard Stroke M?xj.csfrri;ke P ez r}?&%iﬁ le
32 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 1000 2000
40 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 1200 2000
50 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1200 2000
63 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
80 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
100 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
125 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
160 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
200 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000

() SEiEHHFT Cylinder theory output Sheet

SERE
Cylinder Inside 40 63 125 200
Diameter
12 16 20 20 25 25 32 40 40

EEFIME
External Diameter of
Piston Rod
y
pZHE | mmm Fm T Fm Fm ] Fm o
HERIS e Double Action | Double Action | Double Action | Double Action Double Action Double Action Double Action Double Action
2T
i EM | M T EM i EM g EM b EM FEMm
Motion Pattern Pr‘:ﬂ" %ﬂmj Préms' %lﬂl Preﬂ;- glﬁ? Prés- %lﬁ;l Prems- gﬁ? Prgms' i P"fs‘ i Prerjéfsﬁ:{lre i Pr(laj_;gllljre i
U | Side | YT | Side | 0 | Side | L | Side | S | side | Sure [PullSide| sure |PulSide| “'§de" | Pul Side| TG | PullSide

ZEER (cm?)
Compression | 8.04 | 6.90 | 12.56 |10.55| 19.63 | 16.49 | 31.17 | 28.03 | 50.26 | 45.36 | 78.53 | 73.62 | 122.70 | 114.60 | 201.00 | 188.40 | 314.20 | 301.40

Area
1 |8.04|6.90 | 12.56 [10.55| 19.63 | 16.49 | 31.17 | 28.03 | 50.26 | 45.36 | 78.53 | 73.62 | 122.70 | 114.60 | 201.00 | 188.40 | 314.20 | 301.40
2 |16.08[13.80| 25.12 |21.10| 39.26 | 32.98 | 62.34 | 56.06 | 100.52 | 90.72 | 157.06 | 147.24 | 245.40 | 229.20 | 402.00 | 376.80 | 628.40 | 602.80
3 |24.12(20.70| 37.68 |31.65| 58.89 | 49.47 | 93.51 | 84.09 | 150.78 | 136.08 | 235.59 | 220.86 | 368.10 | 343.80 | 603.00 | 565.20 | 942.60 | 904.20
4 |32.16|27.60| 50.24 (4220 78.52 | 65.96 |124.68 | 112.12 | 201.04 | 181.44 | 314.12 | 294.48 | 490.80 | 458.40 | 804.00 | 753.60 | 1256.80 | 1205.60
=5ED
Air Pressure| 5 [40.20|34.50| 62.80 [52.75| 98.15 | 82.45 | 155.85 | 140.15 | 251.30 |226.80 | 392.65 | 368.10 | 613.50 | 573.00 | 1005.00 | 942.00 | 1571.00 | 1507.00
(Kgffcm?)
6 |48.24|41.40| 75.36 |63.30|117.78 | 98.94 | 187.02 | 168.18 | 301.56 | 272.16 | 471.18 | 441.72 | 736.20 | 687.60 | 1206.00 |1130.40 | 1885.20 | 1808.40

7 |56.28|48.30| 87.92 (73.85|137.41(115.43|218.19 | 196.21 | 351.82 | 317.52 | 549.71 | 515.34 | 858.90 | 802.20 | 1407.00 |1318.80| 2199.40 | 2109.80
8 |64.32(55.20|100.48 [84.40|157.04 | 131.92| 249.36 | 224.24 | 402.08 | 362.88 | 628.24 | 588.96 | 981.60 | 916.80 | 1608.00 |1507.20| 2513.60 | 2411.20

9 |(72.36(62.10| 113.04 [94.95|176.67 | 148.41| 280.53 | 252.27 | 452.34 | 408.24 | 706.77 | 662.58 |1104.30 [1031.40( 1809.00 (1695.60 [ 2827.80 | 2712.60

132




EINOPC =x0: - AN

() $MEER~T Overall Dimension

133

|_SC Series )} _
A+{7i2(Stroke)
C+iT#E(Stroke) Cs
- CT
2-0 N © ‘ ! -‘
O L0
ol o
azle N Hop | E/ o\ \J
ik - h [
= | LT /%)
N 2-88 i ARI(Buffer Nut) @—J N 8-LiF(Depth)Mm
e AT+{TI(Stroke) x 2 .
B C+{T¥2(Stroke) B+{712(Stroke) Cs
E+{7i2(Stroke) rT
. H -
B
A
———d 42
O
N\ ELE(Depthm
A2+17 F2{Stroke) X 2
B C+{T#2(Stroke) rs
E Fl. G G F #712(Stroke) -7
LH, N 2-0 LN, .
L =] .
n M oy apl ] ‘
Q| > w| - i n:‘ :(‘
SECR ’, e i
W/ L ‘ E = :E Z+A] 5 TAZ(Adjust Stroke)
QN ememmeaerny  [Q
WSS
Inside Diameter/ Symbol
32 M10%x1.25
40 142 191 185 48 93 32 34 15 27.5 24 17 7 M12x1.25
50 150 207 196 57 93 38 42 15 27.5 32 23 8 M16x1.5
63 153 210 199 57 96 38 42 15 27.5 32 23 8 M16x1.5
80 183 258 243 75 108 47 54 21 33 40 26 10 M20%1.5
100 189 264 249 75 114 47 54 21 33 40 26 10 M20x1.5
125 226 / / 104 122 55 70 34 33 54 40 10 M27x2
160 291 / / 123 168 62 91 32 50 72 55 18 M36x2
200 347 / / 167 180 80 112 55 50 72 55 18 M36x2
HNEIFS
Inside Diameter/ Symbol
32 M6 x 1 9.5 13.5 G1/8 3.5 7.5 7 45 33 12 12 21
40 M6 x 1 9.5 1.5 G1/4 6 8.2 9 50 37 16 14 21
50 M6 x 1 9.5 135 G1/4 8.5 8.2 9 62 47 20 17 23
63 M8 x 1.25 9.5 135 G3/8 7 8.2 8.5 75 56 20 17 23
80 M10x 1.5 1.5 16.5 G3/8 10 9.5 14 94 70 25 22 29
100 M10x 1.5 11.5 16.5 G1/2 1 9.5 14 112 84 25 22 29
125 M12 x 1.75 15.5 16.5 G1/2 / / / 140 110 32 27 /
160 M16 x 2 17.5 25 G1/2 / / / 180 140 40 36 /
200 M16 x 2 17.5 25 G3/4 / / / 220 175 40 36 /




EI XOPG =335

¥k SUEL P

Standard Cylinder Accessory

() 9MEZR-=T Overall Dimension
| LBRH122/ FootRest )

He Wi

Symbol/ Bore
77 AA 153 169 173 184 | 200 | 210 | 249 | 328 | 380
wiy L $CE | ' AC 134 140 149 158 168 174 | 213 | 288 | 320
< <
__ - H 77 AD 95 [145| 12 | 12 | 16 | 18 | 18 | 20 | 30
' ' AE 50 57 68 80 97 112 140 180 | 220
P, AF 33 36 47 56 70 84 90 115 135
= % ISH AG 205 | 235 | 28 | 31 | 30 | 30 | 45 | 60 | 70
<
i 1 NSNS -S| AJ 28 30 36.5 41 49 57 90 115 135
AD| AG AG |AD
ACHFi2 AP 9 12 12 12 14 14 16 18 22
AA+{TEE
AT 32 | 32 | 32 | 32 4 4 8 8 10

[FA. FB3%£=/Flange I s i n
ymbol/ Bore
BA 283 | 32.3 | 383 | 383 | 47.3 | 47.3

BC BB 10| 10| 10| 12| 16| 16| 20| 25| 25

BID BC 47 | 52 | 65 | 76 | 95 | 115 | 140 | 180 | 220

¢ ! {_\_ BD 33 | 3 | 47 | 56 | 70 | 84 | 90 | 115 | 135

o | o BE 72 | 84 | 104 | 116 | 143 | 162 | 224 | 280 | 320

e BF 58 | 70 | 86 | 98 | 119 | 138 | 180 | 230 | 270
== 1 BH 65 | 65 | 65 | 85 | 105|105 | 15 | 20 | 20
© | O AT AJ 105 | 105 | 135 | 135 | 166 | 166 | 19 | 25 | 25

C\ | ‘@j AK 65 | 65 | 85 | 85 | 105 | 105 | 125 | 165 | 165

BP 707 | 9| o | 12| 12]16] 18] 2

T 33 | 37 | 47 | 56 | 70 | 84 | 110 | 140 | 175

CAE HIf/ Single Earring )} propypp
SymbollBore | 32 | 40 | 50 | 63 100 | 125 | 160 | 200
48 | 50 | 62 | 75 | 94 | 112 | 140 | 180 | 220

ns
ar pc _.py s
DQ%.
: T 33 | 37 | 47 | 56 | 70 | 84 | 110 | 140 | 175
| -
-© | @ Lo DC 34 | 34 | 34 | 34 | 48 | 48 | 50 | 55 | 60
e DD 14 | 14 | 15 | 15 | 20 | 20 | 25 | 30 | 30
T BT T B DE 12 | 14 | 14 | 14 | 20 | 20 | 25 | 30 | 30
‘ ; $DE
’ LA DJ 14 | 14 | 15 | 15 | 20 | 20 | 25 | 30 | 30
© — ©
= — DQ 16 | 20 | 20 | 20 | 32 | 32 | 70 | 90 | 90




EINGPC =3 0x A

() 9MEER~T Overall Dimension

CBXUE IR/ Double Earring)) e KA
» Symioll Bore | 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200
CDTT ce o cc 19 | 19 | 19 | 19 | 32 | 32 | 50 | 55 | 60
Da% cD 5 5 3 3 8 8 | 25 | 30 | 30
i | CE 12 | 14 | 14 | 14 | 20 | 20 | 25 | 30 | 30
(}_ | _{> cD
. cJ 13 | 13 | 15 | 15 | 21 | 21 | 25 | 30 | 30
s A -

By s . ; cP 16.3 | 205 | 203 | 203 | 323 | 323 | 70 | 90 | 90
@— | —:! oCE cT 32 | 44 | 52 | 52 | 64 | 64 | 120 | 160 | 160
- PAI 41 | 518 | 60.3 | 60.3 | 738 | 73.8 | 130 | 170 | 170

- :11 PBI 335 | 458 | 54 | 54 | 655 | 655 |121.5|161.5|161.5
‘ s 48 | 50 | 62 | 75 | 94 | 112 | 140 | 180 | 220
! il T 33 | 37 | 47 | 56 | 70 | 84 | 110 | 140 | 175

TCH #/ Dimension )3 w2 KA
Symbol/ Bore 40 50 63 80 100 125 160 200
Tj EB 113 | 126 | 138 | 164 | 182 | 210 | 264 | 336
EC 63 76 88 114 | 132 | 160 | 200 | 240
i ED 37 47 56 70 84 | 110 | 140 | 175
! EE 63 76 88 114 | 132 | 160 | 200 | 240
!
| EG 25 25 25 25 25 25 32 48
| [
' ‘ EP 25 25 25 25 25 25 32 38
GEP )
ED ET ET 30 30 30 30 30 30 38 44
EC
S 45.5 55.5 68.5 87.5 | 107.5 | 1345 | 1725 | 2125
Y#%3/ Connection ) 133/ Connection )
NQ
ND
NP NJ
el |
| SN e i s
g e I s gl i } gl z <
! T /s
T
®NC
(; NH ﬁ
BSIME NB | NC [ ND | NE | NF | NG NH NJ NK MM NP NQ PA PB
Symbol / Bore
32 19 20 10 40 52 15 20 M10x1.25 12 18 10 20 52 26.2 20
40 254 24 12 48 67 24 20 M12x1.25 20 23 12 24 62 32.8 26.5
50 32 32 16 64 89 32 23 M16x1.5 22 30 16 32 83 39.3 33
63 32 32 16 64 89 32 23 M16x1.5 22 30 16 32 83 39.3 33
80 44.4 40 20 80 112 40 30 M20x1.5 30 39 20 40 105 53.3 45
100 44 .4 40 20 80 112 40 30 M20x1.5 30 39 20 40 105 53.3 45

135



EI XOPG =335

SI1Z& Fliso643 1544

S| Series ISO6431 Standard Cylinder

() 3iTHIE8 Ordering Code
SI - 50 x 50 - S - LB - MT

T8 #MaRsS / Fixed Type / Sensor
i Stroke Z=H:AME  =H:EAZE Blank: basic type XG-21%/ Type
Cylinder Bore S: HitA LB:MTREER
- Magnet Code LB: Front and back fixed type - ; \.’
AIRS Blank: Not ‘_ﬁ '.-; =
SI:1SOB43 1R A E attach magnet & A7
Series Code S:Attach mag- FA:FIZERE(FIEZ) PISA/ Clam
§:1506431 Standard Double net FA: Front Cover Fixed Type (Front flange type) *R N ,p
Action Type FB: FREER(FEZ) 1

FB: Back Cover Fixed Type (Rear flange type)

CA: R EER (2 HIR)
CA: Back Cover Fixed Type (Single Earring)

<
CB: REEEE(NER)

CB: Back Cover Fixed Type (double Earring)
]

) BERFFS Graphic Symbol Y8 FEXEEEL

YB: Back Cover Rear Hinge Fixed Type

7 .

() ##& Specification

EHIERR £ #2/ Double Action

Motion Pattern
TR 25/ Air
Working Medium

E‘ix E%ES HIKZI/Basic type FAZ!/type FBE!/type CAZ!/type CBE!/type LBE! / type TCE! / type TC-ME!/type

ERE DR 0.1~0.9MPa

Operating Voltage Range

FRIEME 71 1.35MPa

Ensured Pressure Resistance

ERREEE -5~70°C

Operating Temperature Range

EREEEE 50~800 mm/s

Operating Speed Range

N ﬂu Ky Y H
ﬁg%ﬁ% 7] if4& i/ Adjustable Buffer
ZihiTiE
Buf;er Stroke 24 %

EEOE G1/8" G1/4” | G3/8" | G1/2" G3/4”

Port Size




EINOPC =x0: - AN

() 718 Stroke

e BYFTE2
Bore (mm) ¥ £ 17 12 / Standard Stroke Max Stroke PersTrlsiéble

32 100 150 160 200 250 350 400 1000 2000
40 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 1200 2000
50 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1200 2000
63 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
80 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
100 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
125 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
160 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
200 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000

() SEHEigHHF Cylinder theory output Sheet

SERE
Cylinder Inside 32 40 50 63 100 125 160 200
Diameter

EEFIME
External Diameter of
Piston Rod
poam | mmm g3m 3w g3m 3w s S g
SRR o Double Action| Double Action | Double Action | Double Action | Double Action Double Action Double Action Double Action
xI
i EM | 4 EM | 4 EM i EMm i EM : EM " EM "
BB FERE | s %lﬂj Pres- gﬁj Pres- %ﬂ Pres- %ﬁj Pres- Eﬂ] Pres- | #iftl | Pres- gl Prg;g&re Eall] Prg_égjjre arf
glilclj‘g Side %lllég Side glllég Side %lllég Side glllég Side %lllég Pull Side glllég Pull Side Side Pull Side Side Pull Side
ZEER (cm?)
Compression 8.04 | 6.90 | 12.56 |10.55| 19.63 | 16.49 | 31.17 | 28.03 | 50.26 | 45.36 | 78.53 | 71.47 | 122.70 | 114.68 | 201.06 | 188.49 | 314.16 | 301.57
Area

1 1804 |6.90 | 12.56 [10.55| 19.63 | 16.49 | 31.17 | 28.03 | 50.26 | 45.36 | 78.53 | 71.47 | 122.70 | 114.68 | 201.06 | 188.49 | 314.16 | 301.57
2 [16.08(13.80| 25.12 |21.10| 39.26 | 32.98 | 62.34 | 56.06 (100.52| 90.72 (157.06| 142.94 | 245.44 | 229.36 | 402.12 | 376.98 | 628.32 | 603.14

3 |24.12]20.70| 37.68 [31.65| 58.89 | 49.47 | 93.51 | 84.09 |150.78|136.08 [235.59| 214.41 | 368.16 | 344.04 | 603.18 | 565.47 | 942.48 | 904.71

4 |32.16|27.60| 50.24 [42.20| 78.52 | 65.96 | 124.68 [ 112.12201.04 | 181.44 |314.12| 285.88 | 490.88 | 458.72 | 804.24 | 753.96 |1256.64|1206.28
SSER
Air Pressure| 5 [40.20(34.50| 62.80 [52.75| 98.15 | 82.45 |155.85|140.15|251.30|226.80 |392.65|357.35| 613.60 | 573.40 | 1005.30 | 942.45 |1570.80(1507.85
(Kgflcm?)
6 |48.24|41.40| 75.36 |63.30 | 117.78 | 98.94 [187.02|168.18|301.56|272.16 |471.18| 428.82 | 736.32 | 688.08 |1206.36 | 1130.94 |1884.96|1809.42

7 |56.28(48.30| 87.92 73.85|137.41|115.43|218.19|196.21|351.82|317.52 |428.82|500.29 | 859.04 | 802.76 |1407.42|1319.43|2199.12|2110.99
8 (64.32(55.20(100.48|84.40| 157.04 | 139.92|249.36 | 224.24 | 402.08 | 362.88 |628.24 | 571.76| 981.76 | 917.44 | 1608.48 |1507.92|2513.28|2412.56

9 (72.36(62.10|113.04|94.95| 176.67 | 148.41|280.53 | 252.27 | 452.34 | 408.24 | 706.77 | 643.23 | 1104.48 [1032.12 | 1809.54 | 1696.41|2827.44|2714.13

13%



EI XOPG =335

¥R/ STEL B

Standard Cylinder Accessory

() MR~ Overall Dimension

©32~H200 )3
A+{TF2
os B C+i7R8
or E F G G
I H 2- SR fEr i 0
/
] o) VA
-
= d? n:”
/ J o 7
K w 2-0,
AT 18
N|Q QN|

RIS
32 142 48 94 30 32 16 28 22 17 6

L
M10%1.25 M6

40 159 54 105 35 36 18 29 24 19 7 M12x1.25 M6
50 175 69 106 40 44 25 31 32 24 8 M16%1.5 M8
63 190 69 121 45 44 25 32 32 24 8 M16%1.5 M8
80 214 86 128 45 56 30 35 40 30 10 M20%1.5 M10
100 229 91 138 55 59 32 36 40 30 10 M20%1.5 M10
125 279 19 160 60 74 45 46 54 41 13.5 M27x2 M12
160 332 152 180 65 94 58 50 72 55 18 M36x%2 M16
200 347 167 180 75 107 60 50 72 55 18 M36x%2 M16
Jx D
7 I N IR I N R A 2
32 13.5 1/8 4 7.5 7 47 325 12 10
40 16 1/4 6 9.5 9 53 38 16 13
50 18.5 1/4 8.5 6.7 9 65 46.5 20 17
63 19 3/8 6 7.7 9 75 56.5 20 17
80 19 3/8 10 5 13.5 95 72 25 22
100 18 12 12.5 10 14.5 115 89 25 22
125 23 12 14 12 14 140 110 32 27
160 25 3/4 15 12 20 180 140 40 36
200 25 3/4 15 12 20 220 175 40 36




139

‘J xgl c IIHGUAHG FNELIM.P«TIC

DNC % %lliso643 1454 5 B SAT

DNC Series ISO6431 Standard Squareness Cylinder

() iTH% Ordering Code

o AT

DNC-63 x 50 o - DO - O LB MT
L 1138 WMARS S2: WEEH BRI 28/ Sensor
ﬂfl. Stroke | Magnet Code K2: I sMZ4F XG-30%!/ Type
Cylinder Bore == AR K3: Bk R840 )
i A: REHIR K5: SR AR AL
Buffer Blank: Standard Type K8: i< & AT
= RE A: Inside magnet S2: Double Piston Rod
PPV 254 K2: Lengthen Out Screw

Blank: Non Buffer

PPV: Attach Buffer

DNC: E A3

HNC : % =) Rt EE

FNC:BIfE%=
ZNCF : B[54 $H

ZNCM: R a1 4h
SNCB: & E

SNCL: E EE

DNC: Fixed Type

HNC: Axis Direction Foot Base
FNC: Front and Back Flange
ZNCF: Front and Back Axis Pin
ZNCM: Middle Axis Pin

SNCB: Single Earring Base
SNCL: Double Earring Base

() ##& Specification

A1& Bore(mm)

THEN R

Motion Pattern

F;ERR

Working Medium

M ESRIE A

Compression Pressure
BIERE N

Max. Operating Pressure

SIRIEEND

Min. Operating Pressure
i

Buffer

R

Ambient Temperature
fE IR

Operating Speed
TIRIRE

Margin of Stroke Error (mm)
A

Operating Life

pEbi]

Lubricate

®EAR

Port Size

n

Z 4 ERIE S / Fitered Air
W3 / Double Action
1.5 MPa
1.0 MPa
0.1 MPa

SEEim (BRAE) / Air Buffer (Standard)
5~60TC
50~500 mm/s
0~250*%° 251~1000 *}*  1001~1500 *3°
TMEF/ Not less than 4000 Km
REZE / Not Necessary

1/8" 1/4" 3/8" 1/2"

K3: Front In Screw Thread
K5: Out Standard Screw
Thread

K8: Lengthen Piston Rod

() 1T Stroke

FRAEITIE
Standard Stroke

B A/ Fixed Type
=1 : £ 43Y Blank: basic type
LB: iR EEE

LB: Front And Back Fixed Type "_1__ g

FA: BB EE (FTiE2)
FA: Front Cover Fixed Type (Front flange type)
FB: RHEEER(FiE=)
FB: Back Cover Fixed Type (Rear flange type)

.

\f- -

CA: FEEER ($HIR)
CA: Back Cover Fixed Type (Single Earring)

Q-
CB: [F&EER(NEF)

CB: Back Cover Fixed Type (double Earring)
. ]

YB: REXEEER
YB: Back Cover Rear Hinge Fixed Type

2

Zih1TiE
Buffer Stroke

BRAITIESEE
Max.Stroke Range

50 254050 80
100 125 160 200 22 10~2000
63 | 250 320 400 500
80
32
100
RS RIEFF R e/ MTEE T KBS
Bore | Magnetism Switch Min.Stroke Magnetism Switch Type
32 17
40 21
50 25 KCK2400C
HEAFD
63 25 Embedding Type
80 25
100 25




[©) Uy H-Fiamit
2AH

Base Type

() MR~ Overall Dimension
[DNC...PPV-A

ZB+ L4

AM WH L7 EE 8-D07 Sw2

L8

e

e = \/ vT : N
35 : o i Bl )1 9
el e o 4
— 0
N \2)

DS
L6 L5 E

42
32 | 22|30 |12 M6 | 45 18 6 |52 33| 10 10 6 18 26 | 120

325 M10x1.25| 416|628 | 4 |251]| 16

40 | 24 | 35| 16 | 38 | M6 | 54 1/4 8 6 |M12x1.25| 44 7 296 | 16 | 36 | 105 | 13 6 |215| 30 | 135

50 | 32 | 40 | 20 (46.5| M8 | 64 1/4 10 | 8.5 | M16x1.5 | 51 78 296 | 17 | 51 | 15| 17 8 28 37 | 143
63 | 32 | 45 | 20 (56.5| M8 | 75 3/8 |12.4( 10 | M16x1.5 | 54 | 87 356 | 17 | 66 | 15 17 8 |285| 37 | 158

80 (40 | 45 | 25 | 72 |M10| 93 3/8 |125| 8 | M20x1.5 | 62.4 | 95.2 359 | 17 | 105|167 | 22 10 | 347 | 46 | 174

N

100 | 40 | 55 | 25 | 89 |[M10| 110 12 11.8| 10 | M20x1.5 | 69.8 |100.4 38.8 | 17 8 | 192 22 10 | 382 | 51 | 189

X ZE AT 2

Double Piston Type

() 9ME R~ Overall Dimension
[DNC..PPV-A-S2 )

)
)

1o 1ol F—=—=n
s ..

L)
+

i
e
!
©
|

Vb
2B+ vD
L15++
Bore
32 30 146 18 120
40 35 165 21.5 135
50 40 180 28 143
63 45 195 28.5 158
80 45 220 34.7 174
100 55 240 38.2 189




141

EIKIPC

DNC % 51iso6431 #mk B RIS EIMH#4

ﬁl.l:

Sl

KINGUANG PNEUMATIC

DNC Series ISO6431 Standard Squareness Cylinder Accessory

() MR~ Overall Dimension
HNC...PPV-A#ii[s) B EE / Axis Direction Foot Base )

XA+

AC

@

[d-

@.

o AT

nl I
j [J T @ <
o/ S
4-9AB
c1 R
SA+ E
G2 AB AH AO c1 E H1 SA TR XA
Bore
32 7 32 6.5 30.5 45 5 142 32 144
40 10 36 9 37 54 5 161 36 163
50 10 45 10.5 415 64 6 170 45 175
63 10 50 12.5 445 75 6 185 50 190
80 12 63 15 56 93 6 210 63 215
100 14.5 71 17.5 58.5 110 6 220 75 230
/ . .
() 9MEER=T Overall Dimension
FNC...PPV-A gi. &%= / Front and Back Flange 6
BimREE JRiRREE R’
Front Flange Rear Flange 4-OFB
_ —
=y © -9
f ® @ <> EE
:E (; O
H oo
] N
w H3
ZF+
i1 E2 FB H13 H3 R TF UF W ZF
Bore
32 50 7 10 32 64 80 16 130
40 55 9 10 36 72 90 20 145
50 65 9 12 45 90 110 25 155
63 75 9 12 50 100 125 25 170
80 100 12 16 63 126 154 30 190
100 120 14 16 75 150 186 35 205




EI XOPG =335

() M R~F Overall Dimension

ZNCF...PPV-ARi f5 4455 Front and Back Axis Pin )l

@

2-058
£
( RPN
ma {} g? L’@ (} “ @ j
[4

T7
.

w0
QIEE!

%/

L10 ,ff .
L11+

12
32 71 86 45 32 46 16 18 128 6.6 1 15 18 6.8 12 12 50

10.5
40 87 105 54 36 55 20 20 145 9 15 18 21 9 12 16 16 63
50 99 17 64 36 55 24 25 155 9 15 18 21 9 12 16 16 75
63 116 136 75 42 65 24 25 170 1 18 20 23 1 13 20 20 90
80 136 156 93 42 65 28 32 188 1 18 20 23 1" 13 20 20 110
100 164 189 110 50 75 38 32 208 14 20 25 28.5 13 16 25 25 132

() M2 R~ Overall Dimension

ZNCM...PPV-A Hhg)3# %% / Middle Axis Pin )]
L8+
XV+R1THE) ]
Lo 2-0TD - == —F
M L | A
L J L ) | o o R\
_@_ _@ 39 -_9 [ Z
. - @ I I 1 @
gy S - .

Bore
32 71 86 30 12 12 50 65 73

79.9 66.1
40 87 105 32 89.4 75.6 16 16 63 75 82.5
50 99 117 34 94.4 83.6 16 16 75 95 90
63 116 136 4 101.9 93.1 20 20 90 105 97.5
80 136 156 44 118.1 103.9 20 20 110 130 110
100 164 189 48 126.2 113.8 25 25 132 145 120

142




EINOPC =x0: - AN

() MRt Overall Dimension
SNCB...PPV-AE H [/ Single Earring Base )

- ée
- ® ‘€> /™
= - s ~

SNCL...PPV-AE FE/ Double Earring

®
i&@

H2 $CD

XD+

{ ) R=F3%& Dimension Sheet

A1 CB CD =X} H2 L uB XD
Bore
32 26 10 55 6 13 10 45 142

40 28 12 63 6 16 12 52 160
50 32 12 7 7 16 12 60 170
63 40 16 83 7 21 16 70 190
80 50 16 103 10.5 22 16 90 210
100 60 20 127 10.5 27 20 110 230

143



EI XOPG =335

1ISO643 1S EL LM ¥

ISO6431 Standard Cylinder Install Accessory

() 9pF2R~F Overall Dimension

— AnnR O
TN %;1 ;:@ ****** : AA 158 | 179 | 190 200 | 340 | 380
L;:i - AC 142 | 161 | 170 | 185 | 210 | 220 | 250 | 300 | 320
AG acl [T AD 8 9 | 10 | 12 | 19 | 19 | 20 | 20 | 30
- AC+TT R A‘ ~ AE 48 | 53 | 63 | 73 | 98 | 115 | 140 | 180 | 220
' AA+ITRE AF 32 | 36 | 45 | 50 | 63 | 75 | 90 | 115 | 135
O 1 o yur N AG 24 | 28 | 32 | 32 | 41 | 41 | 45 | 60 | 70
ﬂﬁ AH 32 | 36 | 45 | 50 | 63 | 71 | 90 | 115 | 135
@/t i O AP 7 9 9 9 | 12 | 14 | 16 | 18 | 22
AT 4 4 4 4 5 5 8 8 9
— 22 o o Lo o Lo o
AJ 10.5 | 10.5
AK 7 7 9 9 | 1 | 1 | 13 | 17 | 17
BE BB BA 303 | 353 | 403 | 453 | 453 | 553 | 60.3 | 653 | 75.3
DT J _| {BH BB 10 | 10 | 12 | 12 | 16 | 16 | 20 | 20 | 25
= - ]
[6) ! oY = BC 50 | 55 | 65 | 75 | 100 | 120 | 140 | 180 | 220
| “ S P < %E BD 32 | 36 | 45 | 50 | 63 | 75 | 90 | 115 | 135
BE 80 | 90 | 110 | 125 | 154 | 186 | 224 | 280 | 320
@ i 27 BF 64 | 72 | 90 | 100 | 126 | 150 | 180 | 230 | 270
ﬂr/ BH 65 | 65 | 65 | 85 | 105|105 | 8 8 | 12
BP 7 9 9 9 | 12 | 14 | 16 | 18 | 22
T 325 | 38 | 465|565 | 72 | 89 | 110 | 140 | 175
CAZ!/Type ) %S WE
Symbol/ Bore
‘;i s 47 | 53 | 65 | 75 | 95 | 115 | 140 | 180 | 220
L o |z|o|a|e|w|a|®|s| o
&) O
DD 9 | 12 | 12 | 15 | 15 | 20 | 25 | 30 | 30
- DE 10 | 12 | 12 | 16 | 16 | 20 | 25 | 30 | 30
DJ 13 | 16 | 17 | 22 | 22 | 27 | 33 | 355 37
f@——@‘ DQ 258 | 27.8 | 317 | 307 | 49.7 | 59.7 | 69.7 | 89.7 | 89.7




EINOPC =x0: - AN

() 9MEZR~F Overall Dimension

(CBE/ Type )] ijn%bc’) lfqgfre 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200
cc 22 | 25 | 27 | 32 | 3 | 41 | 50 | 55 | 60

Dc,i cD 5 5 3 3 8 8 8 9 9

or CE 10 | 12 | 12 | 16 | 16 | 20 | 25 | 30 | 30

CPlp3

cJ 13 | 16 | 17 | 22 | 22 | 27 | 31 | 355 36

cP 26 | 28 | 32 | 40 | 50 | 60 | 70 | 90 | 90

cT 45 | 52 | 60 | 70 | 90 | 110 | 130 | 170 | 170

PBI PAI 52 | 60 | 68 | 79 | 99 | 119 | 139 | 181 | 181
| | PBI 465 | 535 | 615 | 715 | 915 | 1115 [ 1315|1715 | 1715
s 47 | 53 | 65 | 75 | 95 | 115 | 140 | 180 | 220

T 325 | 38 | 465|565 | 72 | 89 | 110 | 140 | 175

TCZE/ Type ) Hel M
Symbol/ Bore

EB EB 100 | 113 | 125 | 140 | 160 | 182 | 210 | 264 | 314

- EE3: EG EC 50 | 58 | 70 | 80 | 100 | 126 | 154 | 196 | 240
ED 325 | 38 | 465|565 | 72 | 89 | 110 | 140 | 175

EE 50 | 63 | 75 | 90 | 110 | 132 | 160 | 200 | 250

EI 2 EG 25 | 25 | 25 | 25 | 25 | 25 | 25 | 32 | 32

EP 12 | 16 | 16 | 20 | 20 | 25 | 25 | 32 | 32

ET 20 | 24 | 28 | 28 | 28 | 28 | 36 | 40 | 40

S 36 | 45 | 55 | 68 | 86 | 106 | 132 | 170 | 40

CR 2/ Type ) FMEIME | 35 | 40 | 50 | 63 | 80 | 100

Symbol/ Bore

HA 110 | 110 | 110 | 120 | 120 | 120

y k HB 80 | 80 | 80 | 80 | 80 | 80

G';e HC 36 | 45 | 55 | 58 | 86 | 106

Al" T ; HD 22 | 22 | 22 | 22 | 22 | 22
/I Q HE 96 | 109 | 121 | 136 | 156 | 178
/W B HF 73 | 8 | 98 | 113 | 133 | 155

I 5 I HI 685 | 765 | 82 | 8 | 113 | 130
E / _! © }_IJI ; }_'JI HJ 435 | 475 | 47 | 46 | 63 | 67
B : HQ 23 | 23 | 23 | 23 | 23 | 23

. HR 2 2 2 2 2 2

HT 12 | 12 | 12 | 12| 14 | 14

HP 12 | 12 | 12 | 12 | 14 | 14

145



Al

[©) Uy H-Fiamit

() 9MEZR~F Overall Dimension

YL/ Tie-in )3 13 3/ Tie-in )
NE
ND
NF NG

=0

~0.03
=017

NM_

$NC
IRY

,
%S
32 19 10 40 52 20 20 52

M10x1.25 10 26.2 20
40 254 12 48 67 20 M12x1.25 12 24 62 32.8 26.5
50 32 16 64 89 23 M16x1.5 16 32 83 39.3 33
63 32 16 64 89 23 M16x1.5 16 32 83 39.3 33
80 44.4 20 80 112 30 M20x1.5 20 40 105 53.3 45
100 44.4 20 80 112 30 M20x1.5 20 40 105 53.3 45
125 55 30 110 155 56 M27x2.0 30 54 148 64 55.6
160 70 35 144 201 72 M36x2.0 35 72 191 80 70.6
200 70 35 144 201 72 M36x2.0 3 72 191 80 70.6

352 —hiEE ) i =]
% 27iE 5/ Float Joint SL{E/FF S MA MB MC MD ME MF MG MH Ml

Bore/ Symbol

MI MH MG 32 73 | 20 6 45 8 26 |M10x1.25| 12 |[M10x1.25
‘\ 40 77 | 24 7 46 7 26 [M12x1.25| 12 [M12x1.25

< i 50 106 | 32 | 8 | 62 | 12 | 34 | M16x1.5 | 19 | M16x1.5

[ . e 63 106 | 32 8 62 | 12 | 34 | M16x1.5 | 19 | M16x1.5
— — 80 122 | 40 | 10 | 68 | 14 | 42 | M20x1.5 | 19 | M20x1.5

MG MF| 100 122 | 40 | 10 | 68 | 14 | 42 | M20x15 | 19 | M20x1.5

MB MD ME 125 147 | 54 | 135 | 77 16 | 40 | M27x2.0 | 24 | M27x2.0

MA 160 251 | 72 | 18 | 161 | 18 | 78 | M36x2.0 | 36 | M36x2.0

200 251 | 72 | 18 | 161 | 18 | 78 | M36x2.0 | 36 | M36x2.0
T S e Lo L Lol L L]
32 14 28 10 15 20 43 57 | M10x1.25

Rath 40 16 32 12 17 22 50 66 | M12x1.25

"1 — 50 21 42 16 22 28 64 85 M16x1.5

) @E 63 21 42 16 22 28 64 85 | M16x1.5

80 25 50 20 26 33 77 102 | M20x1.5

PD PE 100 25 50 20 26 33 77 102 | M20x1.5

PF 125 37 70 30 36 51 110 | 145 | M27x2.0

PG 160 43 80 35 41 56 125 | 165 | M36x2.0

200 43 50 35 41 56 125 | 165 | M36x2.0




‘J xgl c IIHGUAHG FNELIM.P«TIC

147

MI / MSI /| MTIZ 5l iso6432F453mk fRaT

MI / MSI / MTI Series ISO6432 Stainless Steel Mini Cylinder

() yT#388 Ordering Code

o AT

MI - 10 x 40 - S - CA LB MT
‘ ‘ FEREX

S ke e BMERS =0 £AE

MI: RS EL(Z 3hE) Cylinder Bore  Stroke S: MR CA: ZE&!

MSI: SRS E1(5 5710 H ) =E: R U SR

MTI: RS EL (B EHTINE) Magnet Code Back Cover

Series Code S: Attach magnet Blank: Basic Type

MI: Mini Cylinder (Double Action) Blank: Not attach CS: Swinging Type

MSI: Mini Cylinder (Sigle Action Extrusion type) magnet U: Perpendicular

MTI: Mini Cylinder (Single Action Drawing-in Type)

BIEER Fixed Type

=1 EAR

Blank: Basic Type

LB: AR EEE

LB: Front And Back Fixed Type

- % . FA: Az B E R
(-.J ﬁ?ﬁ% Graph|c Symb0| FA: Iilj'ontcfverFixedType

0 £ -

SDB: R EER
() & Specification

SDB: Back Cover Swinging
Type

A& Bore(mm)

B4R 85 %3/ Sensor
XG-038Y/ Type

-

R 2R E
Sensor fastening

fﬂﬁ’ﬁim B, BZRMEA. $3h5| A\E / Double Action or Single Action Extrusion type or Single Action Drawing-in Type
V:\Il:o!:fnjgr&dium =5 | Air

FERAEHEE Do%ﬂ%on 0.05~0.7 MPa

Operating Voltage Range siiﬁi n 0207 WP

ﬁsﬁaﬂcﬁﬁggm Resistance 1.5 MPa

EREER e 5-80C

s il 50~750 mm/s

ﬁg%f' BhE{EH / Buffer Spacer

BEnE M5 x 0.8 | ——

() 1T#& Stroke

RS e
¥ £ 4T #2 / Standard Stroke

8 10 15 20 25 30 40 50 60 75 80 100 125 150
10 10 15 20 25 30 40 50 60 75 80 100 125 150 160 175 200

g 12 10 15 20 25 30 40 50 60 75 80 100 125 150 160 175 200 250
Double Action 16 10 15 20 25 30 40 50 60 75 80 100 125 150 160 175 200 250 300

B 8~10 |10 15 20 25 30 40 50
SiigbAziE 12~25 |10 15 20 25 30 40 50 60 75

20 10 15 20 25 30 40 50 60 75 80 100 125 150 160 175 200 250 300 350 400 450 500
25 10 15 20 25 30 40 50 60 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600




EI XOPG =335

() $MEER~t Overall Dimension
MI &%l / Series

CA Type )3
A+1THR O
. ALHTRE
. N _GL
, M 2-X
K | p -Fo| &P1
ﬂi At e—
T - - - - T~
J N k 1 1 1
H E
L
J I G D
B A2+47H8 C
A3+THE
(UType
U ﬂ—% LIS &P
I
C1
/%‘&=A4+'??*%

() R~t% Dimension Sheet

HEINS
8 76 | 64 | 46 | 8 | 74 | 28 | 12 | 95 | 5 | 95 | 5 | 53 12 | 12

1.5 7
10 76 64 46 86 73.5 28 12 9.5 5 10 5.5 5.3 10 5.5 12 12
12 91 75 50 105 88 38 17 10.5 6 10.5 6 9 12.5 8 16 17
16 98 82 56 1M1 94 38 17 10.5 6 10.5 6 9 12.5 8 16 17
20 115 95 62 126 106 44 20 15 8 15 9 12 15 8 20 20
25 126 104 65 137 115 50 22 15 8 15 8 12 15 8 22 22

SRIFES

Bore/ Symbol
8 2.5 M4X0.7 |M12X1.25| 6 16 10 17 4 8 12 15 7 19 | M5X0.8| 4
10 2.5 M4X0.7 | M12X1.25| 6 16 10 17 4 8 12 15 7 19 | M5X0.8| 4
12 5 M6X1.0 | M16X1.5 6 22 14 20 6 12 16 18 10 22 | M5X0.8| 6
16 5 M6X1.0 | M16X1.5 6 22 13 22 6 12 16 20 10 22 | M5X0.8| 6
20 6 M8X1.25 | M22X1.5 7 24 11 29 8 16 22 26 12 29 PT1/8 8
25 6 M10X1.25 | M22X1.5 7 28 1 33.5 8 16 22 30 17 29 PT1/8 10




EINOPC =x0: - AN
IIHGUAHG FNELIMATIC ;

() 9MEZR~F Overall Dimension
MSI %31l / Series

CA Type )
A+17HR 0]
Al+fTRE
N Gl
M X 0s

F
i % $P1
> ;
H i E &P
L] . . Q

B A2+T# C
A3+4THR

L [ont
|
L

Cl
BE=A4+TRR

() R~F% Dimension Sheet
RIS _ c o | e .
Bore/ Symbol
28 12 9.5 5 95 5 5.3

76 64 174
10 76 - 64 - 46 - 86 - 73.5 - 28 12 9.5 5 10 5.5 5.8
12 91 116 75 100 50 75 105 130 88 113 38 17 10.5 6 10.5 6 9
16 98 123 82 107 56 81 11 136 94 119 38 17 10.5 6 10.5 6 9
20 115 140 95 120 62 87 126 151 106 131 44 20 15 8 15 8 12
25 126 151 104 129 65 90 137 162 115 140 50 22 15 8 15 8 12
= e

IIIII--IﬂﬂﬂﬂﬂII-I
8 11.5 M4X0.7 |M12X1.25 M5X0.8
10 10 | 55 | 12 12 | 2.5 | M4X0.7 |M12X1.25| 6 16 10 17 4 8 12 15 7 19 | M5X0.8 | 4
12 125| 8 16 17 5 M6X1.0 | M16X1.5 | 6 22 14 20 6 12 16 18 10 22 | M5X0.8 | 6
16 125] 8 16 17 5 M6X1.0 | M16X1.5 | 6 22 13 22 6 12 16 20 10 22 | M5X0.8 | 6
20 15 8 20 | 20 6 M8X1.25 | M22X1.5 7 24 1" 29 8 16 22 25 12 29 PT1/8 8
25 15 8 22 | 22 6 |M10X1.25| M22X1.5 7 28 11 [335| 8 16 22 30 17 29 PT1/8 10

149



EIKIPC

() 9MEZR~F Overall Dimension
MTI %7l / Series

CA Type

%2 It 1Ll

XINGUANG PNEUMATIC

)

AT x2 0
Al+TREE X2
N+{TH8 Gl, F
M, ‘ X T o
. - '
—\ =2 j iﬁ] 7 1
_ _ =L 2 _ <1
- N
i—l—.-‘— 1 {
L/ -
L
1 G D
B+{7 8 A2+17H2 C
AZ+FTRE X2
[ UType
Cc2
.
Cl
BEK=A4+178 x2

() R=t% Dimension Sheet

o é‘;:bo. ﬂﬂ
93 | 103 81 | 91 103 | 113 101 28 (12 |95| 5 | 95| 5 |53
10 93 (103 | - 81 | 91 - 63 | 73 - | 103|113 | - [90.5|100.5| - 28 | 12 | 95 10 | 65 | 6.3
12 108 | 118 | 133 | 92 (102 | 117 | 67 | 77 | 92 | 122 | 132 | 147 | 105 | 115 | 130 | 38 | 17 |[10.5 105| 6 9
16 115 (125|140 | 99 | 109 | 124 | 73 | 83 | 98 | 128 | 138 | 153 | 111 | 121 | 136 | 38 | 17 | 10.5 105| 6 9
20 132 | 142 | 157 | 112 | 122 | 137 | 79 | 89 | 104 | 143 | 1563 | 168 | 123 | 133 | 148 | 44 | 20 | 15 15 8 12
25 142 | 152 | 168 | 120 | 130 | 146 | 81 91 | 107 | 153 | 163 | 179 | 132 | 142 | 157 | 50 | 22 | 15 15 8 12
E E I OO a O RO aEEED
1.5 M4X0.7 |M12X1.25 M5X0.8
10 10 | 55 | 12 | 12 | 25 | M4X0.7 |M12X1.25| 6 16 10 17 4 8 12 15 7 19 | M5X0.8 | 4
12 125] 8 16 | 17 5 M6X1.0 | M16X1.5 | 6 22 14 | 20 6 12 16 18 10 22 | M5X0.8 | 6
16 125] 8 16 | 17 5 M6X1.0 | M16X1.5 | 6 22 13 | 22 6 12 16 20 10 22 | M5X0.8 | 6
20 15 8 20 | 20 6 M8X1.25 | M22X1.5 | 7 24 1 29 8 16 22 25 12 29 PT1/8 8
25 15 8 22 | 22 6 |M10X1.25| M22X1.5 | 7 28 11 [335| 8 16 | 22 30 17 29 PT1/8 10

150




o AT

‘@J xgpc IIHGUAHG FNEMEE

oS ER{REL

Aluminum Alloy Mini Cylinder

() yTI388 Ordering Code
MAL - CA 20 x 5 - 25 - S - LB-MT

|

REERK
Be =R:2RE  gg T2 MALJWIIEITEE  WERS
MAL : 5 55 CM:ERZ  cylinder Bore Stroke MALJ adjustable  S: A
MSAL: &% U pRE stroke type 2 W
MALD : W35 515 Back Cover Type Magnet Code
MALJ: S AT Blank: Fishtail type S: Attach magnet
Model CM: Rounded type Blank: Not attach
MAL: Double Action U: Horizontal type magnet
MSAL: Single Action
MALD: Double-shaft Double

Actiion .
I
MALJ: Double-shaft and BREA Fixed Type
adjust able stroke type s RN B 2E) Sensor

Blank: Basic Type

Y XG-03%!/Type
LB BiREER »
LB: Front And Back Fixed Type

RN RR B E T
Sensor Fastening
FA: BT EEE o

FA: Front Cover Fixed Type i

SDB: R H#EER
SDB: Back Cover Swinging

Type
() ERHFS Graphic Symbol
MAL MSAL MALD MALJ
Il A_A | |
n aadl . l 4
I 1 A4 1 ) I 1 T

() ##& Specification

;MERR

[ SxhBs#EhE! / Double Action or Single Action

TN 1

Workin}g Medium =5/ Air

Ef T%%zt E AR/ Basic type FAZY type LBE!/ type SDBE!/type

[EFE 35 }

Operating Voltage Range 0.1~0.9 MPa

PRI E 1

Ensured Pressure Resistance 1.35 MPa

EREETE o

Operatlil:g Temperature Range e

fEREESEE ~

Operating Speed Range 30~800 mm/s

ZE mAE .

—B%f;j:%f Zh# g/ Buffer Spacer

EEOE M5 x 0.8 G1/8" 1
ort Size

151



EI XOPG =335

() 1T Stroke

Borlz] (fné1m) #5 £ 7% / Standard Stroke Mazixj.csﬁ}riie Permi?giﬂi*istroke
16 25 50 75 80 100 125 150 160 175 200 300 500
20 25 50 75 80 100 125 150 160 175 200 250 300 500 650
25 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 500 650
32 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 500 650
40 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 500 650

() SEELHHNFE Cylinder theory output Sheet

SERE
Cylinder Inside 16 20 25 32 40
Diameter
EEINE
External Diameter of 6 8 10 12 16
Piston Rod
SHE Sxa SHE Sxa SHE
- 5 W_ﬁ Double Action w'l_f' Double Action W_ﬁ Double Action ﬁ'l_f' Double Action W_ﬁ Double Action
HHER, 31 R A EL) 31 R @ M i i
Motion Pattern | Single- - s | Single- ] sy | Single- - s | Single- ] sy | Single- - fivall]
action |EXUSON| by sige | action |BXUSON by gige | action [FXTUSION| pyigige | action |FXTUSION| pysige | action |EXIUSIOM by ige
Side Side Side Side Side

ZEER (cm’)
Compression Area

1 - 2.01 1.81 - 3.14 2.64 - 4.90 4.12 - 8.04 6.90 - 12.56 | 10.55

2.01 2.01 1.81 3.14 3.14 2.64 4.90 4.90 4.12 8.04 8.04 6.90 | 1256 | 12.56 | 10.55

- 4.02 3.62 1.57 6.28 5.28 2.45 9.80 8.24 4.02 | 16.08 | 13.80 | 6.28 | 25.12 | 21.10
2.01 6.03 5.43 4.71 9.42 7.92 7.35 | 14.70 | 12.36 | 12.06 | 24.12 | 20.70 | 18.84 | 37.68 | 31.65
=SEN

Air Pressure
(Kgffcm?)

2

3

4 | 4.02 8.04 7.24 785 | 1256 | 10.56 | 12.25 | 19.60 | 16.48 | 20.10 | 32.16 | 27.60 | 31.40 | 50.24 | 42.20
5| 6.03 | 10.05 | 9.05 | 10.99 | 15.70 | 13.20 | 17.15 | 24.50 | 20.60 | 28.14 | 40.20 | 34.50 | 43.96 | 62.80 | 52.75
6 | 804 | 12.06 | 10.86 | 14.13 | 18.84 | 25.84 | 22.05 | 29.40 | 24.72 | 36.18 | 48.24 | 41.40 | 56.52 | 75.36 | 63.30
7 | 10.04 | 14.07 | 1267 | 17.27 | 21.98 | 18.48 | 26.95 | 34.30 | 28.84 | 44.22 | 56.28 | 48.30 | 69.08 | 87.92 | 73.85
8 - - - 20.41 | 25612 | 2112 | 31.85 | 39.20 | 32.96 | 52.26 | 64.32 | 55.20 | 81.64 | 100.48 | 84.40

@ = = = 23.55 | 28.26 | 23.76 | 36.75 | 44.10 | 37.08 | 60.30 | 72.36 | 62.10 | 94.20 | 113.04 | 94.95

152




‘J xgl c IIHGUAHG FNELIMP«

153

() 9MEER=T Overall Dimension

(MAL-CA___J)}

Sl

TIC

o AT

A+{T32(Stroke)

C+{T2(Stroke)

E Fl. G G |.s
H arr PN G2 o P(H8) AIY
R |
s =
I~ 1 | i
fEE e B Q/ K @N kS
Sy i &
=
MAL-CM )
A1+17#2(Stroke)
B C+{T#2(Stroke)
E F G G D
H arlz 1EE 62| R
Y e 1 []
N A i 1
f
— — FEEEEEE T -2
) ] -
MAL-U )
A2+{T#2(Stroke)
B C+17 #2(Stroke)
E F G
H TN o G/2
i A [
o i} [
x|zt A e E
o

RRIFS
Inside Diameter/Symbol

20
25
32
40

M6 x 1

104
131 122 110 40 70 21 12 28 12 16 20 12
135 128 114 44 70 21 14 30 14 16 22 17
141 128 114 44 70 27 14 30 14 16 22 17
165 152 138 46 92 27 14 32 14 22 24 17

o o o O

M8 x 1.25

M10 x 1.25

M10 x 1.25

M12 x 1.25

NEZIFS

Inside Diameter/Symbol

M16x 1.5
M22 x 1.5
M22 x 1.5
M24 x 2.0
M30x 2.0

12
16
16
16
20

13
19
19
25
25

13
12
14
14
14

20

29

34
39.5
49.5

10
14

M5 7
G1/8 7
G1/8 7
G1/8 8
G1/4 8

24
33
33
37
47

275
29
29
32
41




EI XOPG =335

() 9MEER~T Overall Dimension

MSAL-CA )
A+{T32(Stroke)
B C+{T#2(Stroke) D
E F.l. G G s
Q% H
AR |[G/2 X G/2 R b P(HS8)
X $P(H8)
e [
o il [ i
= _ _.x1€,3 =t - A —— | ----—(5---_:2
-/ [ T
w
]
MSAL-CM )
A1+{T#2(Stroke)
B C+{T#2(Stroke)
E Fl.G D
H
AR |(G/2 X Gi2| R
\ f—
I I~
[
= i % —
-2 E 42
w
]

MSAL-U )

A2+{T2({Stroke)
B C+{T¥2(Stroke)

X

Y

AR

G
Gr2
L
PN ) E

o=

A A1 A2 @
Symbol ——— —
Yoo B D

JZi=7a
BLE/ATIE 0~50 |51~100| 0~50 [ 51~100 | 0~50 |51~100 0~50 |51~100
Bore / Stroke
20 131 156 122 147 110 135 40 70 95 21 12 28 12 16 20 12 6
25 135 160 128 153 114 139 44 70 95 21 14 30 14 16 22 17 6
32 141 166 128 153 114 139 44 70 95 27 14 30 14 16 22 17 6
40 165 190 152 177 138 163 46 92 117 27 14 32 14 22 24 17 7
NRIGS
Inside Diameter/Symbol
20 M8 x1.25 | M22 x1.5 10 8 16 19 12 12 29 8 6 G1/8 7 33 29
25 M10 x1.25 | M22 x1.5 12 8 16 19 14 12 34 10 8 G1/8 7 33 29
32 M10x1.25 | M24 x2.0 12 10 16 25 14 15 39.5 12 10 | G1/8 8 37 32
40 M12 x1.25 | M30 x2.0 12 12 20 25 14 15 49.5 16 14 | G1/4 9 47 41

154




EINOPC =x0: - AN

() 9MEER~T Overall Dimension

MALD )
A+1T#2(Stroke)X2
B C+{72(Stroke) B+{7#2(Stroke)
E E G F
H 2-X AY
ARG/2 G2 ]
. 1/ [
N il L A
_,gI_e_:____ —{H—{H= a4 ] % __}» _§

-/ || I _4_ /

w
M
MALJ )
A+{T12(Stroke)Xx 2
B C+{TE(Stroke) B+1T#2(Stroke)
E E G G F_ {T32(Stroke)
H 2-X AY
ARG2 VY G/2 ]
A (AL =
SN E=Es=TR 1 R I 741 1 e e B R 4 -z
= a ﬂ X _4‘-
w ™M T+ AT
{Adjust Stroke

MG
Inside Diameter/Symbol

20 M8 x1.25
25 135 128 44 70 30 14 16 22 17 6 M10 x1.25
32 141 128 44 70 30 14 16 22 17 6 M10x1.25
40 165 152 46 92 32 14 22 24 17 7 M12 x1.25
HNEIFS
Inside Diameter/Symbol
20 M22 x 1.5 10 29 8 6 G1/8 7 33 29 19
25 M22 x 1.5 12 34 10 8 G1/8 7 33 29 21
32 M24 x 1.5 12 39.5 12 10 G1/8 8 37 32 21
40 M30 x 2.0 12 49.5 16 14 G1/4 9 47 41 21

158



(©) U] HEcEiamial
AR 22 M

Mini Cylinder Accessories

() 9ME2R~F Overall Dimension

FA 2! / Type
®16~D25 ) $32~D40 )
B C+{7 %2 (Stroke) . +i7382 __BC
1 BC _ 2-gBP B <] C+{7%2 (Stroke) | rg—[% 4-gBP
guy gy T ] N
[T ‘ A e I 3 [N
==t o &8le fE@%&{' C) &8
I - P
128 Lse
%e . C (MSA C (MSAL
Symbol %7/ Series) 7/ Series)
RE/4TIE
Bore / Stroke
16 16
20 12
25 14
40 14

I'rl

LB 2! / Type

)
= ﬂ— - -Rﬂ 4-gAP £Hy
Y i et
T T L T T o - T IQ:t “
AQ AL AL |AQ AF f
AB AC+{T2(Stroke) AE

AA+{TIE (Stroke)

% AA(MSA AA(MSAL AC(MSA | AC(MSAL
AA AA 25l i 1] i AC AC |z7 i 9] i
Symbol slE %75/ Series) | &5/ Series) AB %%/ Series) | &%/ Series) AE | aF | AL laal ap AT | A

(MAZZI/ | (MALZRZI/ (MAZZI/ | (MALZRZI/

Bg?f//gfke Series) | Series) | 0~50 |51~100|0~50{ 51~100 Series) | Series) | 0~5|51~100|0~5|51~100
16 38|16| 98 | - | 98| 123 | - - |25| 86 | - |86| 111 | -| - |44|32|13|6 |55|3]20
20 40 (12| 122 | 116 |122| 147 | 116 | 141 |25| 106 | 100 |106| 131 [100| 125 |54 |40|15| 8 |65 3|25
25 44 14| 122 | 116 |122| 147 [ 116 | 141 |29| 106 | 100 |108| 131 [100| 125 |54 |40|15| 8 |65 3|25
32 44 14| 122 | 136 |122| 167 |136| 161 |19] 126 | 120 |126] 151 [120| 145 |59 |45|25| 8 |65/ 4 |32
40 46 (14| 122 | 136 | 122| 167 |136| 183 |21| 126 | 142 [126| 151 [142| 167 |64 |60 |25| 8 |6.5|45| 36

CB+T1# D

SDB #! / Type

4 | |
— | - 4-gCP
o]
-
o
PA CF !
PB cD
|
] ]
s CB(MSA CB(MSAL
Symbol CB CB | &3%l/ Series) | %!/ Series)
SE P2y
= of eries, eries, |~ ~ o~ ~
Bore / Stroke 0~50|51~100(0~50| 51~100
16 16 9 12 - 107 - 107 | 132 - - 23 - 12 20 2.3 55 | 165 | 21 17
20 21 12 16 51 128 122 | 128 | 153 | 122 147 48 67 32 32 3 6.5 22 27 | 225
25 21 12 16 51 132 126 | 132 | 157 126 151 48 67 32 32 3 6.5 22 27 | 225
32 27 15 16 51 135 129 | 135 | 160 | 129 154 52 67 36 36 4 6.5 24 30 | 245
40 27 15 20 55 137 153 | 137 | 162 153 178 56 71 40 40 4 6.5 28 34 | 285

156




EI XOPG =3¢ 78

A R L Bk 5 1

Mini Cylinder Accessories Connection

() 9pMEER=F Overall Dimension

Y% Joint size 133k Joint size
D16 )
8.5

o, 1

/ -
e | e T
— Méx1 L@J |_125 Méx1

8.5 ==
7 21 |t
| ~ Nﬂ i
I

$20~d40 )

= [T
\M |

aNC

NE | NG | \NH

oNC

=
&
ES
|
zl\lK

RIS
Inside Diameter/Symbol
20 16 8 30 40 1" 15 M8X1.25 10 16 14 8 8 15 40 21 16.5
25 19 10 40 52 15 20 | M10X1.25| 12 20 18 10 10 20 52 25 | 195
32 19 10 40 52 15 20 |M10X1.25| 12 20 18 10 10 20 52 25 | 195
40 254 | 10 45 57 15 25 |M12X1.25| 15 24 23 14 10 20 57 31 26

15%



EIKIPC

HESEL

Thin Type Cylinder

=y Sl

XINGUANG PNEUMATIC

() ##& Specification

A#& / Bore (mm)

R

Motion Pattern

() 1T858 Ordering

Code

SDA - 20 x

MT

A5/ Type RS

SDA: EFhA Cylinder Bore
SSA: iR A

STA: B F5| ANE

SDAD : W 4!

SDA: Double Action

SSA: Single Action Extrusion type
STA: Single Action Drawing-in Type
SDAD: Double-shaft Type

118 WAKS

Stroke S: MiEA
=B M
Magnet Code

S: Attach magnet
Blank: Not attach

magnet

ZFEl/ Cog Type
=H: RRY

Blank: Internal Thread

B: JM2LL

B: External Thread
N: JCi24

N: No Thread

BRI 3S2EY Sensor

XG-11 &1/ TypeI

“

£%1E / Double Action

BN E S5 AEL

Single Action Extrusion type  Single Action Drawing-in Type

TENR = A
Working M);dium =5/ Air
EHE -
EREHTEE Double Action 0.1~0.9 MPa
Operating Voltage Range Sﬂijjgl_l 0.2~0.9 MPa | R
ingle Action
{RAETE 71
Ensured Pressure Resistance 1.35 MPa
FERIREEE 0
Operat’ing?emperature Range -5~70°C
EE ~ ~ ~
EREESE T 30~500 mm/s 30~350 mm/s 30~250 mm/s
Operating Speed Range Sﬂfd]gg 100~500 mm/s R
ingle Action
EEOE M5x0.8 | G1/8" G1/4” | G3/8”
ort Size
S
W G | G| gmm | BT o | EeRd
at';l:éh Every Smm is Every Smm is E§e5rr3‘/’1 gqm_mj%s Every 5mm is E§e5rr3;1 ?m_mj%s Every 5mm is
gxE magnet groupgeigdaes one groupé?gdaes one grouped as one grade grou%ergdaes one grouped as one grade groupge;*gdaes one
Double 5~50 mm 5~75mm 590 590 100~120 mm
ction | gAY F5mm—% F5mm—% ﬁSmmTZji ﬁSmngi F5mm—%
Attach Every 5mmis Every 5mmis Every 5mm is 100mm Every 5mm is Every 5mmis
magnet gro“%ergdis oz grou;;gdaes ON€ | grouped as one grade grouped as one grade grou%ergdaes one
<Rt 5~30 mm
T,\[ﬁtﬁ 5~30 mm H5mm—%
ttach F5mm—K Every 5mm is -
e 5 n?agﬁet Every 5mm is grouped as one grade grouped as one
Single grade
Action ) 5~30 mm
FffFE 2L 5~30 mm F5mm—
Attach F5mm—% Every 5mm is -
magnet Every 5mm is grouped as one grade grouped as one
grade
B {Ti2 60 100 120 130
Max. Stroke mm mm mm mm

158




EINGPC =3 0x A

() 9MEER~T Overall Dimension

SDA12-16 ) SDA20-100 )
A+1T#2(Stroke)
A+{7#2(Stroke) B1 C+{712(Stroke) D
Bl C+f742(Stroke) S
P3 P3
24 Wl

LNES N
I' P | uxas

2-P1

N 2-0 NT_| KiE(Depth)E) ' & y,

T

DL

N1 N1 K1R(Depth)E

A ZIfF 5
Bore / Symbol

12 22 5 17 32 5 27 - 6 4 1 M3x0.5 102 | 28 | 6.3 6 M5x0.8
16 24 55 18.5 34 | 55 | 285 - 6 4 15 M3x0.5 1 28 | 7.3 | 6.5 M5x0.8
20 25 55 19.5 35 | 55 | 295 36 8 4 1.5 M4x0.7 16 28 | 75 - M5x0.8
25 27 6 21 37 6 34 42 10 4 2 M5x0.8 17 2.8 8 - M5x0.8
32 315 7 245 |[415| 7 345 50 12 4 3 M6x1 22 2.8 9 - G1/8
40 33 7 26 43 7 36 58.5 12 4 3 M8x1.25 28 2.8 10 - G1/8
50 37 9 28 47 9 38 715 15 5 4 M10x1.5 38 28 | 105 - G1/4
63 41 9 32 51 9 42 84.5 15 5 4 M10x1.5 40 28 | 115 - G1/4
80 52 1" 41 62 1" 51 104 15 6 5 M14x1.5 45 4 14.5 - G3/8
100 63 12 51 73 12 61 124 18 7 5 M18x1.5 55 4 20.5 - G3/8
Bo[:i *,égi,im P1 P3|P4| R[S [T |T2|U|V | W]|X]|Y
12 Wiz/Double Side:®6.5  F/Cog:M5x0.8  i&FL/Through Hole:®4.2 12 | 45| - 25 (162 23 | 16 | 6 5 - -
16 Wiz/Double Side:®6.5  ZF/Cog:M5x0.8 i@ FL/Through Hole:®4.2 12 | 4.5 - 29 (198| 28 | 16 | 6 5) - -
20 Wiz/Double Side:®6.5  ZF/Cog:M5x0.8 i@ FL/Through Hole:®4.2 14 | 45| 2 34 | 24 - 21 8 6 |11.3| 10
25 Wiz/Double Side:®8.2  ZF/Cog:M6x1.0 i@ FL/Through Hole:®4.6 15 | 65 | 2 40 | 28 - 31| 10 8 12 | 10
32 Wiz/Double Side:®8.2  F/Cog:M6x1.0  i&FL/Through Hole:®4.6 16 | 55 | 6 44 | 34 - |215| 12 | 10 |18.3| 15
40 Wiz/Double Side:®10  ZF/Cog:M8x1.25  i&7L/Through Hole:®6.5 20 [ 75| 6.5 | 52 | 40 - |225| 16 | 14 |21.3| 16
50 Wiz/Double Side:®11  3F/Cog:M8x1.25 i@ ¥L/Through Hole:®6.5 25 | 85|95 | 62 | 48 - |415]| 20 | 17 | 30 | 20
63 Wiz/Double Side:®11  3F/Cog:M8x1.25 i@ ¥L/Through Hole:®6.5 25 (85|95 | 75 | 60 - |3.15| 20 | 17 |28.7| 20
80 WiZi/Double Side:®14  ZF/Cog:M12x1.75 i&7FL/Through Hole:d9.2 25 [10.5] 10 | 94 | 74 - |365| 25 | 22 | 36 | 26
100 Wiz/Double Side:®17.5  5F/Cog:M14x2 1B ¥L/Through Hole:x®11.3 | 30 | 13 | 10 | 114 | 90 - |365| 32 | 27 | 35 | 26

158



= =
EIKOPG T2t
XINGUANG PNEUMATIC

() 9MEER~T Overall Dimension

SSA12-16 )3 SSA20-40 )
A+{T12(Stroke)
A+13 #2(Stroke) B1 C+{T#8(Stroke) D
B1 C+{T18(Stroke) TS1 lP3,, LI TS1
o }f’ ~51] w = 2 o e
I, e L waes @ P L was A i {)
j{ = g7 NN 2he I : ; m
S 2 2-P1 3 Sl _ | > 7| ||
o ol IS NP ) i ES
mi o/ [N @% P TN /@
Plsel e
L L K1Z(Depth)E
G
r
STA12-16 ) STA20-40 )

A+{T18(Stroke) X2

A+IT12(Stroke) X 2

| B1+{718 C+{T12(Stroke) B1+7ig C+{TE(Stroke)
Stoke) | ps 5y ok T P3 S
fe B2y pa 2 ol B3 ay e T
P4 P4 P4 P4 |
M == Riad ey R
e Ml LR
— ’ ux45° /l :

2 1 2-P1 $
N1 o 1 K1i§(Degth)E>\ o/
-G - = A

ek

T
m
—’V>
()
BN
|

rOs
(@

F+iTi2 >

N1 [ N1 K1R(Depth)E

G
Fetile

A X / Type FrtEEIStandard type FiF# B Attach magnet

AfZ / Bore
?'-'r'%' /Symbol
-. .
42 6 4 1 M3x0.5 102 | 28 | 6.3 6
16 34 44 55 | 285 | 385 | 44 54 55 | 38,5 | 48.5 - 6 4 |15 M3x0.5 1 28 | 73 | 65
20 35 45 55 | 295 | 395 | 45 55 55 | 395 | 495 | 36 8 4 |15 M4x0.7 16 | 28 | 75 -
25 37 47 6 34 41 47 57 6 41 51 42 10 4 2 M5x0.8 17 2.8 8 -
32 415 | 51.5 7 345 | 445 | 51.5 | 61.5 7 445 | 545 | 50 12 4 3 M6x1 22 2.8 9 -
40 43 53 7 36 46 53 63 7 46 56 [ 585 | 12 | 4 | 3 M8x1.25 28 | 28 | 10 -
P

e e A
12 M5x0.8 W iz/Double Side: 6.5 3F/Cog: M5%0.8  i&¥L/hrough Hole: 4.2 16.2
16 M5x0.8 Wi#/Double Side: 6.5 3F/Cog: M5x0.8 i&FL/hrough Hole: ®4.2 | 12 | 45| - | 29 (19.8| 28 |16 | 6 5 - -
20 M5x0.8 Wis/Double Side: 6.5 3F/Cog: M5x0.8 i&FL/hroughHole: ®4.2 | 14 |45 | 2 | 34 |24 | - |21 8 6 [11.3| 10
25 M5x0.8 Wi#/Double Side: 8.2  5F/Cog: M6x1.0 1&FL/hrough Hole: ®4.6 | 15 | 55| 2 |40 (28 | - (31|10 | 8 [ 12| 10
32 G1/8 Wizi/Double Side: 8.2 7F/Cog: M6x1.0 i@FL/hroughHole:®4.6 | 16 | 55| 6 | 44 | 34 | - [2.15| 12 | 10 [18.3| 15
40 G1/8 Wi#/Double Side: @10  5F/Cog: M8x1.25 j@Fl./hrough Hole: ®6.5 | 20 | 7.5 (6.5 | 52 | 40 | - [2.25] 16 | 14 [21.3| 16




EINGPC =3 0x A

() 9MEER~T Overall Dimension
[ SDA, SSA, STA )l

B2
E G
H F
J
w D —
°% > of
< -
W

RIS
Y SymbOI -
12 17 16 10 8 4 2.8 6 5

4 1 M5x0.8 10.2
16 17.5 16 4 1.5 10 8 4 M5x0.8 1 2.8 6 5
20 20.5 19 4 1.5 13 10 5 M6x1.0 16 2.8 8 6
25 23 21 4 2 15 12 6 M10x1.25 17 2.8 10 8
32 25 22 4 3 15 17 6 M14x1.5 22 2.8 12 10
40 35 32 4 3 25 19 8 M18x1.5 28 2.8 16 14
50 37 33 5 4 25 27 1 M18x1.5 38 2.8 20 17
63 37 33 5 4 25 27 1 M22x1.5 40 2.8 20 17
80 44 39 6 5 30 32 13 M22x1.5 45 4 25 22
100 50 45 7 5 35 36 13 M26x1.5 55 4 32 27

161



EIKIPC

XU EL

52 1L 1Ll

XINGUANG PNEUMATIC

Double-shaft Cylinder

() TI388 Ordering Code

N - 20 x 50 - S
RIIKS H1% 718 waKS

TN: i E A Cylinder Bore Stroke S: MifA

Series Code =R N i)
TN: Double-shaft Double Magnet Code
Action S: attach magnet

() BRFS Graphic Symbol

PN

() #}#& Specification

TENR
Working Medium
HERR
Motion Pattern
ERENEE

Operating Pressure Range
PRIEME 1

N. Proof Pressure

&R ESEE
Operating Temperature Range
15 R SE
Operating Speed Range
BEITIE

Adjust Stroke
A

Buffer Type
TEEHEE

Don't Grey The Precision
®EQR

Port Size

=5/ Air

W zh/ Double Action
0.1~0.9MPa
1.35MPa
0~70C
100~500 mm/s

-10~0 mm
&/ No IR = Fr/ Shock Absorption Spacer
0.4° 0.3°

M5 x 0.8

Blank: not attach
magnet

I*H:xr_ Bore(mm)

| PT1/8"

() 178 Stroke

Bore (mm)

16 10 20 30 40

20 10 20 30
25 10 20 30

32 10 20 30

50
40 50
40 50
40 50

¥r 1T #2 / Standard Stroke

mAITIE
Max. Stroke
70

60 70 80 90 100 125 150 175 200 100

60 70 80 90 100 125 150 175 200 100

60 70 80 90 100 125 150 175 200 100

60 70 80 90 100 125 150 175 200 100

BiFiTE
Permissible Stroke

200
200
200
200

162




EINOPC =x0: - AN
IIHGUAHG FNELIMATIC L

() B3R Part Sheet

2R/ Name #1#4/ Material 2 %7/ Name ###/ Material
[abay::L L oA ;
1 N. Hexagon Socket Head Cap Screw . " Afk Body & Aluminum Alloy
FimE e i
2 Buffer Spacer PU 12 Z2hE 5 Buffer Spacer PU
AR « ' oA )
3 Adjusting Screw - 13 & ZEPiston S& & Aluminum Alloy
4 il Axes - 14 HitkMagnet -
AR b . HEOS
5 Front Board [%41$% Free Machining Iron 15 Piston “O” Order NBR
6 GIESGES } 16 i BE IR }
Front Compaction Wearing Ring
CR.#IR - REO%
7 “C” Type Ouch #E M Spring Steel 17 Rear Cover “O” Order NBR
A=0% CH IR )
& Front Cover “O” Order NBR 18 “C” Type Ouch #EW Spring Steel
- : =5 )
=4 oA O A
9 iz Front Cover $2& % Aluminum Alloy 19 Rear Cover #BEE Aluminum Alloy
10 L IY 23 :
Axes Axletree
g . . = .
() Hi#R R~ Front Board Dimension () 45#J@ Structure Drawing
»16~25 )
_ PB PA
S 6 7 8 9 16 11 12 f 14 15 16 17 18
----- i WASCRN ISP
H-e to 7N 7N o 4 & T —
N\ A N = >
/ 2 T ] N\19
o — o &
1
2-PC e
PH PF 29 /
& I [ 1
© Pﬁ [l e
- {
an

]

12/ S
Bore/Symbol
10

®6.27%3.5mm BFL:P3.3 M3x0.5%5.5
16 24 1 ®7.8%4.6mm EBFL:P4.3 6.2 8 3 6.2 M4x0.73%9
20 28 1 ®11386.8mm &EFL:$6.5 8.2 10 3 8.2 M6x13R10
25 34 1 ®11386.8mm &EFL:$6.5 10.2 12 3 10.2 M6x13#10
32 42 2 P17:R12mm BFL:P10.5 14.2 16 3 14.2 M10x1.5:%13

163



EI XOPG =335

() BFMMEEGIEE Allow The Side Toward Load

N
19.6]232
W
‘ 14.7
[L— & & .
—= 9 ki i
&
s s B oggq$25
a \
$20
491416 ——
2.9
$10 — T |
—_— —— ]
1Kgf=9.81N 0 20 40 60 80 100
1T 2 (mm)
I .
() O2-5%k “O"Order List
AIEEHE EEOS AIEZ0% EEHOS
Front Cover Seal Ring Piston “O” Order Front & Rear Cover “O” Order Piston Rod “O” Order
HNZIH=E
Bore/Number 1 2 2 1
10 PDU-6 APA-10 10x1.5 P12
16 PDU-8 APA-16 16%x1.5 P16
20 PDU-10 APA-20 20x1.5 P20
25 PDU-12 APA-25 25x1.5 P20
32 PDU-16 APA-32 32x1.5 P25
., . .
() MR~ Overall Dimension
(010
A+ITRE X2
B+iT# C+HT#
17 15 D£0.2+17H
16| |5 47 _7 E+0.2 WIL2- 3.4
%ng ‘ 5 b 6K6.2E 1L
"‘ »_@_ L — 3
L4 =i - - ®
PSRRI P
8 V= <
g N 01 i i _ « @
- =
2-M3x0.5 2-M3on54/ #IL2-43.4
i 63 IFEIL
20 | 10
l—T o .
s
ol 2-M5x 0.8
BEOK




EIKIPC

B4 S

KINGUANG PNEUMATIC

() 9MEZR=T Overall Dimension

$16~25 )

A+{THE x2
B+{7# C+iTHL
15 D+ 02497 B
T
F/ i H E+0.2
" ( ff*‘f‘- 2-p1
m\:& | I8l AL
n
& N MY
= | o g |Ii X o
i o ] gl % ‘_ﬁ__&_ S —1 3
@ = = L L T —— - : =
(o] L »’
=
2-1 / 2-p2
2-M4 % 0.7 0
- n
e —— L S |
B:T & o
= 2-M5 % 0.8
W Om
»32 )3
A+1THE x2
B+iT# C+{7#2
40 /l 17 D+ 0.2+17#2
38 17/ 1758 12 E+0.2 #FL2-$5.5
, i G OTRI3. 2R E AL
o 7 e—=
1@3 [ | Y S o ¢ - sy 1 1 / A
S 38 3l o v =t O
&l R = — =% =
~ e ' o0 @/
=
2-M6x 1 2-M8x 1.25 WfL:2- 5.5
%10 B8 b 9WS 4E EFL
rﬂ.l |.1:‘.
— Py
=it
B 2-PT1/8
BEOR
H12/fS
Bore/Symbol
16 68 15 53 20 30 35 40 45 50 55 60 65 70 75 | 87.5 | 100 8 | 47 24
20 78 20 58 20 35 35 40 45 50 55 60 65 70 75 [ 875 | 100 [ 10 [ 55| 9 | 28
25 81 19 62 30 40 40 45 50 55 60 65 70 75 80 [ 925|105 (10 |66 | 8 | 34

HZ/HS
Bore/Symbol

6.2

16 M4x0.7;R5
20 M4x0.7;R5 8.2
25 M4x0.8%6 10.2
512/ E
Bore/Symbol 30 40 50 60 70
35 40 45 50 55
1 2| 0 4 0 7 10 12 15
32 108 30 78 35 0 0 3 0 5l 60 0 80 90 0 5) 0
45 50 55 60 65 70 75 80 85 90 (1025 115

165



EI XOPG =335

% &= MEMO




—{u =B

Two-position Two-way Solenoid Valve




EI XOPG =335

VXZ 9 == @@

VX Series Two-position Two-way Solenoid Valve

() 3iTHIE8 Ordering Code

VX2120 - 08 A AC220V
MBS BEEOR B E
Specification Code Port Size Standard Voltage

06: G1/8 A DC12v
08: G1/4 Wiring From DC24V
10: G3/8 Blank: Standard Type AC24V
15: G1/2 A: Large Flux AC36V
AC110V
AC220V

() BRFAS Graphic Symbol T

B

() ##& Specification

£ 5 Model VX2120-06 VX2120-08 VX2120-10 VX2120-10A VX2120-15

THENTRR - - :
Working MJed\um =5, K. &5 / Air, Water ,Steam

FEARN BE#R / Direct Drive Type

Motion Pattern

%’? E /% / Normal Close Type
1% A JE 1 Kfg/em? 1o
Working-pressure
:tgﬂ_?z

K::ire oﬁ:\ow Rate 3 10 13

EEOE G1/8" G1/4" G3/8" G3/8" G1/2"
Port Size

ERIRESER -5~+150°C -5~+80°C
Operation Temperature Range

SAHMR VITON NBR

Material Oil Seal

() 9MEZR-=T Overall Dimension

Model Bore
f 25 40 64

,@é;i% . VX2120-06 | 18"
: : VX2120-08 14 25 40 64
i i VX2120-10 3/8” 40 48 80
= ! o VX2120-10A | 38’ 48 68 110
P | VX2120-15 12 48 68 110
fe
L SN
A

N\ LPort B




‘J xgl c IIHGUAHG FNELIM.P«TIC

2QZR | siz=Em

2Q Series Air Control Two-Way Valve

() {7388 Ordering Code

169

2Q - 200 - 25
BRI mETLE BEOE
2Q: ZHZ@SER Aperture of Flow Rate Port Size
Specification Code 200: 22mm 25:1"
2Q: two position two way Air 350: 35mm 40: 1'/2"
Control valve 500: 50mm 50: 2"

() EHFHFS Graphic Symbol —

() ##& Specification

o+ H*

£ S5 Model 2Q200-20 2Q200-25 2Q350-40 2Q500-50

vﬂ;%'\fwum =5, K. H. FLHT / Air, Water, Oil, Gas

HEARX _ . :

Motion Patier Bz / Direct Drive Type

MEBFLE mm

A}::ire of Flow Rate 22 22 35 50

CViE

CV Value 12 12 24 48

EEDE G3/4” Gt G172 2"

oint Pipe Bore

EF I Bk e

Operat{on Fluid Viscosity 50 CSTLLT (Below)

fERE A N

Working Pressure Rang 0~0.7MPa

BAMEN

Mye;x Pressure Resistance 1.05MPa

I S5 N

Control Pressure Rang 0.3~0.6MPa

TIERESER - P

Operatlilvl:; Temperature Rang -5~+100°C

AR R .

Material ofJBody #14R Brass

R ,

Matoral ofJO|I Ses RMUAZKHE PTFE

el . . . )

Control Joint P\pe Bore 2-G1/8 2-G1/8 | 2-G1/4 | 2-G1/4

A . .
() 9MER=F Overall Dimension
2Q200-20
2.E 2Q200-25 99 116 57
2Q350-40 123 146 95
[a] 2Q500-50 155
= m
o — T 2Q200-25 G1/8" G3/4"
2-F 2Q200-25 95 G1/8" G1"
A c 2Q350-40 116 G1/4" G1'/2"

2Q500-50 114 G1/4" G2"




EI XOPG =335

2V &5 =¢

—iE e

2V Series Two-position Two-way Solenoid Valve

() iTHIES Ordering Code

() BRFHFS Graphic Symbol

-

M

o+ H»
o+ H»

() ##& Specification

2V 025-06 2V 025-08 2V130-10 2V130-15 2V 250-20 2V 250-25

=5, 7K. il /Air, Water, Oil

£ = Model

TN R
Working Medium

HEAR

Motion Pattern

B Type
MEFLE mm
Aperture of Flow Rate
CViE

CV Value

BEEOR

Joint Pipe Bore

fE IR R E
Operation Fluid Viscosity

fERER

Working-pressure
RAME S

Max. Pressure Resistance
TIERESE
Operating Temperature Rang

&£ RSB

Voltage Range

RIFER

Protect Class

FHE

Power Consumption
ki

Insulation

AR R
Material of Body
SHE R
Material of Oil Seal
A2 R A 1)

Shortest Excitation Time

S / Air, 7k / Water, @ / Oil: 0~1.0MPa

2V 130 - 15 - AC110V
MRS MEILE EEOE FRERE
2V: =i =38 FL R Aperture of Flow Rate Port Size Standard Voltage
Specification Code 025: 2.5mm 06: 1/8" 08: 1/4" DC12v
2V: Two-position Two-way  130: 13mm 10: 3/8" 15:1/2" DC24V
Solenoid Valve 250: 25mm 20:3/4" 25:1" AC24V
AC36V
AC110V
AC220V

HE#h= / Direct Drive Type | £S5 / Guide Type
# % / Normal Close Type
25 13 25
0.23 6.2 23
G1/8" G1/4" G3/8" G1/2" G3/4" G1”

1.2MPa

-10~+80°C
+10%
IP65
AC:7VA/60Hz, 9VA/50Hz ;
F% | F Class
485548 / Aluminum or Brass
NBR=VITON / NBR or VITON

0.05%) / Second

20 CSTILF (Below)

= / Air, 7k / Water, 38 / Oil: 0.05~0.7MPa

1.05MPa

DC:6W

#4f / Brass

NBR

Tk R R4S TR MARITE 5T 77354/ Please contact Factory for special voltage and Specification.




‘J xgl c IIHGUAHG FNELIM.P«TIC

PU R = —s@sssim

7/

PU Series Two-position Two-way Solenoid Valve

() BRFS Graphic Symbol

() #}#& Specification

() iTHE8 Ordering Code

PU 220 - 04 A - AC110V T

HEAR BEEORZ FRAERE KERR

220: HHR Port Size Standard Voltage =A: frEZ%E

Motion Pattern 01:1/8"  08:1" A DC12v HERE&E

220: Direct drive type  02: 1/4"  12:1'/4" AR: DC24V Wiring Form
03:3/8"  14:1'/2" F: AC24V Blank: Standard Coil
04:1/2"  20:2" Wiring Form AC36V T: Timer Coll
06: 3/4" Blank: Standard Type AC110V

A: Large Flux AC220V

MIERED

PU: Z =i BB

Specification Code

PU: Two-position Two-way Solenoid Valve

Direct Drive
F: Flange Type

T )=

B

AR: Small Aperture

PU220-01AR PU220-02AR PU220-03AR PU220-03A PU220-04A PU220-06A PU220-08A

TIEN R . . '

Wo’!ﬁnfngJed\um TR, K. / Air, Water, Oil

nzﬁﬁ?gim Bz Direct Drive Type

%3 & A2 / Normal Close Type

mEFLEMmMmM

A’:)Lire of F(Iow Rgte 1.5 23 8.0 13 13 20 25

g}/\{/ﬁ 0.10 0.18 1.00 4.00 4.00 8.60 11.00

‘alue

BEOE G1/8" G1/4" G3/8" G3/8" G1/2" G3/4" Gt
ort Size

156 PR AR T

Operatig; Fluid Vis(isity 50 CST

et 0~0.7MPa

Working-pressure

RAME S

Mye;x. Pressure Resistance 1.05MPa

TiERE .

Operatling)'l'lemperature -5~+80°C

() 9MEZR-=T Overall Dimension

|_PU Series )}
= PU220-01AR G1/8"

PU220-02AR G1/4 " 22 72 254

L PU220-03AR G3/8 " 55 79.5 30

PU220-03A G3/8 " 66.5 101 48

‘ jL PU220-04A G1/2" 66.5 101 48

L ﬂ\ ron PU220-06A G3/4 " 71 107 48

< A PU220-08A G1" 96 120 70




EI XOPG =335

PU % 5l muisim

PU Series Solenoid Valve

() iTIE8 Ordering Code

PU 225 - 06 A AC220v - T
HEAR BEEOR PR E KERR
225: £ 8X Port Size A Standard Voltage ZA: frELZE
Motion Pattern 03: 3/8" F: DC12v T #HER%E
Prp— 225: Guide Type 04: 1/2" Initial Estate DC24V Wiring Form
PU: —11"_L—ié$ﬁliﬁ€| 06: 3/4" A: Standard Type ~ AC24V Blank: Standard Coil
SPU: 54— i — 8 3 08: 1 F: Flange Type 28:13162)/\/ T: Timer Coll
Specification Code AC220V

PU: Two-position Two-way Solenoid Valve
SPU: Stainless steel Two-position Two-way Solenoid Valve

() BFFFS Graphic Symbol WE]:DE

B

() ##& Specification

PU225-03A PU225-04A PU225-06A PU225-08A PU225-12A PU225-14A
Al 5 Model PU225-20A
SPU225-03A SPU225-04A SPU225-06A SPU225-08A SPU225-12A SPU225-14A

V:\E)!Enfgrl\gd\um =5, 7K. il /Air, Water, Oil

n?iﬁi%&m 5|53 Guide Type

%%)zk %L / Normal Close Type

A’f;%ﬂﬁ(&m%e 13 13 25 25 38 38 50
g\Y\Eue 4.50 4.50 12.00 12.00 22.50 30.00 48.00
2%:%5& 3/8" 172" 3/4" 1" 174" 172" 2"
I\;W*;E:i)}fagaby #4R/Brass or $¥/Steel

L 50 CST

ﬁi&pﬂssure 0.5~10 kgf/cm?

i? PhESSEurZJ Resistance 15 kgffem?

OIp!:Et;i:lElllglgemperature -10~+80C

() 9MER~t Overall Dimension

|_PU Series )} % & Model | [0 Bore A B ¢
. ] suzsow| 0 | S | s | a0
| sruzmaen| 27| %68 | wes | e
/
sz 4| W0 | s | s
PU225-20A 2" 160.0 160.5 112.0

172




EI XOPG =3¢ 78

2W % 51 = i — @ e il

2W Series Two-position Two-way Solenoid Valve

() iTIE8 Ordering Code

2W 025 - 06 F - AC1M0V - D
mEFLE BEEOR REMR j3-3i75
Aperture of Flow Rate Port Size =H: BER TH: RRGIGRRTEE
012: 1.2mm 06: 1/8" F: k=8 D: #&E X BL%E
020: 2.0mm 08: 1/4" Initial Estate E: BhIREE
025: 2.5mm 10: 3/8" Blank: Pipe Jion Type G: Bk
040: 4.0mm F: Flang Type Wiring Form
MBI ED — Blank: Lead Wire Type
2W: I @B HIE (H#R) Efnffd Voltage D: Din Connector
2WH: Zh T @ BE (SEEHR) DCA2V E: Blast-proof Coil
2S: REFM_ ML @A (HHRX) DC24V G: Water-proof Coil
2SH: RFM M —BEHB(EEEDR) AC24V
Specification Code AC36V
2W: Two position two way solenoid valve AC110V
(direct drive type) AC220V

2WH: Two position two way solenoid valve (high
pressure direct drive type)

28: Stainless steel two position two way solenoid
valve (direct drive type)

2SH: Stainless steel two position two way solenoid
valve (high pressure direct drive type)

() BRFHFS Graphic Symbol

() ##& Specification

—_— 2W025-06 2W025-08 2W040-10 2WH012-06 2WH012-08 2WH020-10
== 28025-06 28025-08 28040-10 2SH012-06 28H012-08 2SH020-10

TAEN R =5, K. jH. EH /Air, Water, Oil, Gas

Working Medium

HIEAR HE#= / Direct Drive Type

Motion Pattern
Tg__y”p;_;et B / Normal Close Type
EFLE(mm) 25 70 12 20

Aperture of Flow Rate

CViE 023 0.60 0.05 0.15

CV Value

EEOE G1/8" G1/4" G3/8" G1/8" G 1/4" G 3/8"

Port Size

{ERRARE T 20 CSTLLT (Below)

Operation Fluid Viscosity

ERE A 0~0.7MPa 0~2.0MPa

Working-pressure

,\%*mﬂih i 1.0MPa 3.5MPa
lax. Pressure Resistance
TIERAESER .
Opefatlil:z;imperature Range -5~+80C
£ R ESEE .

Voltage Range

AEH R 2W: 4 / Brass ; 2S: 854 / Stainless Steel

Material of Body

HETE R NBR, EPDM=VITON / NBR, EPDM or VITON

Material of Oil Seal

173



By S

XINGUANG PNEUMATIC

EIKIPC

2W %5l = i = s@emmiid (kO )

2W Series Two-position Two-way Solenoid Valve (Large Aperiure)

() iTHIE8 Ordering Code

2W: “fI- @R (AR

2S: THEM_M_@EHE (EHRX)

Specification Code

2W: Two position two way solenoid valve (direct drive type)
28: Stainless steel two position two way solenoid valve
(direct drive type)

() BFMS Graphic Symbol

]

“sH H»

() 4 Specification

Al S Model

0

DC12v
DC24v
AC24V
AC36V
AC110V
AC220V

2W 160 - 15 F - AC1M0V - D
mETLE BEEOR RERR EERR
Aperture of Flow Rate Port Size =H: EEX TH: FRGIERKFELE
160: 16mm 10: 3/8” F: k= a D: EEERHEB%E
200: 20mm 15:1/2 Initial Estate E: FFIRZ&E
250: 25mm 20: 3/4” Blank: Pipe Jion Type G: Bhk&E
350: 35mm 25:1” F: Flang Type Wiring Form
400: 40mm 35:1'/4” — Blank: Lead Wire Type
500: 50mm 40:1'2 *sn;/ﬁ PR D: Din Connector
andard Voltage .
HARIRAD 50: 2" E: Blast-proof Coil

G: Water-proof Coil

THENR

Working Medium

H;EHH
Motion Pattern
BX

Type
EFLE(mm) 16 16
Aperture of Flow Rate
CVia

CV Value

®EQR

Port Size

1 R RARHE T
Operation Fluid Viscosity

fEREN

Working-pressure
RAME

Max. Pressure Resistance
TERESEE

Operating Temperature Range
£ R ESEE

Voltage Range

AR

Material of Body

JHE R

Material of Oil Seal

20 25

4.8 4.8 7.6 12

G3/8" G1/2" G3/4" G1"
20 CSTILT (Below)
7k Water : 0~0.5MPa; %=X Air: 0~0.7MPa;
1.05MPa
-5~+80°C
£10%

2W: #& Brass;

=R, K. . EHT/Air, Water, Oil, Gas
B35 / Direct Drive Type

#HE / Normal Close Type

35
24

G 14"

2S: 454N Stainless Steel
NBR, EPDMEVITON / NBR, EPDM or VITON

7 Oil : 0~0.5MPa; FELHT Gas : 0~0.7MPa;




(O Ul H B =

2WZ 5l = —@muiim/ 2W R 9 = —@swimcc0R)

2W Series Two-position Two-way Solenoid Valve / 2W Series Two-position Two-way Solenoid Valve (Large Aperiure)

() MR~ Overall Dimension

2W025-06 )3 2WH012-06 ) 2W025-08 ) 2WH012-08 )]
©42.4 $42.4

75
75

= =
— s G1/8" ‘— 3 230 G1/4"
2W040-10 ) 2WH020-10 ) 2WA [1Z Large Aperture )
33 $50.8

7
82.4
()

T )

53

WIS
Inside Diameter/Symbol e € E 3 i<
117 69 50 36

2W160-10 101.5 57 G3/8
2W160-15 101.5 57 117 69 50 36 G1/2
2W200-20 107 57 123.5 73 50 36 G3/4
2W250-25 111.5 73.5 134.5 90 50 36 G1

2W350-35 142 95 172 123 70.5 56 G1'/4
2W400-40 142 95 172 123 70.5 56 G1'12
2W500-50 172 123 209 168 70.5 56 G2

178



EIKIPC

2L %51 =¢

i—

=

=
XINGUANG PNEUMATIC

= 1]

iR

2L Series Two-posmon Two-way Solenoid Valve

() iTIE8 Ordering Code

2L 170 - 15 - AC110V D
MEFLE BEORE BERR
Aperture of Flow Rate Port Size =R RS ER KRR
170: 17mm 10: 3/8" D: Z& SR HPLE
200: 22mm 15:1/2" Wiring Form
300: 30mm 20: 3/4" Blank: Lead Wire Type
500: 50mm 25:1" D: Din Connector
35: 1'/4" KRR
40: 172" Standard Voltage
MR 50:2 DC12v
2L: FR B 43 i R AR DC24V
Specification Code AC24V
2L: Steam type Two-position Two-way AC36V
Solenoid Valve AC110V
AC220V

() E#FFS Graphic Symbol

>

() ;& Specification

2L170-10 2L170-15 2L170-20 2L.200-25 2L.300-35 2L.300-40 2L.500-50
=5

3 S Model

TN R
Working Medium

HERN

Motion Pattern
Ik

Type

= fLE(mm)
Aperture of Flow Rate

CViE
CV Value

BEEOR

Port Size

fE R R T E
Operation Fluid Viscosity

fEREN

Working-pressure
RAME S

Max. Pressure Resistance
TIEREERE

Operating Temperature Range

£ B RSB

Voltage Range

AR R

Material of Body

THE R

Material of Oil Seal

712

=, K.
%53 / Guide Type

/ Air, Water, Steam

& #2 / Normal Close Type

17 22 30
4.8 12 20
G3/8" G1/2" G3/4" G1" G 1'/4" G1'/2”

20 CSTLLF (Below)
0.1~1.5MPa
2.25MPa
-5~+80°C
+10%

# i Brass

RMUEE PTFE

50
48

G2




EI XOPG =3¢ 78

( ) 9MIZR~F Overall Dimension

2L Series )}

e
“-
125 42 82

2L170-10 146 G3/8
2L170-15 125 42 146 82 G1/2
2L170-20 125 42 146 82 G3/4
2L200-25 136 52 162 90.5 G1
2L.300-35 148 74 185 1M1 G1'/4
2L.300-40 148 74 185 111 G1'12
2L.500-50 176 86 223 163 G2
Fs Fs
No. 2 %7/ Name No, & %7/ Name
1 {# {4/Body of Valve 12 | FEkE S A/Assembly of Iron Core
2 |7&ZE S H/Assembly of Piston| 13 2% BB 5 ft/Assembly of Coil
3 | 3#14M/Springiness Spacer | 14 #E&/Bush
4 S @/ Wear Strip 15 #F#/Gasket
5 E I E/Spring 16 EHi4R/Magnetic Plate
6 HHiE/Nut 17 HE$A/Cord-locks
7 % $}/O-ring 18 $%5%/Iron Cover
8 | &5k m/Assembly of Core| 19 $%h#/Name Plate
9 S5 4R/ Magnetic Plate 20 RIS /Gasket
10 11#/Gasket 21 =#2F/Head Cover Nut
11 #%&/Bush
inAkES
7K
b é 2000 =8
- 1
9 ///
8
7 1000 ]
& adl L=
5 0 5 250 L=
=
4 =
: 4T
» NN = : 20 @301 :/ il
P2 ) o] |
b AR of
I\I‘I‘IH 03 05 112 2223 4 5 10
1 | | | 17 EnE kgfih
750 300 750 500
o 300 50 500 2
{ i i i 0
700 500 72001500
T ,0100 2,0‘00 3000 TIm 250
wE L/min




EIKGPC =308 A0 AR,

B A mamorn

Right Angle Solenoid Pulse Valve

() T8 Ordering Code

ﬁj MCF - Z - X - S
| | | |

- f R - BB HAR AHREE WA
o - Electro-magnetic Right-angle Diameter Double Diaphragms
i - Pulse Valve

' () 9pE2R~F Overall Dimension

() ##& Specification
7= &S/ Model No. MCF-Z-76S
G38' T

2

AfpEE | mm ore s Bl
Diameter ﬁ*“ L -
3"

Inch
e )
Number Of Diaphragm
BHSARST "
Size_‘é)f Inlet Diaphragm G3
S D -
Outlet Orifice Connection

% I\ s w ki

In Line Solenoid Pulse Valve

() 1THa%8 Ordering Code
MCF - Y - X - S

—
i...L — ML B AR AFRER W
Double Diaphragms

- . _— Electro-magnetic Solenoid Control  Diameter
- j . =N Pulse Valve

i) () PR~ Overall Dimension

mE! S/ Model No.

Lol 50
NHRIER mm P
Diameter ) on o
Inch s
e )
Number Of Diaphragm
S O -
Outlet Orifice Connection




EI XOPG =3¢ 78

179

TRE Sk

Tube Fitting

- - A .
() ¥ Features () {7388 Ordering Code
1LIRERZE, HRERI, TEZE!
Fast installation, easy and skillful, saving space; x - PC 8 - 01
2EREH, BREMSHHERE | |
Diversified types may satisfy the need of any pneumatic pipe arrangement; e SasNE BRI R R~
3. EMERELE, BREXRDA{EEiEE; Model Tube Outer DIA. Threats Type & Size
Even after installation, the plastic tube can be freely turned; 2R
4 BRUEAK AMEERIRT, REEME NHE; Series NO.

) ) . . . X: HEERT

The release ring adopts ellipse design, which makes disassembly more easy; G: HIREBERF]
5MBHERATARNRA KRR, ZI a5 X: X Series in Black Color

All conical tube threads are pre-coated with teflon leak proof glue, which G: W Series in Gray Color

secures good sealing performance;

6.FRD16ERINTAXPC, GPCRIEBELINT N AT, EFRELRE.
Excluding ®16 pipes, all XPC and GPC straight joints have hexagonal
socket, which is convenient for installation at narrow places.

() ##& Specification

37
EET%? =45, EZ /AirVacuum
?Fﬁ}ij]?ﬁ 0~10.2kgf/cm?(0~1.0 MPa)
perating Pressure
FE
I\Jlega!ive Pressure -750mmHg(10Torr)
WE 2
Max. Pressure 15.3kgf/cm“(1.5MPa)
ERRERARE 060
Operating Temperature Range
EBRRE .
Tube Material Jé & %% PU / Nylon and Polyurethane

() S&YMZ Tube Outer DIA.

A ll/Metric Size ##/Inch Size
Code 4 6 8 10 12 16 5132 3/16 1/4 5/16 3/8 12
Dia. P4 o6 o8 ®10 D12 »16 d5/32 ®3/16 D1/4 D5/16 ®3/8 d1/2

() YK KR~ Thread Type & Size

Code M5 M6 M8 M10 M12 M12A M14 M16 M20
Size M5x0.8 M6x1 M8x1 M10x1 M12x1.25 M12x1.5 M14x1.5 M16x1.5 M20x1.5
55°HEE 1247/ Taper Pipe Thread(PT) - HE24/G-Thread
Code 01 02 03 04 06 Code G01 G02 G03 G04 G06
Size R1/8 R1/4 R3/8 R1/2 R3/4 Size G1/8 G1/4 G3/8 G1/2 G3/4

25— FF A2 SU/UNF X HI60°4EE 1R 41/American Standard Taper Pipe Thread(NPT)
Code u10 NO1 NO02 NO3 NO04 NO06
Size 10-32UNF NPT1/8 NPT1/4 NPT3/8 NPT1/2 NPT3/4




EIKGPC =308 A0 AR,

() BIESLEGHAHOMEHE Tube fittings with G thread (O-ring)

XPE / YPE TE/=j& Three-Way Pipe

XPC 1241 Hi&@ Threaded Direct Way Pipe

RS RS

XPC4-(G)M5  XPC8-(G)04 XPE 4
XPC4-(G)01  XPC10-(G)01 XPE 6
XPC4-(G)02  XPC10-(G)02 XPE 8
XPC6-(G)M5 XPC10-(G)03 XPE 10
XPC6-(G)01  XPC10-(G)04 XPE 12
XPC6-(G)02  XPC12-(G)02 XPE 16

XPC6-(G)03  XPC12-(G)03
XPC6-(G)04  XPC12-(G)04
XPC8-(G)01 XPC16-(G)03
XPC8-(G)02 XPC16-(G)04
XPC8-(G)03

XPL/YPL LEIZZr—j& Threaded Two-Way Pipe

XPLL/YPLL TE{n4<425. =& Lengthen Threaded Two-Way Pipe

BS BS

XPL4-(G)M5  XPL8-(G)04 XPLL4-(G)MS XPLL8-(G)04
XPL4-(G)01  XPL10-(G)01 XPLL4-(G)01 XPLL10-(G)01
XPL4-(G)02  XPL10-(G)02 XPLL4-(G)02 XPLL10-(G)02
XPL6-(G)MS  XPL10-(G)03 XPLL6-(G)MS5 XPLL10-(G)03
XPL6-(G)01  XPL10-(G)04 XPLL6-(G)01 XPLL10-(G)04
XPL6-(G)02  XPL12-(G)02 XPLL6-(G)02 XPLL12-(G)02
XPL6-(G)03  XPL12-(G)03 XPLL6-(G)03  XPLL12-(G)03
XPL6-(G)04  XPL12-(G)04 r XPLL6-(G)04 XPLL12-(G)04
XPL8-(G)01  XPL16-(G)03 3 ’ XPLL8-(G)01 XPLL16-(G)03
XPL8-(G)02  XPL16-(G)04 XPLL8-(G)02 XPLL16-(G)04
XPL8-(G)03 XPLL8-(G)03

XPB/YPB TEIZ4 =& Threaded Three-Way Pipe

XPD / YPD T2 4528241 =& Ramus Threaded Three-Way PipePipe

wg ng

XPB4-(G)M5  XPB8-(G)04
XPB4-(G)01  XPB10-(G)01
XPB4-(G)02  XPB10-(G)02
XPB6-(G)M5  XPB10-(G)03
XPB6-(G)01  XPB10-(G)04
XPB6-(G)02  XPB12-(G)02
XPB6-(G)03  XPB12-(G)03
XPB6-(G)04  XPB12-(G)04

XPD4-(G)M5 XPD8-(G)04
XPD4-(G)01 XPD10-(G)01
XPD4-(G)02  XPD10-(G)02

- XPD6-(G)M5 XPD10-(G)03
f’ XPD6-(G)01  XPD10-(G)04
A XPD6-(G)02 XPD12-(G)02
XPD6-(G)03  XPD12-(G)03
XPD6-(G)04  XPD12-(G)04

-

XPB8-(G)01  XPB16-(G)03 XPD8-(G)01  XPD16-(G)03
i XPB8-(G)02 XPB16-(G)04 ’ XPD8-(G)02 XPD16-(G)04
XPB8-(G)03 XPD8-(G)03

XPY / YPY YEL=i& Three-Way Pipe

XPV / YPV L £ =j# Two-Way Pipe

BS RS
XPY 4 XPV 4
XPY 6 XPV 6
XPY 8 XPV 8
XPY 10 XPV 10
XPY 12 XPV 12
XPV 16

XPP/YPPZZ Pipe Seal XPU / YPU Ei& Direct Way

Bs
XPU 4
XPU 6
XPU 8
XPU 10
XPU 12




L= =
(S) ! H kil
XINGUANG PHNEUMATIC
() BHESL#GHAHOMEHE Tube fittings with G thread (O-ring)

XPM /YPM [@#REi8 Clapboard Direct Way Pipe

XPZA | YPZA+=Mi& Cross Four-Way Pipe

Be Be

XPM 4 XPZA 4
XPM 6 XPZA 6
XPM 8 XPZA 8
XPM 10 XPZA 10
XPM 12 XPZA 12

XPKG / YPKGiE{fZRi® Reduced Five-Way Pipe
RS RS
XPKG 6-4 XPX XPX 8-(G)02
XPKG 8-4 4-(G)M5 XPX 8-(G)03
XPKG 8-6 XPX 4-(G)01 XPX 8-(G)04
XPKG 10-6 . XPX 4-(G)02 XPX 10-(G)01
XPKG 10-8 f {‘/I XPX XPX 10-(G)02

6-(G)M5 XPX 10-(G)03
XPX 6-(G)01 XPX 10-(G)04
XPX 6-(G)02 XPX 12-(G)02
XPX 6-(G)03 XPX 12-(G)03
XPX 6-(G)04 XPX 12-(G)04
XPX 8-(G)01

XPX /YPX YEIIZ4r =j& Threaded Three-Way Pipe

XPH / YPH4I7s fa#% 3k Out Hexangular Pipe

XPK /| YPKTi# Five-Way Pipe

S S

XPK 4 XPH4-(G)M5 XPH8-(G)04
XPK 6 XPH4-(G)01  XPH10-(G)01
XPK 8 XPH4-(G)02  XPH10-(G)02

XPHB-(G)M5  XPH10-(G)03
XPH6-(G)01  XPH10-(G)04
XPHB-(G)02  XPH12-(G)02
XPHB-(G)03 XPH12-(G)03
XPH6-(G)04  XPH12-(G)04
XPH8-(G)01
XPH8-(G)02
XPH8-(G)03

XPKD / YPKDH 2124 hii® Reduced Threaded Five-Way Pipe XPHF / YPHF 22Ex#E3k In Series Pipe
Be _ me
XPKD 6-4-(G)01 XPHF4-(G)M5 XPHF8-(G)04
XPKD 8-4-(G)02 XPHF4-(G)01 XPHF10-(G)01
XPKD 8-6-(G)02 : : XPHF4-(G)02 XPHF10-(G)02
XPKD 10-8-(G)03 ; ' XPHF6-(G)M5 XPHF10-(G)03

XPHF6-(G)01 XPHF10-(G)04
XPHF6-(G)02 XPHF12-(G)02
XPHF6-(G)03 XPHF12-(G)03
XPHF6-(G)04 XPHF12-(G)04
XPHF8-(G)01
XPHF8-(G)02
XPHF8-(G)03

XPKB / YPKBIZ4r Fii8 Threaded Five-Way Pipe

XPW / YPW Y 212 = i& Reduced Three-Way Pipe

Bg

XPW 6-4
XPW 8-6
XPW 10-8
XPW 12-10

181



EIKIPC

52 1L 1Ll

XINGUANG PNEUMATIC

() BIESLHGHAHOMEHE Tube fittings with G thread (O-ring)

XPLF / YPLF Li@#REi& Clapboard Direct Way Pipe
B
XPLF4-M5  XPLF8-04
XPLF4-01  XPLF10-01
XPLF4-02  XPLF10-02
XPLF6-M5  XPLF10-03
XPLF6-01  XPLF10-04
XPLF6-02  XPLF12-02
XPLF6-03  XPLF12-03
XPLF6-04  XPLF12-04
XPLF8-01 XPLF16-03
XPLF8-02  XPLF16-04
XPLF8-03

XPEG / YPEG TEUFi#2=i8 Reduced Three-Way PipePipe

XPCF | YPCF N2l H i@

Inner Threaded Direct Way Pipe

BS

XPCF4-M5  XPCF8-04

XPCF4-01 XPCF10-01
XPCF4-02  XPCF10-02
XPCF6-M5  XPCF10-03
XPCF6-01 XPCF10-04
XPCF6-02  XPCF12-02
XPCF6-03  XPCF12-03
XPCF6-04  XPCF12-04
XPCF8-01 XPCF16-03
XPCF8-02  XPCF16-04
XPCF8-03

XSA /| YSAZ{&Z! Piping Pipe

Bg

XPEG 6-4
XPEG 8-6
XPEG 10-8
XPEG 12-10
XPEG 16-12

S

XPEW 6-4
XPEW 8-6
XPEW 10-8
XPEW 12-10
XPEW 16-12

XPEW / YPEW TE!Bi#£=i@ Reduced Three-Way Pipe

XPG/YPGEi{ZEi® Reduced Direct Way Pipe

S

XPG 6-4
XPG 8-6
XPG 10-8
XPG 12-10

XPGJ | YPGJiE {2 H i1k Reduced Direct Way Pipe

mg
XSA -4
XSA -6
XSA -8
XSA-10
XSA-12

o

XSL / YSLE #%R %L B! Direct Installation L Type

S

PREZL. (B) AHPRAEY
XSL4-(G)M5(B) XSL8-(G)03(B)
XSL4-(G)01(B) XSL8-(G)04(B)
XSL4-(G)02(B) XSL10-(G)01(B)
XSL6-(G)M5(B) XSL10-(G)02(B)
XSL6-(G)01(B) XSL10-(G)03(B)
XSL6-(G)02(B) XSL10-(G)04(B)
XSL6-(G)03(B) XSL12-(G)02(B)
XSL6-(G)04(B) XSL12-(G)03(B)
XSL8-(G)01(B) XSL12-(G)04(B)
XSL8-(G)02(B)

S

HVSS 01-01
HVSS 02-01
HVSS 02-02
HVSS 03-03
HVSS 04-03
HVSS 04-04

Bg

HVFF 06-06
HVFF 08-06
HVFF 08-08
HVFF 10-10
HVFF 12-10
HVFF 12-12

182




L= =
(S) ! H kil
XINGUANG PHNEUMATIC
() BIESLHGHAHOMEHE Tube fittings with G thread (O-ring)

XOLH-G XPOC

B s
XPLH4-GO1  XPLH10-G03 XPOC4-(G)M5 XPOCB8-(G)04
XPLH4-G02 ~XPLH10-G04 XPOC4-(G)M6 XPOC10-(G)01

XPOC4-(G)01 XPOC10-(G)02
XPOC4-(G)02 XPOC10-(G)03
XPOC6-(G)M5 XPOC10-(G)04
XPOC6-(G)M6 XPOC12-(G)02
XPOC6-(G)01 XPOC12-(G)03
XPOC6-(G)02 XPOC12-(G)04
XPOC6-(G)03  XPOC14-(G)03

XPLH6-G01  XPLH12-G02
XPLH6-G02 XPLH12-G03

XPLH6-G03 XPLH12-G04
: i XPLH8-GO1
| ' XPLH8-G02

XPLH8-G03

XPLH8-G04 ' XPOC8-(G)01 XPOC14-(G)04
XPLH10-G01 XPOC8-(G)02 XPOC16-(G)03
XPLH10-G02 XPOC8-(G)03 XPOC16-(G)04

PUE /R

PU Tubing / Nylon

PU%/ PU Airhose
Jé %/ Nylon Airhose

0320 | 0425 | 0640 | 0850 | 0860 | 1065 | 1070 | 1280 | 1290

MZE(mm)
External 4.0 | 6.0 | $8.0 | $8.0 |$10.0{$10.0{$12.0{P12.0|D16.0|D16.0
diameter
KE(m)
Length

®2.0 | P2.5| P4.0 | 5.0 | 6.0 | P6.5 | 7.0 | P8.0 | $9.0 (P11.0|{P13.0

HEES

Muffler

() B3 Specifications

A BLH 7 88/A Type Series Muffler B 2!} 7 22/B Type Series Muffler
Fake cote | o BIRT | magscode | o BART
-M5 M5" -6B 1/8"
-6A 1/8" -8B 1/4"
-8A 1/4" -10B 3/8"
-10A 3/8" -15B 1/2"
-15A 1/2" -20B 3/4"
-20A 3/4" -25B 1"
_ N -25A 1"
A Typ):%lﬁie”ff/lufﬂer B Typi%;i:s%fnufﬂer -32A 1 1/4"
-40A 1172
-50A 2"

183




I KIPG

SCELH = R MR RI% K
SC Type Series Muffler
Steel Copper Plating Feel

=5t 1l

XINGUANG PNEUMATIC

SCELH T 25 MR %k

=S Code
SC-6
SC-8
SC-10

SC-15

SCQEKA
SCQ Type Series Muffler
Steel Copper Plating Feet

SC-20
SC-25

#24y Rt Screw Thread Size
1/8"
1/4"
3/8"
172"
3/4"
qn

SCQZE!

Pm{LS Code
SCQ-6
SCQ-8
SCQ-10
SCQ-15

H R R IR R Sk

SC Type Series Muffler Steel Copper Plating Feel | SCQ Type Series Muffler Steel Copper Plating Feet

240 R~} Screw Thread Size
1/8"
1/4"
3/8"
172"

DEHA
D Type Series Muffler

—= oo

DEJH 2%/ D Type Series Muffler

=mfXS Code

VELHR R
V Type Series Muffler

#2471 R~+ Screw Thread Size
1/8"
114"
3/8"
112"
3/4"
g

VELEE 28/ V Type Series Muffler

mfXS Code

#8247 R~t Screw Thread Size
M5"
118"
1/4"
3/8"
172"
3/4"

4
1'/4"
12"

o

D!

miks
Code

HEHSTRRAL

AType Exhaust Muf- B Type Exhaust

fling Throttle Valve

A-6

A-8

HEHATRABY  WARAHRACE A-10
C Type Exhaust Muf-

fling Throttle Valve

VAR H A 25 SDR
SD Type of Timing
Muffler

Muffiing Throttle A-15

Valve

A-25

sz e VEL e HAHFS TR ECE, iR A 2y SDEL
D Type Series Muffler | V Type Series Muffier | C TYP€ Exhaust Mut- | - SD Type of Timing
yp yp fling Throttle Valve Muffler
BYRY |wopo| BERY |sopo| BERY |sopo| BERYT
Screw  |” SZLZ? Screw | C"‘;LZ? screw |” SZLZ? Screw
Thread Size Thread Size Thread Size Thread Size
1/8" B-6 1/8" C-6 1/8" SD-6 1/8"
1/4" B-8 1/4" c-8 1/4" SD-8 1/4"
3/8" B-10 3/8" C-10 3/8" SD-10 3/8"
172" B-15 112" c-15 172" SD-15 112"
1" B-25 1" C-25 1" SD-25 gl

HEHSTHRRER
E Type Exhaust Muffing - SU Type Plastic

Throttle Valve

EEVHAE g
E Type Series Muffling
Eaiks 24 R~f
Code |Screw Thread Size
E-6 1/8"
E-8 1/4"
‘ E-10 38"
- E-15 172"
GHSURMAEE  SHPSUBHE S
PSU Type Plastic E-20 3/4"
Timing Muffler Timing Muffler
E-25 1"

BRSUBRLHRE RS
SU Type Plastic Timing Muffler
Emiks 24 R~f
Code |[Screw Thread Size
SU-6 1/8"
SuU-8 1/4"
SuU-10 3/8"
SuU-15 172"

#B4IPSURL 7 28
PSU Type Plastic Timing Muffler
Emiks B R~

Code |Screw Thread Size
PSU-M5 M5
PSU-01 1/8"
PSU-02 1/4"
PSU-03 3/8"
PSU-04 120






